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33121180/506 wipjwl Guodwl swthdwl uwpp (nnundtivin) ) Q< hwiwn 4200 80 336.0
33141110/509 Uhpwlwwbip 9L hwwn 487 30000 1461.0
33141110/510 Uppuilywugtp q< hwn 97 1000 97.0
33141111/501 Luysni uwybnuhtbp < hwn ] 103 6000 618.0
33141115/501 pdoljwlwt pwdpwly L hwn 172 5000 860.0
33141129/506 nhuwly < hwn 5.976 50000 298.8
33141129/507 nhuwly ' 9 hwin 85 1000 85.0
33141131/503 Unjniu Yhipgbint dwuywybt wdpwlubpng (dgnun) 9L hwin 270 100 27.0
33141136/523 uwpbnbptbp ' 9 hwn 39.2 1000 39.2
33141136/524 Ywpbinbpubp 9< hwin 38.8 6000 232.8
33141136/525 Ywpbnbpubp S hwtn 37.8 15000 567.0
33141136/526 Ywpbinbpubp L hwin 40.9 15000 613.5
33141136/530 Ywpbwnbipubp ' 9 hwwn 8000 70 560.0
33141138/501 utynyw G hwin 105 1000 105.0
33141138/502 Lutyniyw 9L hwiwn 293 200 58.6
33141142/509 ubpwnlihsubip 9< hutn 125 30000 375.0
33141142/511 ubipuwiplhstbip G< huwin 8.75 20000 175.0
33141142/512 ubpwiplihsubn qc hwin 9.3 100000 930.0
33141142/513 Ubpuiplyhstibip a< huwtn 14 60000 840.0
33141142/514 ubpwplihstbn q< huwtn 15.5 100000 1550.0
33141142/515 bpuwipljhsttip 9 huin 20.75 60000 1245.0
33141142/516 Ubpuplhsutp q< huwin 22.7 30000 681.0
33141142/517 Ubpuwplhstibp ' 9< hwtn 58.9 30000 ~1767.0
33141142/518 ubpwplhsubp ag huwin 68.9 500 34.5
33141144/510 pdolwlwl wubnubp ' 9< hwwn 13.85 30000 415.5
33141144/511 pdoywlwi wubnubp G< hwwn 20 300 6.0
33141144/512 pdoljwiljwl wubnubp 9L hwwn 6.5 ; 10000 65.0
33141144/513 polwljwits wubinubp <L hwin 4.7 40000 188.0
33141156/502 pdoljwlywl dbnungubip 9L huwin 8.7498 400000 3499.9
33141158/502 Jhpwpnidwlwu &danungubip 9 qnyg 75 20000 1500.0
33141160/502 untinghy 250,0 L hwtn 189.84 500 94.9
33141178/508 nbntph Ubpwplwy hwdwlwpgbp qc hwwn 38.9 50000 1945.0
33141178/508 nbinbph thpwpldwy hwdwbwngbp 9< huwiwn 130 40000 5200.0
33141211/687 pdalwilyw wy| gnpdhpbp — wWwpwgwbp QL hwin 95 15000 1425.0
33141410/501 nwpw wiwihgh hwdwp wnbphy, 1000 o< hwiwn 39.984 500 20.0
33141410/502 nwpw wuwihgh hwdwp uinbphy, 1004d) 9L hwwn 42 8000 336.0
33161220/504 Jujwinb thwjink 9L huwin 3.2 4000 12.8
33191260/501 wnjwu thnfutbpwpldwl sunwwnpyubp QL hwwn 13900 30 417.0
33191310/527 thnpdwunpubp 9L huwn 16.8 120000 2016.0
33191310/528 thnpdwlnpubp 9L huwin 16.8 50000 840.0
33191310/529 thnpéwbinplitip 9< huutn 25 10000 250.0
33191310/530 thnpawnpubp 9 huwn 39 25000 975.0
33191310/531 thnpawnputp G hutn 38 2000 76.0
33191650/504 pdolululs hwgnwn ' q.c huwin 135 15000 2025.0
33191650/505 pdolwljwl hwgnuwn < huwiwn 6 7000 42.0
33691423/501 {wpnpwwnnp wanwngebn (nbwgbtnubn) pugiwyndynubun Q< (il 2600 100 260.0
38411200/509 obipdwswthbp < hwn ' 600 50 30.0
38431720/513 Ywenghlubiph dupuluiubp a< huin 1.59 80000 127.2
38431720/514 Yupnghlubinh dwpuluibn 4 huin 0.63 350000 220.5
24311530/503 opwduh whpopuhn : QL |pup 599 300 179.7
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31651200/506 EY4S dwwwybl pninpe < hwin 639 600 383.4
33141110/511 Yhpwlwuybip G< huwun 850 3000 2550.0
33141111/502 Yuysnit uwybnwiupubp < hwin 140 15000 2100.0
33141111/503 Yuysnit uwjbnwiuhubp QL hwn 83 1000 83.0
33141118/506 |wudbinnghlubip 9L hwn 9.3 60000 558.0
33141118/507 wdbnnghljubp QL hwn 4.1 70000 287.0
33141143/501 uljwph$hlywnnp 9L hwn 3.33 30000 99.9
33141144/514 paolwiljw wubnubp < hwn 1130 1000 1130.0
33141144/515 pdahwljwl wubntbp 44 hwitn 6800 300 2040.0
33141144/516 pdolwlwl wubinubp Q<L huwin 10000 200 2000.0
33141144/517 pdolulw wubnubp QL hwtn 7500 25 187.5
33141144/518 ndoljuwiljuti wubnubp o< huwin 4750 800 3800.0
33141144/520 pdolwlwl wubinubp 9L hwn 1500 1000 1500.0
33141144/535 pdoljwlwt wubnubp QL hwn 1500 300 450.0
33141144/526 pdolwlwl wubinubip 9L hwin 1500 300 450.0
33141144/527 pdolwlwt wubinbp 9L hwin 250 1000 250.0
33141144/528 pdoywlwt wubinubp his huwn 400 50 20.0
33141211/710 pdalwlyw wy gnpdhplbip — Wwpwgquwbp qL hwin 1960 15000 29400.0
33141211711 pdolwljul wyj gnpdhpubp — wwpwgwubp 9L hwin 1345 1000 1345.0
33141211/712 pdolwlwi wy gnpdhpubp = wWwpwgwbp G< hwn 6280 96 602.9
33141211/713 paolwlywl wy gnpdhpubip — wwpwgwbn QL hwwn 1680 200 336.0
33141211/714 pdolwlywl wy gnpdhpubip — wwpwawbn Q<L hwwn 200000 72 14400.0
33141211/715 pdolwlwl w)) gnpdhpubin — wwpwqwubp QL huwin 100000 300 30000.0
33141211/716 pdolwlwl wy gnpdhpubp — wwpwguwbp q< huwn 6800 500 3400.0
33141211/717 pdolwlwl wy gnpdhpubp — wwpwgwbn aL hwuwn 8800 500 4400.0
33141211/719 pdolwlwl wy) gnpdhpubp — wwpwqutp 9L huwin 425 3000 1275.0
33141211721 pdoljwlwl wy gnpdhplbp — wwpwgwtp Q< hun 179.41 5000 897.1
33141211/722 pdoliwlwl wy gnpdhplbp — wwpwguubp Q< hwin 67 15000 1005.0
33141211/729 pdalwlwl wy gnpdhpubp — wwpwquwbn QL hwn 3300 100 330.0
33141211/730 pdoljwljwl wy) gnpdhpubip — wwpwqwibp G< hwn 102000 1 102.0
33141211/731 pdoywliwt wy gnpdhpubip — wWwpuwguwubp QL hwiun 160000 3 480.0
33141211/732 pdalywliwt wy gnpdhplibip — wwpwgutibp QL hwin 99.48 4000 397.9
33141211/733 pdolwiljwi wyy gnpdhpliip — wwpwigquwbn QL hwn 696 100 69.6
33141211/734 pdolwlwl wy ghpdhpubip — wwpwguwubp G hwin 104 1000 104.0
33191310/532 thnp&wunpubp ' 9< huwin 11.5 40000 460.0
33191310/533 thnp&wunpubp qL hwtn 14 18000 252.0
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33631241/504 pinphbipubntih (nidnye 9z [hnp 1350 800 1080.0
33631241/505 pinphtipuhnhth nényg 9L [hwp 1150 400 460.0
33631250/504 Epwling d08ax08, v03ab16, v03az01 QL [hwp 1100 700 770.0
33631250/505 kpwun) d08ax08, v03abl6, v03az01 9L {hthp 970 1000 970.0
33691167/501 |wipnpuwinnp odwtnwl — ghnwljwl bnyetp G huitn 15000 120 1800.0
33691167/502 |wpnpwinnp odwlnwl — ghnwlwl Unyabp QL hwin 12000 180 2160.0
33791300/522 |wpnpwunp wywlyw wpunwnpulp < huin 14200 500 7100.0
38431491/501 wwjwlb wmnphh pwu 9L huwitn 337 10000 337.0
39821100/501 Uwppnn Wnipbp widnthwlh hhdph ypw QL huitn 100 30 3.0
44423600/503 Luysnit dwwwybutbp QL hwtn 3.28 20000 65.6
18311190/503 huwwp 9< huin 447 100 44,7
33141114/501 pdoliwlwl puwtigh® (Jwpyw) jwjnyepniup’ 90ud G Utitnp 68 2000 136.0
33141121/503 Yhpwpnidwlwl phibp ' < hwwn 315 30 9.5
33141121/504 Yppwpnidwlyw phibp Q<L huwn 315 30 9.5
33141121/505 Uhpwpnidwlwl phbp L hwn 315 100 31.5
33141121/506 Uhpwpnidwlwl phip ac huwtn 315 100 315
33141121/507 Yhpwpnidwlwl phbp QL huin 140 30 4.2
33141121/508 Uhpwpmdwlw phjbp GL huww 140 30 4.2
33141121/509 Yhpwpnidwlwl phibp QL hwn 140 300 42.0
33141121/510 Uppwpnidwljuit phibn ac hwin 140 300 42.0
33141121/511 Uhpwpnidwljuls phjbp qc hwiwn 140 50 7.0
33141121/512 Uppwpnidwlyuwt phibp q< hwwn 20 0.0
33141121/513 Uhpwpnidwlul phjbp qc hwn 20 0.0
33141121/514 Uhpupnidwlwl phyjbp a< huwin 30 0.0
33141136/534 lwpkwnbpubp Q<L huwiwn 50 0.0
33141157/502 Ugtnuwiplbip — uwpbp ag hww 23 200 4.6
33141157/503 Ustnwplibip — uwjpbp a< huun 23 200 4.6
33141173/501 dbgh wnwpwlubp g< hwtn 102 700 71.4
33141173/502 Ubigh wnwpwlubnp QL hwwn 32 500 16.0
33141182/503 Uhpwihnnbp (npbuwdubp) QL hwwn 20 0.0
33141182/504 Uhpuwthnntp (nphuwdutn) G huwitn 15 0.0
33141182/505 Uhpuwithnntp (npbuwdubn) o< huwn 15 0.0
33141182/506 dhpwihnntp (npBuudutp) a< hwin 18000 20 360.0
33141184/501 Uhpwihnnbtiph (ppbuwdubph) wwpwgqwibp 9< hwwn 4000 50 200.0
33141202/504 Pdoljwljuw bllwmpnnubp a< huin 2 0.0
33141211/735 pdolwlwit wy gnpdhpubin — wWwpwquiibp Q< huwin 550 30 16.5
33141211/736 pdoluiljwit wy) gnpdhpubp — wwpwguubn qL huwn 550 30 16.5
33141211/737 pcholwilwi wy ghpdhpubip — wwpwguwbnp QL huwtn 5000 10 50.0
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33141211/738 pdolywlwl wy gnpdhplibip — wwpwguiibp QL huuwn 10500 5 52.5
33141211/739 pdolwljwl wy| ghpdhplibp — wwpwguubp QL hwn 11000 2 22.0
33141211/740 pdoluiljwit wyp gnpdhplbip — Wwpwguwbp Q< huiwn 45000 1 45.0
331412117741 pdoljuljwits wy gnpdhpubip — wWwpwgquwbn QL hwwn 1790 20 35.8
33141211/742 pdoluiljwl wy gnpdhpubip — Wwpwawtbp L huwin 1795 30 53.9
33141211/743 pdolwiljw wy gnpdhpubip — wwpwgquwubp 9L huwin 5 0.0
33141211/744 pdoluljwl wi| ghpdhpubip — wupwawlbp q< hwn 1300 5 6.5
33141211/745 pdolywljul wy ghpdhpubin — wwpwgwbn Qg huwin 800 150 120.0
33141211/746 pdoywlwl wy| ghpdhpubp — wwpuwguittip QL hwn 64920 24 1558.1
33141211/747 pdolwilyt wy| gnpdhplbp — wwpwgwbp 9L huin 54960 24 1319.0
33141211/785 pdowlwl wy ghpdhplibip — wwpuwgutty Q< hwn 49920 24 1198.1
33141211/786 pdolwlyuwit wy gnpdhplubin — wwpwguiubp QL hwin 45000 24 1080.0
33141211/787 pdoliwlwl wy gnpdhpubp — wwpwgwbp 9L hwin 3 0.0
33141211/788 pdolwilput wy gnpdhplbp — wwpuwgqubp < huwin 200 0.0
33141211/789 pdoywliwl wy gnpdhpibip — Wwpwguwbp Q<L hwn 100 0.0
33141211/790 pdolwlw wy gnpdhpubip — Wwpwgquubp SL hun 6960 100 696.0
33141212/512 pdolwlwt wy Wnipkp QL huin 30 0.0
33141221/50 yhpwithnntp (nphtiwdubinh) puquwyndwntbun wwpwgwlbn LIS Inwywau 1992.43 40 79.7
33141223/545 pdalwilyt wy| gnpdhpubp — wwpwqwbp puquwlndwnubiun G4 Inwluqud 3500 100 350.0
33171400/521 Ybpwlbunwtiwgdwt nhdwly G< hwwn 1 0.0
33171400/522 Ybpwhbunwiwgiwb nhdwly <L huwin 1 0.0
33171400/523 Ybpwybunwbiwgdwl nhdwl < huwin 1 0.0
33171500/503 bughnnipuw) whgquijwgdwl hwdwpwdniditin Yud duwpbpubp &L hun ‘2706 10 271
33791300/523 JWRNpWNND Wywljw wpnwnpuip QL hwn 6 15000 90.0
33791300/524 jwpnpwwnng wwwlju wpunwnpup QL hwn 1.26 100000 126.0
39299110/501 wwjwll updwlubp QL hwn 142 5000 710.0
33141136/536 Ywpbwnbpubp Q< hwn 167 20 3.3
33141136/537 Ywpbnbpubp QL huin 167 20 3.3
33141136/538 Lupbnbpltp ac huwin 167 20 3.3
33141136/539 upbwnbplbp qc hwin 167 150 25.1
33141136/540 Ywpbinbipubp q< hwn 167 200 33.4
33141136/541 Luwpbinbplbp 9< hwin 167 180 30.1
33141136/542 Ywpbwnbnubp 9 hun 167 20 3.34
33141136/561 Luwpebnbptbp qc hwin 202 20 4.0
33141183/518 qninkp q< hww 65 20 1.3
33141183/519 qnnbp q< huwin 65 30 1,95
33141183/520 qnunbip L huwitn 65 30 1.95
33141183/522 gnlntip QL hwin 65 30 1.95
33141183/524 gnuntip <L hwin 65 30 1.95
33141183/525 qnuntip 9 huwin 65 40 2.6
33141183/526 qnlunbp QL hwiwn 65 5 0.3
33141202/505 Pdolywlwl kblwnpnnubp G< hwtn 29.5 6000 177.0
33141207/522 huwnnipwghwih wwpwgwutip QL hwiwn 10 0.0
33141207/523 huwnnipwghwih wwpwgwubp QL hwwn 10 0.0
33141207/524 Punnipwghwyh wwpwgwubp < hwin 20 0.0
33141207/525 huwnnipwghwih wwpwgwubp Q< hwn 1000 10 10.0
33141207/526 Punnipwghwih wwpwgwbp q< hwin 1000 20 20.0
33141207/527 huunnipwghwih wwpwgwubp G hwin 1000 20 20.0
33141207/528 hunnipwghwih wwpwgwubp QL hwn 1000 20 20.0
33141207/529 hunnipwghwih wwpwgwubp GL hwn 1000 20 20.0
33141207/530 huwnnipwghwih wwpwgwubp q< hwin 1000 50 50.0
33141207/531 hunnipwghwih wwpwgwubp Q<L hwin 1000 100 100.0
33141207/532 hutnnipwghwih wwpwgwbp 9L hwwn 1000 10 10.0
33141211/791 pdoljuljwi wy) gnpdhpubip — Wwpwguwbp G huin 15000 30 450.0
33141 211/792 pdolwlw wy) ghpdhpubin — Wwpwgwbp q< hwun 18000 50 900.0
33141211/793 pdoluiljw wy| gnpdhpubip — wWwpwgquwbp < hwwn 549 500 274.5
33141211/794 pdolwljwl w) gnpdhpubp — wwpwgwubp L hwin 549 1000 549.0
33141211/795 pdolwlwl wj gnpdhpubip — wwpwgwlbnp qL hwun 549 500 274.5
33151220/501 pRUwstuRl nhiwl) q< hwin 260 500 130.0
33151220/504 RRYwSUwWhY nhiwy QL huwwn 350 100 35.0
33151220/505 RRYwduwhu nhdwl Q< huiwn 480 100 48.0
33171400/527 Ybpwhbunwlwgdw nhdwy QL huwin 7000 2 14.0
33171400/528 Ybpwlbunwtiwgdwb nhdwy QL huin 7000 2 14.0
33171400/529 UbpwijEunwliugiui nhiwl o< hwn 7000 20 140.0
37411330/502 nhuiwlutin, jwunbp Yud suswnwlwy funnnwlubp QL hwiwn 800 10 8.0
37411330/503 nhdwljubp, pwunbp Yud uswnwlwy unnnywlubip Qc hwn 800 10 8.0
37411330/504 nhdwlubp, jwunbp Ywd uswnwlwy jnnnywlutp QL hwn 800 10 8.0
15991700/501 Shynph pninp o< Upnapud 6000 2 12.0
24311530/504 onwidth whpopuhn qc {htnp 600 10 6.0
24311570/502 RhpWwd onp QL |htnp 799.9 500 400.0
31651200/502 EGG dwwwdbl prigp q< huwtn 1450 15 22.4
33141136/501 Ywpbmnbpubp < huutn 70 100 7.0
33141136/511 Luwpbinbiptbnp YL hiun 70 100 7.0
33141136/512 Ywpbwnbpubp < hwn 158 250 39.5
33141136/514 Ywpbwnbpubp S hwin 7999 100 799.9

Crpanuua 3




33141136/515 Luwpbinbputp q< huwin 11800 100 1180.0
33141144/501 pdslulwts wubnubp GC huitn 1.9 2000 23.8
33141144/502 pdouwlw wubnubp QL huwin 5200 100 520.0
33141202/502 Pdolwluw Bblnpnnubp < hwin 33 2000 66.0
33141211/502 pdoljwlwls wy) gnpdhpubn = wwpwgqwubp SC huwwn 540 400 216.0
33141211/503 pdolwliwt wy| gnpdhptibip — wwpwguwtibin G huin 12000 10 120.0
33141211/504 pdobwlwl wy gnpdhpubip — wwpwgwubp 4L hwn 390 500 195.0
33141211/505 pdalywlwt wy gnpdhplbip — wwpwqubp < hwin 127 5000 635.0
33141211/506 pdoluiljwit w)) gnpdhpubip — wwpwqutp A< hwiwn 48 5000 240.0
33141211/507 pdalwlwit wy) gnpdhpubip — wwpwqwbibp Gl hwin 45 1000 45.0
33141211/508 pdoljwlpwt wy gnpdhpubip — wwpwqubp 9< hwwn 45 3000 135.0
33141211/509 pdoliwlwl w)) gnpdhpubp — wwpwgubp L hwn 858 200 171.6
33141211/510 pdolwlw wy gnpdhpubip — wwpwgwlbip 9L hwwn 858 200 171.6
33141211/51 pdolwlwl w) gnpdhpubp — wwpwguubp 9< hwin 858 200 171.6
33141211/512 paolpuliwl wy gnpdhpubin — wwpwgwbn <L huwwn 60000 2 120.0
33141211/515 pdolwlw wy gnpdhpubip — wwpwgquubip q< hwin 24.51428571 7000 171.6
33141211/516 pdolwlwl wy| gnpshpubin — wwpwguwubp 9< hwin 12.98 7000 90.9
33141211/517 ndoljuiljwl wy gnpdhpubp — wwpwqubp 9< hwn 150 1000 150.0
33141211/518 pdolwlwl wy gnpdhpubp — wwpwgwtp < hwin 2300 2 4.6
33141211/520 pdolulwl wyp gnpdhpubp — wwpwgwbp QL hwwn 370 6000 2220.0
33141211/521 pdalwlwl wy gnpdhpubp — wwpwgwubp < hwwn 124 15000 1860.0
33141211/522 pd2ywlwl wy gnpdhplbip — wwpwgqwlbn q< hwin 35000 30 1050.0
33141211/523 pdalwljwl wyp gnpdhpubp — wwpwgwbp QL hwn 1270 800 1016.0
33191310/504 thnpdwlnpubp G hwin 350 6000 2100.0
33191310/505 thnpawlnplbp q< huwn Ep! 7000 224.0
33191310/506 thnpéwunpubp qc hwin 66 2100 138.6
33191310/507 thnpdwunpubp 9L hwwn 98 500 49.0
33691176/584 w)| nbnnpup < hwin 70 100 7.0
33791300/504 |wpnpwnnp wuglyw wpnwnpuip G< hwin 98 16000 15686.0
33791300/505 (wpnpwwnp wugwljw wpnwnpubp L hwin 4 12000 48.0
33791300/512 |wpnpuwunp wuuwlyw wpnwnpuip 4L hwin 1.8996 5000 9.498
35111320/501 dheniljuhtt — nunhninghwljwt wwnwwungeput hugniun q< hwin 177000 3 531.0
38431710/502 Lwpnghlubp o< hwn 14 8000 112.0
38431710/503 Lwpnghlubp qc hwn 16899 6 101.4
38431710/505 lwpnghlubp a< hwwn 16899 6 101.4
38431720/501 Ywpanghlubph swypwljw|ubp 9< hwin 13.625 42240 575.5
38431720/502 Ywpnghlubph dwypwlw|ubp 9L hwin 12.375 42240 522.7
38431720/504 Ywpnghlubph swinwlwubn QL hwuwn 0.8 30000 24.0
38431720/507 Ywpnghlubiph Swipwljw(ubp qL hwin 0.45 25000 1.3
38431720/508 Ywpnghubph dwipwilwiutbn e hwwn 84 19200 1612.8
33131220/501 wunwtwpnidwlwl niubihubp AL - _hwwn 1430 3 4.3
33141143/502 ubjwph$hlwinnnp Qg hwiwn 80 1000 80.0
33141157/504 Uginwiplibip — uwyptip L hwin 990 2 2.0
33141182/507 Uhpwithnnbp (npbuwdubp) aL hwuwn 8800 15 132.0
33141182/508 Uhpwihnnbp (npuwdubn) QL hwn 8800 15 132.0
33141202/506 Pdalwljw Ejlpnpnnutip q< hwn 5000 2 10.0
33141211/527 pdolwlwl wy ghpdhplbip — wwpwgwbn Q< hwin 6900 200 1380.0
33141211/528 pdolwlwl wy gnpdhplbp — wwpwgwlbn < hwwn 8900 100 890.0
33141211/530 pdolwlwl wy gnpdhpubp — wwpwgwlbp L hwin 468 5 2.3
33141211/531 pdoluiljwl wyy gnpdhpubip — wwpwgwbp QL hwn 62 2000 124.0
33141211/532 pdalwlwl wy gnpdhpubip — wwpwgwbp QL hwn 12000 1 12.0
33191310/509 thnpawtinpubp q<c hwn 2.52 2500 6.3
33191310/510 thnpéwlnpubp 9 hwin 27 600 16.2
33191310/511 inpéwlinpubp L hun 23.84 100000 2384.0
33191312/501 wwwlyb Ynjpw QL hwn 2500 3 7.5
33191312/502 wuwhb Ynjpw 9 hwin 3000 3 9.0
33191312/503 Wil Ynppu 9L hwn 5000 3 15.0
33191316/501 wujwlt sunphs dbugniplu’ hnydwsd dgqhyng G< huwin 2256 4 9.0
33191318/501 wuywlyt swihhs prdwly pudtbswihny 1000 q< hwin 500 2 1.0
33191318/502 wwwlb swithhs pudwly pudubswihng 1004] 4L hwin 648 2 1.3
33191318/503 wwywyb swihhs pwdwly pudubswihng 100d) < hwwn 900 2 1.8
33191318/504 wiyuwlyts swihhs pwdwl pwdubswihing 1004} QL hwin 1400 2 2.8
33191318/505 wuwlt swiphs pwdwl puwdubiswihing 1004d) 9L hwn 1600 2 3.2
33191318/506 wuywilyt swihhs pudwly pudbbswipng 100d; q< hwwn 1800 2 3.6
33191318/507 wiwywlb swihhs pwdwly pudubiswihng 100d] QL hwwn 1500 2 3.0
JustnniRwl gnigwuwppbp (Quswnnyejwl bljwndwdp
33191560/501 o i Bkl et e R a< huitn 2300 30 69.0
33691160/691 phihwlwl wygnwinyelip (nbwgbunubn) L hwn 1399 20 28.0
33791300/513 |wpnpuitnnp wujllyw wpnwnputp ag hwin 1200 2 2.4
33791300/514 |wpnpuwtnn wwlyw wpnwgputp G huwn 2000 2 4.0
33791300/515 |WpnpUWNND wugwljw wpnwnpubp aL huwn 1440 4 5.8
38311100/501 bblunpntiught [pbnpbin — wwpwqulibp q< huwin 29500 2 59.0
44163112/502 npbtwdwht hwdwlwpglp QL hww 33000 20 660.0
L 0.0
quiquiht Uynipkp
24111160/501 pdalwlwl hbnny wgnwn < fud 470000 9 4230000.0
33691141/502 RRYwshu v03an01 L huwn 2300 3000 6900000.0
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nbnnpuip

33611130/504 wwunpnwht aD3ba01, s01fa01 aL hwin 69.9 1500 104.9
33611170/501 npnunwybipht a03ad02 9L hwwn 37.5 1500 56.3
33611170/502 npninwybiphts a03ad02 9L huwun 6 500 3.0
33611310/507 hunihl < hwwn 4999.8 10 50.0
33611320/501 UbpwplUwl ptunyht (nidynn) alOab q< huwin 5199 60 31.9
33611320/502 Ubpwpltwt huunyht (jniddnn) alOab q< hww 5499 30 165.0
33611472/504 YHhghbipny, dndhljubp 9L hwn 90 400 36.0
33611472/505 Shgtipny, dndhlubp GL hwwn 87 200 17.4
33621160/501 wihtwlwwpntiwppnt b02aall q<L hwin 800 200 160.0
33621360/506 gihgbiphy bnupwpwin (uhnpngihgbpht) c01da02, c05ae01 < hwwn 799.8 200 160.0
33621390/501 wihnnwpnu c01bd01 ' 9L hwwn 196 150 29.4
33621720/501 phunwpnini c07ab07 QL hwtn 9 400 3.6
33621740/501 widnnhwhu cOBeall G< hwin 5.6 800 4.5
33621761/501 wghwhjuwihghjweeny, dwqubighnuh hhnpopuhn BOTAC30 QL hwn 10.5 10000 105.0
33631180/501 wpdwph unybunhwghtud06ball ' G< huwin 1080 20 21.6
33631370/501 wnpwyniphnud plighjwn m03ac04 9L hwwn 270 150 40.5
33631410/501 winwniphting m04aa01 QL hwwn 44 20000 880.0
33631430/505 nhpuljtivinwpndtt (nipulbnnwpndbuh tnpndtiunwdng) MOTAET? Q< hwn 187 2400 448.8
33631430/506 npuljnnuypn$tt (nEpulnnynndbup twpndbunwdng) MOTAETT L hwwn 129.9 300 39.0
33651111/501 wifopuhghiht j01ca04 q< hwitn 168 500 84.0
33651112/503 widopuhghihu+pjudni-jwwppnt j01cro2 GL hwin 1480 5 7.4
33651125/501 wahppnuhghl j01fal0, s01aa26 qc huwn 258 500 129.0
33651163/502 wiihljwght d06axi2, j01gb06, sOlaa2l qC hwin 1520 700 1064.0
33661115/503 pnuyhduwluiht n01bb01 q< huwitn 229 70 16.0
33661142/501 wdpwphwwnpihu n06aa09 q< hwwn 9 300 2.7
33661151/501 wghlnyhp d0Bbb03, j05ab01, s01ad03 <L hwin 14.6 40000 584.0
33661151/502 wighlynyhp d06bb03, j05ab01, s01ad03 L hwiwn 2499 100 249.9
nbpuwdtipwgnt adlac02, c05aa09, d07ab19, d07xb05, d10aal3,
g hg2ab02. r01ad03, s01 h301 bssmcobgli, 3{7)221a§5. s03bal1 i i 213 30000 639.0
nbpuwdtipwgnt allac02, c05aa09, d07ab19, d07xb05, d10aal3,
33661153/504 hgzawfb‘ r01ad03, s01ba01 5501 Chgﬁl‘ agJEagﬁaSEStl,)Dam 9L hwuwn 36.8 50000 1840.0
nbpuwdbpuwgnt a0lac02, c05aa09, d07abl9, xb05, d10aa03,
SeGaTISAEuR h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ball %5 huan i = 1087
33671114/501 wuhun$hiht r03da05 9L huwitn 35.72 1500 53.6
33671125/502 wippopun| (wdppopunih hhnpnpinphn)  RO5CBO6, ROSCB huwn 15 300 4.5
33671130/501 nhbbuhhnpwiht d04aa32, d04aa32 L huwin 21.9 20000 438.0
33691121/501 wipbunwgnp02cal3 S< huwin 171 30 5.1
33691136/504 uwinphnwh pinppry al2ca0l, b05cb01, b05xa03 G< huiwn 213.9 1000 213.9
33691136/505 Uwinphnidh pinphn al2ca0l, b05cb01, b05xa03 %< hwn 220.9 4000 883.6
33691136/506 Uwinphnwdh pinphn al2ca0l, b05cb01, b05xa03 9L hwwn 226.8 90000 20412.0
33691136/507 uwwnphnuh pinphn al2cadl, b05cb01, b05xa03 Gc hwwn 1300 2000 2600.0
33691136/508 twinphnwh pinppn al2ca01, b05cb01, b05xa03 < huwiwn 237.8 4000 951.2
33691136/509 Uwinphnudh piphn al2ca0l, b05cb01, b05xa03 o< huwtn 1400 5000 7000.0
33691136/510 Uwinphnuih pinphn a12¢a01, b05cb01, b05xa03 G4 hwwn 530 200 106.0
33691138/504 qyntyng b05cx01, v04ca02, v06dcOl 4L hwiwn 237.9 9000 21411
33691138/505 gyntyng b05cx01, v04ca02, v06dcO1 G< huin 231.9 2000 463.8
33691176/569 wyj| nbnnpuwp < huin 29980 150 4497.0
33691176/571 wy| nEnnpwp GL huwin 4200 500 2100.0
33691176/572 wy)| nbnnpwip 9 huwwn §8.8 1000 88.8
33691176/573 wy| nhinnpugp G< hwtn 2200 700 1540.0
33691176/574 w| nbnnpw)p QL huwin 516 2000 1032.0
33691176/575 wy| nnnpw)p G< huwn 227.8 1500 341.7
33691198/503 wnbidbnpnup - AT6AAD2 G< hwiwn 1899 5000 9495.0
33691727/501 nbipuinpng (qlipunpngh Ununhhnpwwn) YO6DCO1, BOSCXO01 QL hutn 36.22 10000 362.2
33691731/501 npnudtlinhin AO7BCOS S< hwin 149 2100 312.9
33691811/501 phuwlnnhy < huin 36 700 25.2
33141166/501 hbwwph qc huitn 974 1000 974.0
33611100/501 oubiwpwgng a02bc01 < huwin 9.2 70000 644.0
33611120/503 $wdninhnhu A02BAO3 L hwin 368 3000 1104.0
33611140/503 oUnwubipnt a04aa01 9L huwitn 270 30000 8100.0
33611140/504 cunwuubinpnu a04aa01 q<L hwn 649 2000 1298.0
33611160/501 dtunnynupuwidhn a03fa0i 9L huwn 40.98 1500 61.5
33611420/507 Yuwighnuih gyniyntiwn al2aa03, dilax03 G Huatn 87 10000 870.0
33611420/508 Ywighnwih gyniintiwwn al2aa03, dilax03 gL huwin 129 10000 1290.0
33611470/502 wwlnnwpuwgn| QL hwwn 33.21 2000 66.4
33611470/503 wuwlnnypwgny QL hwn 1290 800 1032.0
33621120/501 Fuopuwiywphts b01ab05 QL hwn 1069 13000 13897.0
33621230/503 Snjwpprent b03bb01 < hwin 5 1500 7.5
33621590/501 Snipnubdhn c03call L huwin 22.286 20000 445.7
33621610/504 dwlhwnng a06ad16, b05bc01, b05cx04, r05cbi6 9< huwn 512.7 1500 769.1
wpbinuhgninli a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
vt it r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 e hiien e 1aanae i
33651118/501 gbibtnphwpunt j01dd04 qc hwn 103 8000 824.0
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unybwibpopuwqn| + tphdbpnwphd j0lee01, j01ee02, j0lee0S,

33651131/504 016607 9 hwtn 13.2 40000 528.0
33651131/507 ?;llil:;!bpogqun[ + inphdbpnuyphd j01ee01, jOlee02, j01eeld, ag — 567 50 28.4
33651134/502 ghwpn$jopuwghty J01ma032, s01ae03, s02aal5, s03aa07 QL hwn 27 10000 270.0
33651138/501 [-n$jopuwght j01mal2, sO1ae05 9L hwwn 79.8 5000 399.0
33651140/502 ghidtiyhd j01de01 9< hwin 399.8 10000 3998.0
33651143/504 dbipnwbutud j01dh02 9L hwn 2132 200 426.4
33651143/506 Ubpnwbutd j01dh02 9L hutn 1970 1000 1970.0
33651150/503 $yniynbiwgn| d01acl5, j02ac01, j02ac01 < hwin 3390 500 1695.0
33651150/504 Dynilyntiugn) d01acl5, j02ac01, j02ac0i L hwn 54 30000 1620.0
33651150/505 $ynintiwgny d0lacl5, j02ac01, j02ac01 9L hwtn 99 8000 792.0
33651318/503 Lhubgnihn YL hwiwn 4500 400 1800.0
33661112/501 wpnun$n; n01ax10 9L hwin 444.9 1500 667.4
33661114/502 $bunwuhy n01ah01, n02ab03 L hwin 450 400 180.0
33661116/505 (hnnlwht ¢01bb01, c05ad01, d04ab01, n01bb02, r02ad02, a¢ B 720 200 144.0
Sl?:{:ﬂﬁ;hﬂ?:%)dli?:1ﬂ1 c05ad01, d04ab01, n01bb02, r02ad02
L . . ' ! '
33661116/506 <01ha07, 502da01 q< hwn 2694.9 20 53.9
33661116/507 {hnnluyht c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac — 04.8 200 19.0
s01ha07, s02da01
33661116/508 {hnnluyht: c0Tbb0T, ¢05ad01, d04ab01, n0Tbb02, r02ad02, ac hwn 278 3500 1323
s01ha07, s02da01
33661120/504 Unpdhu n02aall Gl huwwn 450 400 180.0
33661120/505 unpdhu n02aall G< huitn 6000 150 900.0
33661122/506 wwpwgbwnwiing n02be01 G huin 2200 1000 2200.0
33661122/507 wwpwgbitnwdng n02be0l < hwin 6.78 2500 17.0
33661127/501 dbtnwidhgn| (Wenwdhgnih bwwnphnwd) NO2BB02 Q< hwn 34.7 10000 347.0
33661135/503 Upnwgnjwd n05cd08 L huin 511 300 153.3
33661185/501 Yhwnnpnywly (Yewnnpnpulh tnpndbinwdng <L huwn 89 1500 133.5
33691112/505 dbinpnuhnwqny a0labl7, d06bx01, g01af01, j01xd01, pO1ab01l 9 hwin 212 2500 530.0
33691112/506 dbinpnthnwqny allabl7, d06bx01, g01af01, j01xd01, pO1abO0l 9 hwn 5.02 800 4.0
33691112/508 dkinpnuhnwqny a0labl7, d06bx01, g01af01, j01xd01, pOlabOl QL huwin 1600 150 240.0
33691135/502 twinphnuh phijwppnuwin b05xa02 9< huitn 960 20000 19200.0
33601145/501 f;u4qh|;3hmdh unipwin a06ad04, ai2cc02, b05xa05, dilax0s, ac T~ 298 3000 89.4
ccl
33691154/501 hnhbpunv08ab02 QL hwun 8700 700 6090.0
33691176/576 wy nhnnpwp G huitn 6888.8 400 2755.5
33691176/577 wy| nbnnpw)p L hwwn 333.8 5000 1669.0
33691176/578 w)| nbnnpwp qL hwwn 77 1000 77.0
33691176/579 wy| nbnnhpwp QL hiuwn 147.85 2000 295.7
33691176/580 w| nhnnpuip qc hwwn 1388.8 1500 2083.2
33691176/581 wj| pannpuwyp §< hwin 1857 150 278.6
33691176/582 wyj nbnnpwip < hwn 89 2100 186.9
33691202/502 bunwidghjwin - BO2BX01 G< hwn 154 15000 2310.0
33691202/503 bunwdghjwin - BO2BX01 QL hwwn 34.8 6000 208.8
33691226/507 inpwidwnn] (wpwdwnnih hhnpnpinphn)-NO2AX02 QL hwwn 17 100 1.7
33691226/508 wnpwiwnn] (wpwdwnnih hhnpnpinphn)-NO2AX02 qL hwwn 56.7 200 11.3
33691226/509 wnpwdwnn] (npwdwnnih hhnpnpinphn)-NO2AX02 < hwwn 154 1500 231.0
33621290/503 byhubbphu (wnpbuwiht) a0lad01, b02bc09, cOlca24, rOlaal4, ac b 94 1000 94.0
r03aa01, s01eall
33621330/502 upybpwdhn RO7ABO2 9L huwin 152 50 7.6
33621360/502 qlhgliph) brupwipwwn (Uhwnpnghgbpht) c01da02, c05ae01 G< huin 660 100 66.0
33621730/501 Ybpwuywidh) c08da0l < huwin 88 50 4.4
33651124/501 ghbuwghnhd j01dd02 L huwin 2997 100 299.7
33651126/505 qhtnwdhghti d06ax07, j01gb03, s0laall, s02aal4, s03aa06 Q< hiun 67 3000 201.0
33651137/501 dwtinuhaht a072a09, jO1xa0 q< huwtn 1420 800 1136.0
33651224/501 dhpninpbpuwwn 101ba0l, 104ax03 9L huitn 90 100 9.0
33651224/502 Ubpnunpbpuwwn 101ba01, 104ax03 L huin 3990 100 399.0
33651224/503 dbpnunpbpuwn 101ba01, 104ax03 < huwtn 13999.8 600 8399.9
33651224/504 dbpnunpbpuwn 101ba01, 104ax03 < huwn 22500 100 2250.0
33651227/502 nulwnpwght [01ax04 q< huwin 5700 2000 11400.0
33651230/503 nopunnniphght 101db01 Q< hwn 13397 200 2679.4
33651230/504 nopunnniphghts 101db01 G huwin 5724 500 2862.0
3150 1800 5670.0
33651231/501 bunwnghr 101cb01 q< hwiwn 3150 200 5300
33651232/501 Luppnuywinhl 101xa02 q< hwiwn 12240 800 5792.0
33651238/502 ghlnPnubwihn 101aa01 < hwn 1999.8 1000 1999.8
33651238/503 ghlnrubwihn 101aa01 < hww 4399.8 2000 8799.6
33651238/505 ghlnrubwihn [01aa01 q< huin 700 0.0
33651239/502 ghwnwpwpht 101bc01 Q<L huin 1999.8 300 599.9
33651239/503 ghunwpuwiphl 101bc0t qc huitn 4190 2000 8380.0
33651242/501 nnghwnwputy 101cd02 < hwwn 300 0.0
33651243/501 wulyhnwpuby 101ed0i 9 hwwn 14899.8 500 7449.9
33651245/502 qhighinwphl 101b¢05 QL huwtn 6588.8 600 3953.3
33651248/503 opuwhuywunht 101xa03 QL hwwn 17499.9 800 13999.9
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33651248/504 opuwhuyuwwnpt [01xa03 QL huwin 3160 100 316.0
33651251/501 Luyghnuih $njhtwinl01cb01 QL huwn 1000 0.0
33651256/502 ghlyjnuwnpht 104ad01, s01 xal8 9L huwiwn 60999.9 40 2440.0
33651312/502 $yninwpwpht Q< hwiwn 28300 20 566.0
33661115/502 prwghywlwihty n01bb01 QL hwun 319.8 70 22.4
33661115/504 pruyhtwlwiht n01bb01 G< hwiwn 1999.8 50 100.0
33661136/503 nhwqbwund n05ba01 G hwwn 101 200 20.2
: nbpuwdbipwgnt a0lac02, c05aa09, d07ab19, d07xb05, d10aal3,
Sdoenaoe h02ab02, rC1ad03, s01ba01, sO1cb01, s02ba06, s03ba01 *< huin 2000 o
33661159/501 $hEUPESPhU (PEUpESphUp hhnpnpinppn) COICAOS q<c huwn 77 150 1.6
33691133/502 ubpwplydwl enip v07ab < hwin 22.9 6000 137.4
33691176/505 wy| nbnnpwp 9< hwin 15297 100 1529.7
33691176/506 w)| nEnnpuw)p L hwn 25900 90 2331.0
33691176/507 w)| hbnnpuwp L hwn 262.5 800 210.0
33691176/508 wj| nbnnpwp 9< hwn 200 0.0
33691176/509 wj| nhnnpwip 9L hwwn 45000 350 15750.0
33691176/510 wy| nbnnpuwp Q<L hwwn 600 1000 600.0
33691176/514 wy| nbnnpw)p aL huwwn 6840 500 3420.0
33691176/515 wy| nhnnpw)p L hwuwn 8460 600 5076.0
33691176/516 wy)| nbnnpuwp < hwin 13299 800 10639.2
33691280/501 ghuwjuwwnht 1 dg/d) 50 dy b huwitn 6800 450 3060.0
33691500/504 inpwikipuwdwppnt 9L hwwn 375 1500 562.5
33691500/505 inpubbipuwdwpent < hwin 1899 3000 5697.0
33611180/502 (wlnnyng a06adit 9L huin 1690 1500 2535.0
33611390/502 whphnopupt altha02 Q<L husn 29.9 1000 29.9
33611474/502 Uhdbnhlynt G< huin 28 1000 28.0
33611474/503 Uhudtwnhlnts q< hun 1370 150 205.5
33621100/502 hbiwwpht bwwnphnd b01ab01, c05ba03, sO1xal4 QL hwwn 3395 30 101.9
33621510/501 Yuwwwnnwph| c09aa01 G<L hwwn 25 2000 5.0
33621620/502 uwhpnunjwlinnu c03da01 QL huwin 47.94 1000 47.9
hhnpnlnpinhgnu a0lac03, a07ea02, c05aali, d07aa02, d07xa01,
sl b h02ab09, s01ba02, s01ch03, s02ba01 s han 216 0 -
33621690/503 Lwipybinhing c07ag02 QL hwn 13.2 1170 15.4
33621760/503 Fuw|wunhy c09aa02 9L hwin 4.4 100 0.4
33621777/502 (thywpopuwpw GL hwn 157.1 252 39.6
33621783/501 Unpwinpbiiwih nwpupuin QL hwwn 1790 100 179.0
33631200/501 pinpuiddbubyng, dephinipwghp DOGC e hwuwn 239.7 120 28.8
33631230/501 ::;qr;r;nh Jnn d08ag02, d0%aa09, d11ac06, gllax1i, r02aal5, ac - 2900 70 203.0
ax
33631290/501 hpnuwypndbiu cOlebl6, g02ccOl, m0laedl, m02aal3 QL huwun 4.1 1000 4.1
33631290/502 hpnuypndtit c01ebl6, g02cc01, m01ae01, m02aal3 9L huwun 649 50 32.5
33631310/502 nhlyndtiuwl ditaxi8, m01ab05, m02aal5, s01bc03 < huwiwn 114 150 171
33631310/503 nhlnbbiuwl d11ax18, m01ab05, m02aal5, s01bc03 QL huwin 69 200 13.8
33631360/501 unipuwdbenupnd m03ab01 QL hutn 189.9 200 38.0
33631460/501 Tipuwjwupbung DO3AX03,RO1AXT0 4L huin 3500 50 175.0
Phnwidtipwgnt (phnwdbpwgnuh nhwypnuhnuwn),
BaesHI0/a02 Yinwnphdwgny, giunwdhght (ghunwdhghtp uny$wn) DO7CCO1 i e 2490 10 4
33642220/505 Ubehunbnuphanint d07aa0l, d10aa02, h02ab04 qC huwin 7900 10 79.0
33642250/503 Unuwnbniljuun QL huwin 247 .91 150 37.2
33651117/501 gb$hpup j01dd08 9< hwin 333.9 1000 333.9
33651128/501 Uhupndnipubinnpt j01xe01 qc huwitn 4 200 0.8
33651134/503 ghwypn$iopuwght j01ma02, s01ae03, s02aal5, s03aal7 QL hwin 374.9 300 112.5
33651134/504 ghujnnblopuwght j01ma02, s01ae03, s02aal5, s03aal7 QL hwiwn 414.8 30 12.4
33651148/501 Lynunphuwgni a0lab18, d0lac01, g01af02 <L hwtn 576 10 5.8
33651148/502 Lynuinphdwgny a01ab18, d01ac01, g01af02 G hwwn 192 10 1.9
33651195/501 dwpnnt unpuiw] pintingjnpnyht j06ba qc hwin 48000 50 2400.0
33651280/503 Uh$nipopuwghn AO7AX03 Q< huun 89.5 1000 89.5
33651280/505 uhbnipopuwighn AO7AX03 L huun 1999 70 139.9
33661110/501 handinipwi n01ab06 G huwn 78000 10 780.0
33661122/501 wwpwghitnwing n02be01 QL hwn 26.4 400 10.6
33661122/504 wwnwgbiunwdng n02be01 qL hwn 360 50 18.0
33661128/501 Quppwiwgbupt n03af01 9 huwin 20 1000 20.0
33661137/501 npwgtivywd n05ba06 G huitn 14 100 1.4
33661147/502 ubinunhgqupu n07aa01, s01eb06 SL huwin 49.8 150 7.5
33661149/501 wgbnwgnwihns0lecOl GL huwin 76.2 300 22.9
33661170/502 Mpnlwypt (wpnluwyhtih hhnpnpinphry) NOTBAO2 < hwin 550 100 55.0
33661181/502 Ulninipwl < hun 48000 15 720.0
33661183/502 ghuwwnpuwliniphnu (ghuwnpwlyniphnul pighjwiin) L hwiwn 960 100 96.0
33671113/503 uwipnunwdng r03ac02 ' 9L hwin 1190 15 17.9
33671116/505 puhnibinwgnihts r01aa07, r01ab06, s01ga03 QL hwn 468 100 46.8
33671124/502 wnppwdhghl, nbpuwdbpuignt SO1CAQ Q< hwin 1009 50 50.5
pwpwinpnuhnwh ppndhn. (hwpwinpnwhnuh ppndhnh
33671139/501 R qL hun 4026 10 40.3
33691112/507 Ubinpnuhnwgqng a0labl17, d06bx01, g01af01, j01xd01, pOlab0l 9L hun 480 20 9.6
33691176/517 w)| nbnnpuwp QL hwin 1537 40 61.5
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33691176/559 w)| nbnnpwp QL huwin 864 20 17.3
33691176/583 wy| nEnnpwjp QL huwin 7050 560 3948.0
33691191/503 $Snubnihwhnubip (kubughw)-ESHL AOSC 9L huwin 590 280 165.2
33691198/504 wnbdbnhnupl - AT6AA02 G< huwiwn 462 1500 693.0
33691199/501 upihdwpht - AOSBAO3 < hwin 20.63 5000 103.2
33691201/501 Ywinwfuninh ngtienid - NOSCMO9 pniuwlwl dwquwl ntin 4L huin 125 100 12.5
33691212/502 nhnudht, hbuwbphnhu-COSCAS3 G huwin 74.5 120 8.9
33691223/501 twnpnuwuphtp Yuighnuwlw wn- BO1ABO6 QL hwin 874.9 100 87.5
33691223/502 uwnpnywnhth Ywighnuwwlwt wn- BO1ABO6 QL hwin 1254.9 100 125.5
33691231/503 Lwighnulh Yuppnuwuw, funjtiuigh$bipng A12AX QL huwin 45.05 2000 90.1
33691236/502 Eg;‘:fgg“‘dh" Rt bhoRainy RUGAGHS: 9< huin 107 500 535
33691600/501 |=bwnhpuwgbiviwd G huwin 109 1000 109.0
33691730/503 tiplwpeh hhnpopuhnh nbpuinpwbiwht hwdwihp BO3AC GL huun 668 200 133.6
33611110/505 wynwihtpnuwih hprpopupry + dwglbighnuwh hhnpopuhn a022a04 kU fiin 40 0.0
a02ab01 g04bx01
33611150/502 wwilypbunht a09a [d¥ha) hutn 500 0.0
33611170/503 npnunwybpht a03ad02 EUs hwin 800 0.0
33611320/503 ubpwpldwy puunyp (jndynr) alOab Eus hwin 50 0.0
33611350/503 wulnnphtiwppent g01ad03, s01xal5, allga0i Euns hwtn 1000 0.0
33611360/503 funjbywigh$lipng alice [x00a) hwwn 300 0.0
33611370/502 phwuhu allda0l EUS hwiwn 300 0.0
33611470/504 wwitnnuplgn| [=a) hwin 500 0.0
33611470/505 wwlnnupuign| [W¥a] hwin 3000 0.0
33611472/502 Yhgbipng, dndplyubp [8Ea) hwn 400 0.0
33611472/506 %pghipny, dndhlubp EUs huitn 400 0.0
33621240/503 ghwunynpuwjwidht b03ball EUBS huin 500 0.0
33621250/504 nbpuwnpuwt b05aal5 EUS huin 250 0.0
33621340/502 Yn$liht bwinphnuwih phugnwn NOGBCOT US huwiwn 100 0.0
33621620/505 uyjhpnunjwljnnt c03da01 Eun hwtn 100 0.0
33621690/504 Lwpytinhin) c07ag02 EUs hwin 1280 0.0
33631150/502 ghulh opuhr, DO2AB EUs hwn 10 0.0
33631310/504 nhiyndtwl ditax18, m01ab05, m02aal5, s01bc03 [=V1a] hwun 100 0.0
33631350/502 whuwbiynipnuhnuwh ppndhry m03ac06 EUS hwtn 75 0.0
33631430/501 nbpuljitinypndb (nbpuliinnupn$bup tnpndbuwdng MOTAETY EUS hwwn 300 0.0
33642220/506 dbphjwptnupgninu d07aa01, d10aa02, h02ab04 EUS huwin 500 0.0
33642220/507 Ubpppupbnubgnint d07aa01, d10aa02, h02ab04 EUS hiuwn 10 0.0
33651134/505 ghwpn$lopuwight j01ma02, s01ae03, s02aal5, s03aal07 EUS hwn 10000 0.0
33651149/502 Uhunwinht a07aa02, d01aa01, g0laa0l EUS huwn 6000 0.0
33651163/503 wiihlwghu d06axi2, j01gb06, sOfaall EUs huin 700 0.0
33651195/503 Ulipnnt unpdw| hdniungnpnyht j06ba EUs hwn 70 0.0
33651229/503 nwniunnniphgh 101db02 EUs huuwn 200 0.0
33651237/502 Uhuyphuwnh 101ca02 [=8ka) hwtn 1000 0.0
33651256/503 ghlynuwnpht 104ad01, sO1xal8 EUS huwin 40 0.0
33651256/504 ghlynuwnphu 104ad01, s01xal8 = ¥0a) hwin 1000 0.0
33651312/503 $yninuwpwphu EUS hwin 50 0.0
33651318/502 Lhutignjhn tUsS hwwn 400 0.0
33661111/504 Yhtnwdhu n0Tax03 EUS huwiwn 30 0.0
33661113/504 phmytunw) n01af03, n05cal9 EUS hwun 100 0.0
33661120/501 Unp$hu n02aa0l EUs huiwn 500 0.0
33661120/506 Unp$hu n02aall EUS hwwn 150 0.0
33661122/505 wwpwgbinwdng n02be01 EUS huwiwn 1500 0.0
33661128/502 uppuwidwgbuht n03afo! EUS huin 1000 0.0
33661151/503 wghlynuhp d06bb03, j05ab01, s01ad03 LS huwin 20000 0.0
33661151/504 wahUndhp d06bb03, j05ab01, s01ad03 EUS huwtn 50 0.0
33661161/501 ojwtiquihts -NO5AHO3 EUS huwin 120 0.0
33671113/504 uwjpnunwidng r03ac02 EUS huin 400 0.0
33671116/506 pupndtitnwgniht ro1aa07, rO1ab06, s01ga03 EUB huin 10 0.0
33671125/503 wiippopuny (wdpnopunth hhnpnpnphn)  ROSCBO6, ROSCB Lus hutn 600 0.0
33691112/509 dbinpntihnwqny a0labl17, d06bx01, g01af01, j01xd01, p01abO01 tuns hwwn 1500 0.0
33691112/510 dtnpnupnwgn a0labl7, d06bx01, g01af01, jO1xd01, pOlabOl EUS hwwn 30 0.0
33691136/511 uwwnphnwh pinppn al2ca01, b05cb01, b05xa03 EUS huwwn 4000 0.0
33691136/512 uwwnphnwh pinppry al2ca01, b05cb01, b05xa03 EUS hwwn 50 0.0
33691154/502 hnhbtipunjv08ab02 EUS huwiwn 500 0.0
33691176/587 w)| nbnnpw)p EUs hwn 100 0.0
33691176/588 w)| nEnhpwjp EUs huwin 2500 0.0
33691176/589 wy| nbnnpwp EUs hwn 1120 0.0
33691176/590 wj| nbnnpwp EUs hun 10 0.0
33691176/591 wy| nhnnpwp [=(¥¥a) huin 10 0.0
33691176/592 wy| nbnnpuw)p EUS hiuwn 150 0.0
33691176/593 wy| nhnhpwjp EUA hwwn 5 0.0
33691176/594 wy| nbnnpwp [xV1a] hwun 4 0.0
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33691176/595 wj nbnnpw)p [¥la) hwin 100 0.0
33691176/596 w)| nhinnpup EUS hwwn 100 0.0
33691176/597 wy| nhinnpuw)p EUS hwwn 170 0.0
33691176/598 wy) nbinnpuip EUs hwwn 300 0.0
33691176/599 w)| nbnnpwjp EUn hwiwn 10 0.0
33691176/600 wy nEnnpuwp EUs huwin 1000 0.0
33691176/601 wj| nEnnpwip tus hwn 200 0.0
33691179/501 Un$linhy dhyn$bunjwin L04aa06 EUDS hwiwn 800 0.0
33691200/502 ubunghnubip A,B - AD6ABO6 pniuwlwl dwagdwl nbn [m3ta) huwin 1000 0.0
33691226/503 npwiwnn] (inpwdwnnih hhnpnpinphn)-NO2AX02 EUS hwwn 800 0.0
33691600/502 |-binhpwgbivnwd EUS hwn 2000 0.0

' 0.0

(wpnpwwinp b phdhwlwl wqnwiympbp (nbwgbntbp)

33141211/689 pdolwlwl w) gnpdhpubip — wWwpwqwbn L hwwn 84000 4 336.0
33141223/529 pdzlwljwt wy gnpdhpubp — wwpwaquwbp pugiwyndwnubun qg Inwljuqy 40000 60 2400.0
33141223/530 pdalwlwt wy gnpdhpubn — wwpwqwubin pugiwlyndwnubn a< Inwlwgu 39999 2 80.0
33141223/531 pdolwlwl wj) gnpdhpubn — wwpwgwtp puqiwlndynubn 9L Inwlwqu 39999 2 80.0
33141223/532 pd2lwljwt wy gnpdhpubin — wwpwqwubp pugdulndwntbun qg Inwljwqu 849999 2 1700.0
33141223/533 peoljwljwt wy gnpdhpubp — wwpwguutp puquwindynubn Q< IPwlugd 240000 2 480.0
33691162/1136 [wpnpuitnnp wgnwnyebp (nbwgbunubn) Q< huin 72999 2 146.0
33691162/1137 (wpnpwnnp wgnwuniptn (nbwgbunutn) QL huuwn 51999 2 104.0
33691162/1138 {wpnpwnnp wgnwuniphp (nbwgbunbin) QL hwn 63999 4 256.0
33691162/1139 (wpnpwinnp wgnwynyebp (nbwgbinubp) GL hiutn 89000 80 7120.0
33691162/1140 (wpnpwwnnp wgnwiynyebip (nbwgblnubp) QL hwn 130000 80 10400.0
336911621141 |wpnpwnnp wanwiyniatip (nbwgblnubp) QL hun 50000 80 4000.0
33691162/1142 (wpnpwinnp wgnuwtynipbp (nbwgblnubp) QL hwin 59000 80 4720.0
33691162/1143 |wpnpwnnp warputynyatip (nbwagbintbp) Q<L hwn 138999 2 278.0
33691162/1144 |wpnpwnnp wapwtynyatp (nbwgblntbip) 9L hwn 91999 4 368.0
33691162/1145 |wpnpwnnp wgntyniphp (nEwgbtntbp) QL hwn 67998 2 136.0
33691162/1146 [wpnpwnnp wanwynipbp (nbwgbtnlbp) < huwiwn 104000 X 312.0
33691162/1147 wpnpwwinp wanwiynietip (nBwgblnbbp) a< huwitn 64999 5 325.0
33691162/1148 jwpnpuinnp wanwunpbp (nbwgbnbp) L huwn 61999 4 248.0
33691162/1149 wpnpuwwnnp wgrwiynetip (nbwgblntbn) G4 huwwn 798000 4 3192.0
33691162/1150 |wpnpuwwnnp wgwinyatin (nbwgbnubp) < huwin 60000 3 180.0
33691162/1151 Jwpnpwitnnp wgnwtynyatp (nbwgbunubp) Q< huwwn 84999 2 170.0
33691162/1152 Jwpnpwinnp wynwiyngabip (nbwgblnubp) Q< huwwn 84999 2 170.0
33691162/1153 jwpnpuinnp wgnwujniphp (nbwgblnubn) QL hwn 84999 2 170.0
33691162/1154 (wpnpwwnnp wgnwigniebp (nbwgblntbn) GL huwn 33075 2 66.2
336911621155 Jwpnpwinhp warpuinysbp (nbwgbnubp) qL hwin 84000 2 168.0
33691420/639 (wpnpwinnp warwbnigpbp (nbwgbnubn) puquwnduynutitin G< (g 69000 1 69.0
33691420/640 |wpnpwnnp warwbgniptbp (nbwgbunbn) pugquwyndwnutiun QL (g 42000 3 126.0
33691420/641 |wpnpunnp wqnuwgnyabip (nbwgbinutp) puqdwlndynubn G (wljgqy 69000 3 207.0
33691420/642 |wpnpwnnp wgnuwiynipbp (nbwgbuinttbip) puguwlndynubun QL [nwljugd 69000 3 207.0
33691420/643 (wpnpwnnp wqnwgnyabip (nbwgbnttp) puqdwinduntbbn q< Inwlugy 40000 3 120.0
33691420/644 {Wpnpwinnp wqruwtnipbp (nBugblntbp) puqdwlnduntbbn Q< nwljugd 108000 2 216.0
33691420/645 |Wwpnpwnnp wqrwngebip (nbwgblntbn) pugiwlndwnubln < [nwluqy 214998 2 430.0
33691420/646 (wpnpwwnnp warwtymebp (nbwgblnlbp) pugquuyndynubun < Inwluqy 36999 2 74.0
33691420/647 |wpnpwwnnp warwbymebp (nbwgbunlbin) pugquwyndynubun 94 Inwljwgd 33000 2 66.0
33691420/648 (wpnpwwnnp worpwbynebp (nbwgbuntbn) pugdwyndynubun < [nwlywgd 69000 5 345.0
33691420/649 [wpnpwnnp worwniphbp (nbwgbunubn) puguwlndwnttn QL (g 32499 5 162.5
33691420/650 (wpnpitnnp worpwnptp (nbwgbuntbp) pugquwlndunutiun Q< (Pwijugd 32499 5 162.5
33691420/651 |\wpnpwinnp warubmipbn (nbwgbunubn) puquwyniwynttiin Q< [nwiljugd 42000 2 84.0
33691420/652 [wpnpwwnnp wanwnipbp (nbwgbbnibp) pugiulnduyntbun QL nwluqd 42000 2 84.0
33691420/653 (wpnpwwnp warutynatn (nbwgbuntbp) puguulndynubun q< [nusluigu 55998 2 12.0
33691420/654 (wpnpwnnp wanwiygnibip (nbwgbtinttn) pugdwindunubtn Q< nwljwgd 76998 2 154.0
33691420/655 |wpnpwwnnp warwtynyatp (nEwgbtinlbp) pugiuyndynbun QL [nwiljugd 42000 5 210.0
33691420/656 (wpnpwinnp wqnuwiynietp (nbwgbunbbp) pugdwindyntbto < nuiljugd 47000 3 141.0
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33691420/657 (wpnpwwnp warwtympetn (nGwgblnltp) pugiwlndynubn qC [nwljgd 42000 2 84.0
33691420/658 |wpnpwnnp wanwtynetp (nEwgblntibip) pwqiwlndynubun q< [nwiljuwgqd 104000 3 312.0
33691420/659 |wpnpwuinp warwtymgebp (nbwgbtntbp) pugdulyndynubun 9L Inwlugd 202000 3 606.0
33691420/660 [Wpnpwnnp wgnwnyebn (nbwgblntn) puquwindunubn &< (nwlywqy 202000 3 606.0
33691420/661 |wpnpwnnp wanutynyetn (nbwgblnbbp) pugdwlndwynubn q< nwljwgd 35499 2 71.0
33691420/662 |wpnpwwnnp wanwtynyebp (nbwgbtnbn) puqdwyndwynubun G [nwlwgy 103998 2 208.0
33691420/663 |wpnpwwnp wanwiynptn (nEwgbuntbp) puqduyndynubun QL [nwluagd 58998 2 118.0
33691420/664 Lwipnpwnnp warwitynyebp (nhwgbtntbn) puqdwlndyntbbn G [nwiljugqd 354999 4 1420.0
33691420/665 (wpnpwwnnp warwiymptbp (nBwgbtntbp) pugiwlnduynubiin Q< [Nl 99999 2 200.0
33691420/666 [Wwpnpwnnp wanuwtgnibp (nbwghklnbtn) puqdwinduntibbn < [nuwilyuiqd 63000 2 126.0
33691420/667 |wpnpwwnnp wanwiynietp (nBwgbtntibip) pugdulndynubun G4< [nwiljugy 32000 60 1920.0
33691420/668 |Wwpnpwwninp wanwtyniebp (nGwgbtnbbp) pugdwlndynubun q< Inwluqy 32499 10 325.0
33691162/1156 [wpnpuiwnnp wanwynipbp (nbwgbntbn) g hwwn 470 200 94.0
33691162/1157 jwpnpuwwnnp wanutynipbp (nbwgbUntbp) L hwwn 470 200 94.0
33691162/1158 |wpnpwwnnp wgnwtyniypbp (nbwgblnlbn) < hwn 700 200 140.0
33691162/1159 |wpnpwwnnp wgrnwtynyatip (nbwgbtunubip) L huwiwn 1980 110 217.8
33691162/1160 jwpnpwwnnp wgnunipbp (nBwgblnlbp) 9L huwwn 1650 100 165.0
33691162/1161 |wpnpwwnnp wgnwinipbp (nBwgblnlbp) QL huwin 900 230 207.0
33691162/1162 |wpnpwinnp wgnwniphp (nbwgblnlbp) 9L huwin 5280 20 105.6
33691162/1163 |wphpwinnp wgnunyebp (nbwgblnbn) QL hwn 2040 20 40.8
33691162/1164 |wpnpuwinhp wgnwunyebp (nbwgbunbn) G< huwitn 4600 20 92.0
33691162/1165 |wpnpwinnp wqnuunehp (nbwgbunubn) L huwin 1150 100 115.0
33691162/1166 (wpnpwnnp wgnwunpbp (nbwgbunutn) qL hun 2800 35 98.0
33691162/1167 (wpnpwwnnp wgnwlynipbp (nbwgblntbp) QL huwn 12000 30 360.0
33691162/1168 {wpnpwnnp wanwlnystp (nbwgbtinutip) 9L hun 67000 10 670.0
33691162/1169 (wpnpwnnp wanwtynabip (nbwqblinttip) qL huwn 6600 2 13.2
33691162/1170 |wpnpwwnnp wgnwitynystip (nbwgbuntbp) QL hwin 21000 2 42.0
33691162/1171 |wpnpwinnp wgnwiynyabn (nbwgblunubp) L hwin 30000 2 60.0
33691162/1172 (wpnpwwnp wqnuwiympbp (nBwgbntbip) 9L hwin 15600 2 31.2
33691162/1173 |wpnpwnnp wanwtynipbp (nBwgblnlbp) 9L hwin 35000 2 70.0
33691162/1174 jwpnpwwnnp wgnuniphp (nbwgbUnlbp) 9L hwwn 22800 2 45.6
33691162/1175 |wpnpuwinnp wanwtynipbp (nbwgbUntbp) L hwwn 57000 2 114.0
33691162/1176 wpnpwwnnp wanwiynebp (nbwgbntbp) L huwn 47000 3 94.0
33691162/1177 (wpnpwwnp worwbnitip (nbwgblnlbn) < huwiwn 18000 2 36.0
33691162/1178 {wpnpwiwnnp wyrnwingabip (nbwgblnubp) Q< hwwn 48000 2 96.0
33691162/1179 |wpnpwnnp wgnwniehp (nbwgblnubn) G hun 34800 2 69.6
33691162/1180 jwpnpwinnp wgnwunehbp (nbwgblnubn) GL huitn 33000 2 66.0
33691162/1181 Jwpnpuwinnp wyrwtjngabip (nbwgblmnubp) QL huiwn 97000 2 194.0
33691162/1182 jwpnpwinhp wanwuniphbp (nbwgbunubn) QL huwin 2 0.0
33691162/1183 Jwpnpuinnp wrungabip (nbwgblnubp) QL hwin 20000 2 40.0
33691162/1184 {wpnpwinnp wgrnuwigngatip (nbwgbnubp) QL hwin 21600 2 43.2
33691162/1185 |Jwpnpwiinnp wgnuunehbp (nbwgbunubp) QL hwin 24000 2 48.0
33691420/669 (wpnpwnnp warwbnebp (nbwgbunubin) puquwndunttitin QL [Pwljuug 345000 :g 2]?)43'0
' 1210000 20 24200.0
33691420/670 (wpnpwwnnp wanwlniebn (nbwgbunubp) puqiwlndwntbun Q< (gl 20 00
33691420/671 (wpnpunnp wqnuwbgnyabip (nbugunitp) puqdwinduntbn L [nwlugd 215000 8 1720.0
33691420/672 |wpnpwwnp warnutympetn (nbwgbunttip) puguuyndynubun q< nwiljwgd 151200 4 604.8
33691420/673 (wpnpwwnp wqrwtniatp (nbwgblntbp) pugiwlnduntbln Qg (nwljgd 363000 1 363.0
33691420/674 [wpnpwnnp warwbynebp (nbwgbtnlbn) pugquuyndynubun 9L Inwlwqy 175998 1 176.0
33691420/675 |wpnpwwnnp warpbgnipbp (nBwgbntbn) puquuindynubun QL Inwluigd 157998 1 158.0
33691420/676 (wpnpuinnp warpwnabp (nbwgbuntbn) puquwlndynubtin QL [nwljuwgd 85999 4 344.0
33691421/522 (wpnpwnnp wonwignipbp (nbwgblnubp) higndy L [htnp 0.5 0.0
33691422/568 |wpnpwnnp wanwignyebin (nbwgbuntbp) dingh Ywd gpuitinylbip QL Lhingpwd 0.5 0.0
33691422/569 |wpnpwinnp waruiynpbp (nbwgbinubp) thingh Gwd gputngutip < Uhingpuwd 1200000 0.1 120.0
33691422/570 (wpnpwnnp wqnwjniebp (nbwglunutp) tingh Yud gpuitingubp QL Yhingpwd 1140000 0.1 114.0
33141211/690 pdowlwt wyl gnpdhplibp — wwpuwguwbip 9L hwwn 246000 8 1968.0
33141211/691 pdolwljwl wy gnpdhpubip — wwpwgwlbp QL hwn 110300 4 441.2
33141211/692 pdaljwljwil wy gnpdhpubip — wwpwgutip < hwwn 6100 60 366.0
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33141211/693 pdolwlwt wy gnpdhpubip — wwpwgwubp L hwwn 57100 2 114.2
33141211/694 pdolwlwl wy gnpdhpubp — wwpwgqwubp L hiuwn 2500 4 10.0
33141211/695 pdolwlwl wy gnpdhpubp — wwpwgwubp q< hiwn 1000000 1 1000.0
33141211/697 pdolwluwt wy) gnpdhpubip — wwpwgqutibip QL hwwn 960000 2 1920.0
33141211/698 pdolwlwt wy gnpdhpubip — wwpwgwbp < huwin 246000 6 1476.0
33141211/699 pdolwlwl wy) gnpdhpubip — wwpwqwbip G hwin 1195000 2 2390.0
33141223/534 pdpljuiljwt wy gnpdhptibp — wwpwawubn pwquuynduntbun 9< nwluagd 44600 6 267.6
33141223/535 pdaljwlwt wy gnpdhpubn — wwpwawlbin pugdwlndwnlin < Inwljgy 33300 12 399.6
33141223/536 pdoljwlwt wy gnpdhpubin — wwpwquwbn puqdwlndwntbiun q< Inwljugd 648300 4 2593.2
33691162/1186 wipnpwunp warwiyniebp (nbwgblntbp) 9L hwn 19875 28 556.5
33691162/1187 (wpnpuinnp wannyebp (nbwgblnlbnp) L hwwn 7540 75 565.5
33691162/1188 jwpnpuwwnnp warwiynebp (nbwgblnbbpn) 9L hwn 13846 65 900.0
33691162/1189 wipnpwunp wanwtyngabip (nbwgblntibp) 9L hwuwn 17143 70 1200.0
33691162/1190 |wpnpwinnp wgnwtnipbp (nbwgblntbp) L hwiwn 14200 60 852.0
33691162/1191 jwpnpwiwnnp wopwiyngabp (nbwgblnbp) GL huwin 16800 50 840.0
33691162/1192 {wpnpwinnp wqrugnystp (nbwgbunubp) < hwin 13875 40 555.0
33691162/1193 [wpnpuitnhp wgnwunyabp (nbwgblntbn) QL huwin 18750 12 225.0
33691162/1194 Jwpnpuwinnp wewgngebp (nbwgblnubn) 9L hwin 15800 60 948.0
33691162/1195 {wpnpwinhp wgnwnyebp (nbwgbunubp) QL hwin 15800 60 948.0
33691162/1196 |wpnpwnnp wgnwnypbp (nbwgbuntbp) QL hwn 20182 55 1110.0
33691162/1197 (wpnpwwnnp wanwiynyestip (nbwgbinbp) L huwn 32000 3 96.0
33691162/1198 |wpnpwwnnp wgnutynpbp (nbwgbbnubip) QL hwn 14357 7 100.5
33691162/1199 {wpnpwiwnnp warnwiyngebn (nbwgblnubp) 9L hwn 31417 18 565.5
33691162/1200 {wpnpwwnnp wgrwiyniebp (nbwgblunubp) q< hwn 139113 75 10433.5
33691162/1201 (wpnpwwnnp worwtyngebp (nbwgbtnbbipg QL hwwn 11645 55 640.5
33691162/1202 {wpnpuwwnnp wgnutgngebp (nbwgbunubp) QL hwwn 46900 55 2579.5
33691162/1203 Jwpnpwinnp wgnuunyekp (nbwgblnubp) qL huwwn 15000 10 150.0
33691162/1204 |wpnpuinnp wgnwuniehbp (nbwgblnubp) GL huwn 93900 6 563.4
33691162/1205 |wphpuinnp wgnwuniphp (nbwgblnlbn) < huun 14675 60 880.5
336911621206 Jwphpwitnnp wgnuiunyebip (nbwgbintbn) QL hwwn 5308 65 345.0
33691162/1207 Jwpnpwnnp wgnwuniphp (nbwgbnutn) QL hwwn 13333 45 600.0
336911621208 Jwpnpwnnp wgnwbnpbp (nbwgbunbp) QL hun 27300 70 1911.0
33691162/1209 jwpnpwinnp wgnuwuniphp (nbwgbintibin QL hwwn 8375 12 100.5
33691162/1210 |wpnpwinnp wqnuwiynebp (nbwgblntbp) GL hwn 40000 5 200.0
33691162/1211 |wpnpwwnnp wqnuynetp (nbwgbunlbp) 9L hwwn 27500 8 220.0
33691162/1212 |wpnpwinnp wanwtyniplip (nEwgbbnlbp) q< hwwn 26700 15 400.5
33691162/1213 |wpnpwwnp waruwiynibp (nbwgblntibp) QL hww 15750 2 31.5
33691162/1214 |wpnpuiwnnp wqnutynipbp (nBwgbiuntbp) < huwwn 25875 2 51.8
33681162/1215 jwpnpuinnp wqnutynipbp (nbwgbunbbp) L huwin 20500 7 143.5
33691162/1216 Jwpnpwnnp worwlynehp (nbwgblnttip) 9 hwwn 18370 15 275.6
33691162/1217 jwpnpwinnp wgnwunehp (nbwgbinubp) QL huin 10125 4 40.5
33691162/1218 Jwpnpwinnp wyrubgnptp (nbwgbunttin < huwiwn 43600 3 130.8
33691162/1219 jwpnpwinnp wonwtgniphp (nbwgbuntbp) QL huwin 77400 1 77.4
33691162/1220 (wpnpwnnp wgnwlynipbp (nbwgblnubp) G huwn 50500 4 202.0
33691162/1221 |wpnpuwinnp wgnwiynysbp (nbwgbiintp) < hwn 40100 6 240.6
33691162/1222 |wpnpuwnnp wgnuwynyebp (nbwgbinubp) QL hwn 133100 6 798.6
33691162/1223 |wpnpwwnnp wqnuwinyatip (nGwgbiiinutip) L huwin 263400 6 1580.4
33691162/1224 |wpnpwwnnp wgnuitynepbp (nbwgbntitp) QL hwin 329400 6 1976.4
33691162/1225 |wpnpwinnp wgnwiynyatip (nbwgbunubp) QL hwn 159900 16 2558.4
33691162/1226 (wpnpwwnnp wgnuwlyniatip (nBwgblnttip) QL hwwn 138600 8 1108.8
336911621227 (wpnpwuinp wanuwynetp (nbwgblnutipg L hwwn 120800 8 966.4
33691162/1228 (wpnpwwnnp wgnuwtyniepbp (nbwgblntibip) 9< hwwn 124400 8 995.2
33691162/1229 |wpnpwinnp wgnutnyebp (nbwgblntbp) L hwwn 172400 72 12412.8
33691162/1230 jwpnpwinnp wanwiniebp (nbwgbinubp) Q< hwwn 15100 6 90.6
33691162/1231 |wpnpwinnp wawuniphkp (nbwgblntbn) 9L huwin 24720 2 49.4
33691162/1232 |wpnpwuinp wanwlngetp (nbwgblintbip G< huwiwn 22500 2 45.0
33691162/1233 |wpnpwinnp wgnwuniphbp (nbwgbunbp) B huitn 41550 10 415.5
33691162/1234 {wpnpwinnp wgnwunphp (nbwgbintbn) Q< hwn 66000 5 330.0
33691162/1235 jwpnpwnnp wynupngptp (nbwgbuntbing QL hwn 38000 15 570.0
33691162/1236 |wpnpwnnp wgnwljnipbp (nbwgbunutip) 9L hwn 67000 1 67.0
33691162/1237 |wpnpwnnp wgnubynabip (nBwgtlnttip) L hwin 115000 4 460.0
33691162/1238 jwpnpwwnp wanuwiymetp (nbwgbunttip) aL hwn 73000 8 584.0
33691162/1239 |wpnpwwnnp wannpbp (nbwgbntbp) q< hwwn 250000 50 12500.0
33691162/1240 |wpnpunnp wantgnipbp (nbwgblntbp) L hwn 100000 1 100.0
33691162/1241 upnpuiinn wanwunipbp (nbwghlinutn) a< hwwn 58000 3 174.0
33691162/1242 (wpnpwnnp warwynipbp (nbwgbuntbin G< hwwn 58000 10 580.0
33691162/1244 Jwpnpwinnp wgrwignipbp (nbwgbntbpg 9< huin 27000 8 216.0
33691162/1245 {wpnpwinnp wgrugniphbp (nbwgbunubing G< huwin 40000 5 200.0
33691162/1246 jwpnpwinnp wgnwgnipbip (nbwgbunubp) GL hwwn 103000 2 206.0
33691162/1247 jwpnpwinnp wgnwnyebp (nbwgbunubp) QL hwiwn 29000 12 348.0
33691162/1248 (wpnpwwnnp wgnwnysbip (nbiwgbtnutn) Q< hwn 18000 40 720.0
33691162/1249 [wpnpwinnp wanwlyniptip (nbwgblunubp) QL huwwn 18000 40 720.0
33691162/1250 |{wpnpwinnp wgnwuniphp (nbwgtinubn) L hwn 86000 4 344.0
33691162/1251 {wpnpwinnp wanwniphp (nbwgblnubp) S< hun 53000 7 371.0
33691162/1252 |wpnpwnnp wgnwynipbp (nbwgtlnutip) Q< huwwn 77000 9 693.0
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33691162/1253 Jwpnpwwnnp wqrwingabip (nbwgblntbp) qL hwwn 40000 9 360.0
33691162/1254 |wpnpwwnnp wonwbniebip (nbwgblnlbp) L hwwn 20000 15 300.0
33691162/1255 Jwpnpwwnnp warwlngabp (nbwgblntbipg QL hwin 21000 6 126.0
33691162/1256 |wpnpnnp wanwyniebp (nGwgblntbin) QL hwwn 165000 3 495.0
33691162/1257 wpnpwwnnp wgnwtynipbp (nbwgblntbp) 9L hwn 89000 3 267.0
33691162/1258 Jwpnpwinnp wnwnyetip (nbwgktnubp) QL hwiwn 21000 4 84.0
33691162/1259 Jwpnpuwinnp wanwuniptn (nbwghnubip) 9< hwwn 36000 1 36.0
33691162/1260 (wpnpwinnp wignwynyetin (nbwgblnubp) < hwwn 67000 1 67.0
33691162/1261 {wpnpwinnp wanwuniphp (nbwgbunbp) Q< huwwn 157000 2 314.0
33691162/1262 |wpnpwwnnp wgnwiyniyebp (nbwgblnbn) G< hwu 170000 1 170.0
33691162/1263 jwpnpwwnnp wgnwynipbp (nbwgbuntbn) QL huwin 22500 1 22.5
33691162/1264 {wpnpwnnp wgnwiynipbp (nbwgbiuinubip) G< hwwn 40000 1 40.0
33691162/1265 [wpnpwnnp wanwnyebp (nbwgbunubp) QL huin 131000 1 131.0
33691162/1266 |wpnpwinnp wgnwniebp (nbwgbunubp) L hwin 11000 15 165.0
33691162/1267 (wpnpwnnp wanutynyabip (nbwgblnlip) QL hwn 43000 2 86.0
33691162/1268 |wpnpwwnnp wguynyetp (nEwgblntitip) QL hwiwn 20000 60 1200.0
33691162/1269 (wpnpwinnp wqruwtynyabp (nbwgblntibip) G< hiiwn 4000 60 240.0
33691162/1270 |wpnpwwnnp wgutynebp (nbwgblntip) 9L hwn 6000 5 30.0
33691162/1271 (upnpwnnp waruwtynyetip (nBwgblintibip) G hwtn 8000 2 16.0
33691162/1272 (wpnpwwnp wanwtyngstp (nGwgtlintibing G< hwiwn 17000 35 595.0
33691162/1273 |wpnpwwnnp wgnutyniebp (nbwgblnbn) QL hwwn 277000 1 277.0
33691420/677 (wpnpwnnp warwtmipbp (nbwgbnlbin) pugquwlndynutiun G Inwlwqy 44100 1 44.1
33691420/678 (wpnplnnp warwnebp (nbwgbunubn) puquwlndynubun L Inwhuqu 21400 4 85.6
33691420/679 {wpnpwinnp wonwgniphbp (nlwgbunubn) puqiwlniwnttun L [nwljuwad 47800 6 286.8
33691420/680 [wpnpwnp wgnwiynabn (nbwgbtntbip) pugiwlyndyntbun QL [nuwilyugu 42500 12 510.0
33691420/681 (wpnpwnnp wanwiynitip (nbwgbitntbp) pugdwndwnubbn q< Inwlugd 21700 6 130.2
33691420/682 (wpnpuwnp warwtynebp (nbwgblntbn) pugdwlndynubun q< Inwlwqu 114900 8 919.2
33691420/683 (wpnpwinhp wonwnebp (nbwgbunubn) puquwyndynubitin S [nwljuqy 46875 4 187.5
33691420/684 [wpnpwWnnp wanwiynipbp (nbwgbiuinutp) pwquwlnudwnubiun q< [wljugd 185200 8 1481.6
33691420/685 (wpnpwinnp wqnwiygniebn (nbwgbuntp) puqdwndwnubn QL nwljugd 185200 8 1481.6
33691420/686 (Wwpnpwnnp wanwtyngetp (nbwgbtntbp) pugdwlndynubun GC Inwlwqu 37500 8 300.0
33691420/687 (wpnpwnnp wanwniptp (nbwgbtnbbn) pugdwlndwynbbln QL [nljwgd 19568 2 430.5
33691420/688 (wpnpwwninp wanwniyebn (nbwgbunubn) puquwlndwntbun G< [nwlywqd 35250 2 70.5
33691420/689 (wpnpwwnnp wanuwnyetn (nbwgbunubn) puquwyndynttn QL [nwiljugd 270000 5 1350.0
33691420/690 {wpnpuwinnn wonwniphbn (nbwgbinbin) puquwlndwnttiun Q< [nwljwugd 22500 5 12.5
33691420/691 |wpnpwiwnnp wqrwniebin (nEwgblnbp) puqdwindunubn q< Inwlwqy 57300 3 171.9
33691420/692 (wpnpwwnnp wanuwgnypbip (nbuwgbuntbp) pugiwlnduntbbn G< (nwljuqgy 50600 3 151.8
33691420/693 (wpnpuwwnnp wanwiyniptin (nbwgbtnbbn) pugiwlndwnubun 9< Inwlwqd 50600 3 151.8
33691420/694 Lwpnpuinnn wanwiynitn (nbwgblnubn) pugquwyndwnbblo 9L (nwlwgd 65600 40 2624.0
33691420/695 lwpnpwinnp wanwiyniptn (nbwgblnubn) puquwyndwntbun Q< [nwluqd 72500 3 27.5
33691420/696 {wpnpwinnp wanuitjnipbp (nBwgblnutn) puguwlniyntbun Qg [nwiljwagd 72500 3 27.5
33691420/697 {wpnpwnnp wqnuwgnebp (nbwgbunutn) pugdwlnduntblin q< |nwljuqyd 72500 3 2175
33691420/698 (wpnpwwnnp wanwiniptn (nbwgbuntbin) pugdwlndynutiin SG< IPwljugd 52100 4 208.4
33691420/699 (wpnpuwnnp wqnwlnietn (nbwgblinutn) pugiulndyntbln GL \nwlwqy 67500 2 135.0
33141211/700 pdoljwlwl wy gnpdhplbp — wwpuquilbp GL huwin 44000 1 44.0
33141211/701 pdolwiljwt wy gnpdhplbp — wwpuquilibp S< huwn 261 1000 261.0
33141211/702 pdolywljwy wy gnpdhplbp = wwpwgquilibp QL hwn 21000 20 420.0
33141223/537 pdoluluwl wy) gnpshplbip - wwpwgwbp puqdulndunubin Q< [nwljugd 45600 40 1824.0
33141223/538 ndolwlwl wj| gnpdhpubin — wWwpwgubp pwqiulnduntbin QL [nwiljugyd 46300 20 926.0
33141223/539 pdalywlwts wy) gnpdhplibip — wwnwqwbp puqdwlndunbn QL g 24400 2 48.8
33691160/559 phuipwlwl wgnwunyetp (ntwgblnutng Q<L huwuwn 111600 40 4464.0
33691160/560 phuhwlwl wgnwlnyelip (ntwgblunubin 9L huwin 79200 40 3168.0
33691160/561 phupwlwl wanwiymptp (nbwgblnlibp) gL huwn 252000 40 10080.0
33691160/562 phupwlwl wanwymptp (nbwgbuntibp) 9< hwin 131400 40 5256.0
33691160/563 phupwlwl wgnwnsbp (nBwgbluntbng QL hwn 67500 2 135.0
33691160/564 phupwlwy wgnuwlnistp (nbwgblntbn 9L hun 67500 2 135.0
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33691160/565 phupwlwu wgnuwnystp (nbiwgbunutbn) QL huin 283500 25 7087.5
33691160/566 phuhwlwl wgnwnipbp (nbwgbunlbp) QL hwn 96300 2 192.6
33691160/567 phuhwlwl wqnuwlniphp (nbwgbumnttn) 9 huwin 96300 2 192.6
33691160/568 phupwlw wonwlniptp (nbwgbluntibp) Q<L hwwn 239400 2 478.8
33691160/569 phuhtulput wgnuwnipbp (nbwgbumutn) L hwin 490000 10 4900.0
33691160/570 phihwlwt wgnwniebp (nhwgblntbp) < hwn 75000 2 150.0
33691160/571 phubwlwl wgnwljniptp {nbiwghkwnubip) GL hwwn 75000 2 150.0
33691162/1274 (wpnpwinnp wanuwinabip (nbiwgblintbin) 4L huwin 64320 60 3859.2
33691162/1275 jwpnpwinnp wanwiniahp (nbwagblnbbp) 9L hwn 46000 2 92.0
336911621276 |wpnpwnnp wghubnyebp (nbwgbnttip) 9L huwtn 55200 60 3312.0
336911621277 |wpnpwwnnp wanwiynyetip (nbwgblunubin) < huin 43600 2 87.2
336911621278 |wpnpwnnp wanuwiynyatip (nBwgblntbip) 9L hwun 118800 60 7128.0
33691162/1279 |wpnpwwnnp wagnutynuyatp (nbwgblntibp) 9L hwn 121280 2 242.6
33691162/1280 |wpnpuwnnn wanwtiniptn (nbwgblnbbn) L hwtn 92950 60 5577.0
33691162/1281 |wpnpwnnp wgnutnyetp (nbwgblnlbn) dL huwin 58240 2 116.5
33691162/1282 |wpnpwinnp wgnwniphp (nbwgbtntbn) b hwuwn 69800 12 837.6
33691162/1283 (wphpuinnp wgnwugniebp (nbwgbUnubn) QL hwwn 24000 3 72.0
33691162/1284 (wpnpwinnp wgnwuniehbp (nbwgbnubp) 9L hwn 98500 8 788.0
33691162/1285 {wpnpwnnp wonwupniphp (nbwgbunubn) Q< huwin 25600 2 51.2
33691162/1286 {wpnpwinnp wagnwuniphp (nbwgblnubn) 4L huitn 84000 3 252.0
33691162/1287 |wpnpwinnp wanwnyesbip (nhwabunlbin < hwin 56560 2 113.1
33691162/1288 |wpnpwunp wgnunyabp (nbwgblnubip) L hwin 84000 3 252.0
33691162/1309 [wpnpwinnp wgrutynystip (nbwgblnubp) 9L huin 53040 2 106.1
33691162/1310 [wpnpuwnnp wgrwtynplip (nbwgblwntbp} L hwin 71680 40 2867.2
33691162/1311 |wpnpwnnp wygnwtynyatp (nbwgblnlbp) 9L huwtn 24850 3 74.6
33691162/1312 jwpnpwinp wgnwbnyetin (nbwgblnbin) G< hun 49840 2 99.7
33691162/1313 jwpnpuwinnp wgnwbynyatp (nbwgbtnbibp) <L hwwn 24300 2 48.6
33691162/1314 jwpnpwinnn wgnwnetn (nbwgblnbn) G<L hwwn 70800 2 141.6
33691162/1315 Jwpnpwuninp warwiniebp (nbwgblntibpg g huwiwn 24300 2 48.6
33691162/1316 {wpnpwnnp wgnwnyzbp (nhwgbunlbn) L huin 66880 3 200.6
33691162/1317 jwpnpinnp wgrwbynyabp (nbwgbtntbpg 9L huwiwn 23680 2 47.4
33691162/1318 Jwpnpwinnp wonwpniehp (nbwgblnubn) QL hwin 46800 8 374.4
33691162/1319 Jwpnpuwnnp wgnwungebp (nbwgbunubp) 9L huwn 24600 2 49.2
33691162/1320 (wpnpwnnp wgnwlnystip (nbwgblinltp) L huwitn 54240 2 108.5
33691162/1321 Jwpnpuwnnp wgnwlniebn (nbwgblntibp) 9L hwitn 24600 2 49.2
33691162/1322 |wpnpuwinnp wgiutgnyebp (nbwgbbnubip} 9L huin 14240 2 28.5
33691162/1323 wpnpwinnp wanwynyatp (nbwgblntbp) L hwn 5400 15 81.0
33691162/1324 [wpnpwinnp wannipbp (nBwgbbnbbp) q< hwn 225000 8 1800.0
33691162/1325 |wpnpuinnp wgnwtnyebp (nbwgbbntbp) aL hwin 26500 2 53.0
33691162/1326 jwphpwinnp wgnwuniehbp (nbwgbunlbn) 9L huwwn 59760 2 119.5
33691162/1327 Jwpnpwinnp wynwuniehp (nbwgbunubn) QL huin 349200 5 1746.0
33691162/1328 {wpnpwiinnp wgnwupniphp (nfwgblintin) G< hitn 36800 6 220.8
33691162/1329 jwpnpwwnp wgnwungebn (nbwgbbnbbng Q< huwitn 81440 3 244.3
33691162/1330 |wpnpuwinnp wgnwiynysbp (nbwgbuwnubip) QL hwin 24800 2 49.6
33691162/1331 jwpnpwwnnn wanwngetp (nbwablunbing L hwin 25280 2 50.6
33691162/1332 |wpnpwinnp wgnuitgnipbip (nbwgbiunbbin} 9< huin 216554 20 4331.1
33691162/1333 |wpnpwwnnp wgnwynipbp (nbwgbUntbp) 9< huutn 264410 20 5288.2
33691162/1334 jwpnpwwnnp wanwiymptp (nbwgbunbitipg 9L hwwn 357000 20 7140.0
33691162/1335 |wpnpwinnp wanutyniphp (nbwgblinbbp) < hwwn 239198 20 4784.0
33691400/563 phihwlwl wanwiynyebin (nhiwgbunttn) puqdwlndyntbtn 9 nuubjugy 96300 2 192.6
33691400/564 phihwlwl wanwnyebn (nbwgbunttn) puqiulndunbiftin < (nwljuqu 96300 2 192.6
33691400/565 phihwlwy wanwlynyetip (nbwgbtntbin) puwgdwlyndyntibin < (uwljugd 108000 2 216.0
33691400/566 phupwlwt wanwymptp (nbwgbkunltip) puguwlyndwnubun QL [l 96300 2 192.6
33691400/567 phuhwlwy wanwyniebp (nbwgblnubn) puqdulyndynttun Q< nwlugu 121500 2 243.0
33691400/568 phuhwlwt wanutyniptip (nbwgbunutn) pugduindunutun ag [nwluqy 121500 2 243.0
33691400/569 phihwlwl wanwunyebp (nbwgbunttp) puguiwlnduyntibun a< [Pwlwgd 106200 12 1274.4
33691400/570 phuhwlwl wanuwtynyetip (nbwgbnbbn) puqdwlndyntibtin Q< [nwilugu 45630 12 547.6
33691400/571 phupwlw wanwympbp (nbwgbunltbn) pugqdwyndynubun G [nwlugd 139500 25 3487.5
33691400/572 phuhwlwy wanwynebp (nbwgbntbn) pugiwlndwnutn q< |nwluqd 50000 6 300.0
33691400/573 phihwlwl wanwiynyetp (nbwgbtnubin pugdwlndwynubun 9L Inwljgd 95400 25 2385.0
33691420/700 wpnpwnnp wanwnitn (nbwgbunubp) pugdwlnduynbblo qL Inwlwigd 26800 40 1072.0
33691420/701 (wpnpuwwnnp wanwinypbn (nbwgbunubp) puquwlndunibun qg g 26800 40 1072.0
33691420/702 (wpApwnnp wqnwinypbp (nbwgbuuttp} pugdwlndunubn q<L [nwljugy 17120 1 17.1
33691420/703 [wpnpwnnp wanwynietn (nbwgbunutn) pugdwinduntbo G< [nwlyugd 59760 2 19.5
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33691420/704 (wpnpwwnnp warwtynetp (nbwgbnbibp) pugdulndyntbun L nwljuqd 174640 2 349.3
33691420/705 |wpnpwinnp wanwtyniebp (nkwgblnubn) pugdwyndwynubln qC [nwljugd 119520 2 239.0
33141211/703 peolwilw w)) gnpdhpubip — wWwpwgwbp Q< hwin 80000 1 80.0
33141211/704 pdolwlwl wy gnpdhpubn — wwpwagwubp 9L huwtn 1230000 1 1230.0
33141211/705 pdoywlwl wy) gnpdhputip — wwpugwlbin S< hwn 215000 1 215.0
33141211/706 ndolwilwi wy gnpdhpubip — wWwpwgwbn q< hwin 215000 1 215.0
33141211/707 paoluljwl wy gnpdhpibip — wwpwawbn 9< hwn 90000 1 90.0
33141211/708 ndolwlwl wy gnpdhpubp — wwpwgwubip L huwtn 69000 1 69.0
33141211/709 ndaliwlwit wy gnpdhplbn — wwpwgwbp G< hwin 13000 1 13.0
33141223/540 pdolwlwl w) gnpdhpubp — wwpwqwubnp pugdulndynubun q< [nwljugy 960000 18 17280.0
33141223/541 pd2lwlwts wy) gnpdhpubip - wwpwqwubin puqiwynduntbun qC Inwluqy 103122 2 206.2
33141223/542 pdolwlwt wj) gnpdhpubip — wwpwqwubn puqdulndynubun g Inwlugd 108528 2 271
33141223/544 pdalwlwt wy gnpdhpubin — wwpwgwbn pugdwlndwnubun G< [nwlwgd 60000 2 120.0
33691162/1336 jwpnpuwnnp wgnwinyatin (nbwgbiinbip) S hwin 38000 3 114.0
33691162/1337 jwpnpuwwnnp wanuwiynuyatp (nbwgblntibp) 9< hwun 87700 1 a7.7
33691162/1338 |wpnpwinnp wynuwiynyabp (nbwgbtuntibp) QL hwwn 24000 1 24.0
33691400/574 phipwljwt wanwuniebn (nbwgbuntbp) puqiwindwynubiun G Inwljug 190000 3 570.0
33691400/575 phupwlwl wanwunpbp (nbwgbunutn) pugdwlndwnubun QL [nuuljugd 95000 3 285.0
33691400/576 phihwlwu wonwunyatn (nbwgblnubn) pugqiwljndunubtn 9L Inwlwqy 7400 ? :;(i
9 0.0

33691400/577 phuhwlwt wgnwynyetin (nbwgbunubp) pugqiwlndynubiun G< [Nl

37200 1 37.2
33691400/578 phupwlwl wgnuwiynyetp (nbwgbunttbn) pugqiwlndynibun Q< Inwiljugd 8 0.0
33691400/579 phupwlwl wgnuwunpbp (nhwgbtnbbn) pugquulndynibun Q< Inwywgd 115000 4 460.0
33691400/580 phihwlwt wanwiynietn (hhwgbuntbn) pugdwlndynubun G< (nuwilpuga 1 0.0

3 0.0

33691400/581 phuhwluwt wgnwtyniptn (nbwgbunubng pugiwyndynublun QL [nwljugd

53000 1 53.0
33691400/582 phihwlwt wanwtyniptn (nBwgbnubn) pugqdwyndwnubun QL Inwlugy 1 0.0
33691400/583 phupwlwt warwtympbp (nbwgbtnlbp) puquwndynubun < [nwluqd 1 0.0
33691400/584 phupwlywit warptympbp (nbwgbtnlbp) pugduyndynuBun QL [nwlugd 10 0.0
33691400/585 phupwwt worwbynietp (nbwgknubp) pugquuyndynubun QL Inwlgd 446000 4 1784.0
33691400/586 phipwlwt wnwyniebp (nbwgbinubn) puqdwlndynubun 9L [nwlugd 189000 1 189.0
33691400/587 phipwlwt wanwbynipbp (nbwgbtnlbn) pugdwyndynubn QL Inwlwgd 145000 1 145.0
33691400/588 phupwlwy wanwunpln (nbwgbUntbn) pwquwlndynubun qL [nwluqy 145000 1 145.0
33691400/589 phupwlwt wonwunipbn (nbugbunbn) pugdwynduynubin q< |nwlwqd 1 0.0
33691400/590 phupwlwt wgrwnipbp (nbwgbunlbn) puqiwyndynutitin q< gy 141000 1 141.0
33691400/591 phihwlwl wanwnysbn (nbwgbunubn) puquwndynutiun QL Inwiljugd 150000 1 150.0
33691400/592 phuhwlwy wonwnipln (nbwgblnubn) pwgqiwyndunubn qc Inwlwqy 205000 1 205.0
33691400/593 phupwlwt wanwymphbp (nbwgbunubn) puqiwlndwynttiun q< [nwljugy 180000 1 180.0
33691400/594 phupwlwl wanuwnyabp (nbwgbunubin) puqdwlndwntititn L Inwlwgd 341000 10 3410.0
33691400/595 phuhwlwl wgruynyebip (nhwgbinubn) puqiwlndynubiun q< (nwlwqu 290000 2 580.0
33691400/596 phupwlwl wgnwunyetip (nbwgbuntbp) pugdwlndyntiun QL Inwlwqy 33800 50 1690.0
33691400/597 phipwlwl wanwiynyabp (nEwgblntbp) pugluyndynubun Qg Inwlywqd 32500 2 65.0
33691400/598 phupwlyw wanwiynipbp (nEwgblnbbip) puguulyndynubun QL [wiljuug 88000 2 176.0
33691400/599 phupwlwt worwlynipbp (nbwgbunlbp) pugdulyniynubun Qg [nwiwgd 32500 2 65.0
33691423/502 mennwmnp wqnuwiynyetip (nbwgbuwnubp) pwgdwlynduntbn q< (nwbjugd 36852 14 515.9
33691423/503 |wpnpwwnnp wanuwtynetp (nbwgbunttip) puqiwlndynubun QL [nljugy 40935 16 655.0
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33691423/504 |wpnpwwnnp wqmutynipbp (nbwgbtntibp) pugiwlnduynbon QL [puwilpusgd 71400 20 1428.0
33691423/505 |wpnpwinnp wanwtynyebp (nbwgblnbp) pugqdwlynduynubun QL Inwlwgd 91188 18 1641.4
33691423/506 |wpnpwinnp wgnwtyniypbp (nbwgbnbn) pugiwynduynubln < Inwlgy 76500 24 1836.0
33691423/507 (wpnpwwnp wanwgnptp (nbwgblnttn) pugquulndynublin G< nwlwgqd 121992 24 2927.8
33691423/508 |wpnpwwnnp warpwtynyebin (nbwgbtnubn) puqiwyndwnubun Qg [nwljuqy 44000 2 88.0
33691423/509 (wpnpwwnnp warwynetn (nbwgbunttp) pwqdwlndynubun 9 [nwiljgqd 30000 5 150.0
33691423/510 |wpnpwwnnp wqnwtynyehn (nbwgblnubp) puqdwlyndwynubun Q< [nwljugy 255000 7 1785.0
33691423/511 |wpnpwwnnp warwtynietp (nEwgblntbp) pugdwyndynubun G [nwiljugd 140000 7 980.0
33691423/512 (wpnpwwnp wqrwtympbp (nbwgbtntibp) pugqdwlnduyntbn < |nwlgd 140000 5 700.0
33691423/513 |wpnpwwnnp wgnwtynetp (nEwgbtntitip) pwgdwlndyntbun G< [l 85000 3 255.0
33691423/514 |wpnpwwnp warwbynebp (nbwgbtntibp) pugdulndunubln L Inwlwuqd 265000 3 795.0
33691423/515 |wpnpwwnnp wanunpbp (nbwgblntbp) pugdwynduynublom qL (nuubjwgd 260000 16 4160.0
33691423/516 |wpnpwwnp wanwunyebp (nbwgblnbbn) pugqdwyndwynublun 9L Inwlugd 189000 24 4536.0
33691423/517 |wpnpwinnp wanwniebn (nbwgbnubp) pugqdwyndwynubun 9L Inwlwqd 345000 8 2760.0
33691423/518 |wpnpwinnp wanwtniebp (nGwgbtnubn) pugqdwyndwynubun Qg Inwlwgd 85000 3 255.0
33691423/519 |Wpnpwwnnp wgnwnipbp (nGwgblnubnp) pugdwlyndwynubun < Inwluqd 590000 5 2950.0
33691423/520 |wpnpwinnp warpwunipbp (nbwgbunubn) puqiwlndwynubun 9 (pwljwgd 93000 3 279.0
33691423/521 |wpnpwinnp wgnwuniebn (nbwgbnutn) puqiwyndwnutun Q< [nwlwagd 150000 4 600.0
33691423/522 (wpnpwnnp wanuunyetin (nbwgbnbtn) puguwymniynubtin Q< [l 627000 20 12540.0
33691423/523 |wpnpwnnp wgnwnebp (nbwgbuntibp) pugdwlndyntbln Q< Inwlwad 300000 4 1200.0
33691423/524 (Wpnpwwnnp wanuwnpbn (nEwgblnbbp) pugdwlndynubun 9L [nwluagd 258000 6 1548.0
33691423/525 |wpnpwnnp wgnuwniplp (nbwgbuntitip) pugdwlnduyntbn Qg [nwljwgd 890000 4 3560.0
33691423/526 (wpnpwwnnp wanuwynetp (nbwgbluntibip) pugdwlnduyntbun QL Inwlugd 445000 5 2225.0
33691423/527 (wpnpwwnnp wanuwtynebp (nbwgblntbp) pugduynduynubun 9L (nwluqy 225000 1 225.0
33691423/528 [WRnpWnp Wwanwiynatp (nbwgbtntibp) pugduyndynubun Q< Inwlwqy 215000 3 645.0
33691423/529 (wpnpwwnnp waruwiynptp (nbwgblntibip) pugduyndwnubln 4L nwljugd 122298 1 122.3
33691423/530 (wpnpwwnnp warpwtynebp (nBwgblntbip) puguwyndwynubun q< nuljugy 108528 2 2071
33691423/531 (wpnpwwnp warwtympbp (nbwgblnbtbp) pugquulyndynubun q< by 1800000 1 1800.0
24311129/501 quiwqu wiopquitiwlywt phdhulut Yniatp 9< gpuwd 20 1000 20.0
24311129/502 quilwgquwl wbopquitiwlw phupwlwl Unyatin < qpud 90 160 14.4
24311129/503 quiwqul wlopguiwlwy phuhwlul Yniyebip L gl 15000 20 300.0
33691160/573 phuhwlwl wgnwynipbp (nbwqtitnubp) L hwin 45900 80 3672.0
33691160/574 phuhwljwl wgnuynyabp (nbwgbunubp) q< hwwn 151200 20 3024.0
33691160/575 phufwlwb wgnwiynuyatip (niwgbuntting < hwin 30240 20 604.8
33691160/576 phihwlul wqnwlynyebp (nbwgbunttpn) qc hwn 129600 20 2592.0
33691160/577 phuhwlut wqnulbynuetp (nbughlnttp) q< hun 45900 140 6426.0
33691160/578 phupwhwl wgnwunptp (nbwgtiinutin) GL huin 22100 100 2210.0
33691160/579 phubwlwu wgnuwuniptp (nbwgbuwubn) QL hwn 22000 10 220.0
33691160/580 phupwlw wonwlyniptp (nbwgliunttip) G huatn 21600 100 2160.0
33691160/583 phuhwlwl wanwlnyatip (nbiwghtinlbp) QL hiuwn 12996 15 194.9
33691160/584 phuhwlwy wqnulynyabip (nbwgbtinlbn) QL hwn 340 30 10.2
33691160/585 phuhwlut wanwlynyatip (nbwgblnutin) qc huwtn 44700 40 1788.0
33691160/586 phuhwljwl wqnwbjnyetip (nbwgbtinlbp) G< hwin 76400 40 3056.0
33691160/587 phuihwljwt wgnuwunipbp (nbwgbunubp) 9L hwn 44500 20 890.0
33691160/588 phupwlwt wgnwlynipbp (nbwgblntbp) QL hwin 39200 10 392.0
33691160/589 phuhwljut wqnuyniphp (nbwgbunltp) q< huwin 42480 1 42.5
33691160/590 phuhwlwl wgnwjnyptin (nbwgblnubn) 9L hwin 248400 2 496.8
33691160/591 phuhwljwl wanwunypbp (nbwgblnubp) L huwitn 25920 30 777.6
33691160/592 phuhwlwt wanwlyniphp (nbwgblnltp) q< hwn 51840 3 155.5
33691160/594 phupwlwl wgnuwynipbp (nEwgbunutbp) 9< hwin 70000 2 140.0
33691160/595 phihwljuwl wgnulyniphp (nbiwgblnltn) q< hwn 762300 2 1524.6
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33691160/596 phupwlwl wgnuwunyesbp (nbwgblnubn) 9L huwin 59200 1 59.2
33691160/598 phuhwluw wanuwtynyetip (nhiwgblnttin) 4L hwwn 93000 45 4185.0
33691160/599 phuhwlwl wanuitynyetip (nbwgklntbn) QL huwiwn 54000 8 432.0
33691160/600 phuhwlwl wqnulynyatip (nbiwghtntbn < hwin 27000 156 4212.0
33691160/601 phuhwlwl wanuitynyetip (nbwgblnttin) QL hwwn 642000 2 1284.0
33691160/602 phuhwlwu wgnwlynyetip (nbwgtlinubn) G4 hwwn 184800 5 924.0
33691160/603 phuhwlul wanwlynyatin (nbughtintitin) g< hwwn 184800 5 924.0
33691160/604 phupwlwt wanuwiynyatp (nbwgbtnttn) < hwn 47345 30 1420.4
33691160/605 phipwlwi wqnuwynatp (nbwgbiuinubp) 4L hwwn 51561 25 1289.0
33691160/606 phuhwlwt wanwunetip (nbwgbntbn QL hwwn 51561 10 515.6
33691160/607 phuhwlui wgnwljnyatip (nbugblnltp) ac huin 212290 9 1910.6
33691160/608 phuhwlwl wgnuwiynyetip (nbiwgblnubng 4L hwwn 12155 2 24.3
33691160/609 phihwlwl wgnwunyatin (nbwgbnlbip) < hwiwn 67150 2 134.3
33691400/600 phupwlwt wanuwimpbp (nEwgblntbp) pwugdulndynubun Q< (g 162000 15 2430.0
33691400/601 phupwlwt warwtynipbp (nbwgbunbbip) pugiulyndyntbun < [nwljwqd 97200 15 1458.0
33691400/602 phuhwlwl wanuwiynpbp (nbwgbunbbp) pugiwlndwnibun QL (nuibjugu 486000 15 7290.0
33691400/603 phupwlwt wonwtympbp (nbwgbunubp) puguwyndynubun G [wljugd 270000 18 4860.0
33691400/604 phuhwljwt wonuwnietn (nbwgkUnlbn) pugdwndwnubun QL [nwljugd 129600 12 1555.2
33691400/607 phupwlwt wonuwmiphbp (nbwgbunlbn) pugdwyndwnubun L [nwljwau 25000 1 25.0
33691400/608 phupwlwt wonwbynyebp (nbwgbuntbn puguwyndwnubln QL [nuljgud 53040 1 53.0
33691400/609 phipwwt wanwnebp (nbwgbnubn) pugdwyndynttbln 9L Inwluqy 53040 1 53.0
33691400/610 phupwlwy wgnwynptp (nhwgbnubp) pugdwlniyntibiuin a< nwlwgd 53040 1 53.0
33691400/61 phupwlwl wgnwuynetp (ntwgbuumutbn) pugdwlndwnubn GL Inwlwqu 50000 4 200.0
33691400/612 phuhwlwl wgnubnyebip (nhwgbunubn) puqiwlnduntibun Qg Inwlwqu 36000 4 144.0
33691400/613 phipwywt wanuwiynptn (nEwgblntbip) pugduyndynubun QL nwljuwgd 387000 2 774.0
33691400/614 phupwywt wanwtymptp (nbwgbklntbp) pugiuyndynubun L [nwlugd 78000 4 312.0
33691400/615 phupwlwt wgrwlymptp (nBwgblntbn) pugqdwyndynubun QL UG 78000 4 312.0
33691400/616 phdhwlwu wanwunipbn (nbwgbnutng pwqdwyndyntbln 9< Inwiljlugu 114000 4 456.0
33691400/617 phupwlwl wanwiynipbp (nBwgbunutin) puqiwndyntbn 9< Inwlwqd 114000 4 456.0
33691400/618 phihwlwl wanwymphbp (nbwgbunubn) puquiwlnduntitun q< [nuwljugd 240000 3 720.0
33691400/619 phuhwlwl wgnuyniebn (nbwgbunubp) pugdwlniyntbun 9L Inwlugy 600000 1 600.0
33691400/620 phuhwlwl wanwiynebp (nbwgbunutp) pugiwlnduyntbun 9< Inwljuqy 270000 3 810.0
33691400/621 phipwlwl wgnwiynpbp (nbwgbuntibp) pugduwynduynubn G< [nwlwgd 210000 1 210.0
33691400/622 phipwlwl wqnwynyabip (nbwgbtntibp) pugdulyndynubn QL [nwljuqu 16500 1 16.5
33691400/623 phipwywt wonwiympbp (nbwgbunutp) pugqiuyndynubin QL [T e 51000 1 51.0
33691400/624 phuhwlwl wqnuwiyniplip (nbwgbunbbn) pugdwlnduntbn, QL [nwljuwgud 73920 3 221.8
33691400/625 phupwyw wonwiynieptp (nbwgbuntbn) puguwlndynubun q< (bl 85000 1 85.0
33691410/503 phuhwlwl wgnuiyniphbp (nwqbunutp) hbnnd QL {hunp 19900 7 139.3
33691410/504 phupwlw wgnwunplip (nbwgblnubip) hinnly 4L huip 1780 10 17.8
33691410/505 phuhwlwl wgnuiynyebp (nbwgblnubp) hnnty G< thuip 2500 2 5.0
33691410/506 phihwywl wanwynyebp (nbwqklnutp) hinny QL hup 3500 1 3.5
33691410/508 phuhwlw wanwiynystp (nbwgblntbin) hinnly < (hwp 1698 10 17.0
33691160/501 phupwhwt wanwuniphp (ntwgqbiinubn) QL hwuwn 170100 1 170.1
33691160/502 phuhwlwt wgnwtynyetip (nbwgblnubp) QL hwn 105900 7 741.3
33691160/503 phupwlwl wonuwyniptp (nGwgbtnuting G< hwwn 708000 2 1416.0
33691160/504 phubwlwl wanuynpbip (nbwgblntbp) QL huin 147800 2 295.6
33691160/610 phuhwlwl wanwlynyetip (nbwghlntbin) qc huwin 162000 5 810.0
33691160/611 phuhwljwl wqnwbjnyplip (nbwgblinlibn) S huiwn 205400 3 616.2
33691160/612 phupwlwl wgnuwlymnipbp (nbwgbuntibp) L huwtn 141000 3 423.0
33691160/613 phuhwlwy wqnwljnyplin (nbwgbunlbn) 9 hwn 18000 4 72.0
33691160/614 phihwlwl wanuilynyatip (nbwqtnltn) q< hwwn 220000 12 2640.0
33691160/615 phuhwlwt wqnuijniptip (nbwgblnutin) G hwwn 39000 40 1560.0
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33691160/616 phuhwlwl wgnubnietip (nwgblnubn) Q<L hwwn 225000 4 900.0
33691160/617 phuhwlwl wgnwnyetip (nGwgblnubp) Q<L hwin 36000 20 720.0
33691160/618 phupwlwl wgnwynietip (ntiwghnutin) G hun 137700 1 137.7
33691160/619 phuhwlwl wgnwniptip (nbwgknlbn) QL hwin 60000 3 180.0
33691160/620 phuhwlwl wqnwjnyptip (nbwgbtinlitn) 9< huwwn 60000 3 180.0
33691160/621 phubwywl wgnwjniptip (nbwqblnubp) 9L huin 495000 3 1485.0
33691160/622 phuhwljwl wgnwlynyatip (nbwgblwlbp) GC huwin 480000 2 960.0
33691160/623 phupwlwl wanwiynyebn (nbwgbnubp) GL hun 415000 2 830.0
33691160/624 phupwlwl wgnwunyehbp (nbwgbunubp) GL huwin 414000 2 828.0
33691160/625 phuhwlwl wgnwlynyabip (nbiwgbtnltin) q< hwin 414000 2 828.0
33691160/626 phupwlwl wanwunysbp (nbwgbnubip) QL hwin 415000 2 830.0
33691160/627 phuhwljut wgnulniphp (nbwgblnbtn) q< huwin 485000 2 970.0
33691160/628 phipwlwl wgnwyniplp (nbwgbiuinutip) 9L hwin 415000 2 830.0
33691160/629 phuhlwy wenwljnyatn (nbwgblinltip) < hwin 415000 2 830.0
33691160/630 phihwlw wanuwunpbp (nbwgbunbbp) 9L hwin 415000 2 830.0
33691160/631 phihwlwl wanwiynyabp (nbwgblnubn) 9L hwin 525000 2 1050.0
33691160/632 phipwlwl wqnwynyabip (nbwgbiunibn) 9L hwiwn 485000 2 970.0
33691160/633 phupwlywl wgnwuynysbp (nbwgbunubip) GL huwiwn 415000 2 830.0
33691160/634 phdpwlwl wgnuunyetp (nGwgbiunutip) QL hwn 415000 2 830.0
33691160/635 phupwlwl wanuwiynyebp (nbwgbinttip) < hwin 445000 2 890.0
33691160/636 phuhwlwl wanwbynyebip (nbugblnlibin) qc huin 415000 2 830.0
33691160/637 phupwlwl wgnuwtynptp (nbwglilinttp) GL huwin 54000 8 432.0
33691160/638 ppupwlwt wanuwynpbp (nbwgblintibip) Q< huwn 165600 2 331.2
33691160/639 phuhwlwb wgnuyniphbp (nbuwgbiinlbn) G< hun 13000 8 104.0
33691160/640 phuhuilwl wqnwlynipbn {(nbwgblunlbp) qc huwtn 66000 2 132.0
33691160/641 phipwlwt wanwiynuetp (nbwghtintbn) G hiun 22500 12 270.0
33691160/642 phubwljwl wgnwiynyelip (nbwgblnlbn) QL hwn 55000 2 110.0
33691160/643 phpwlwli wanwlynyebip (nbwgbitinubn) < hwn 152200 7 1065.4
33691160/644 phupwywl wgnwuynyatp (nbwgbuuubip) 9L hwn 490000 1 490.0
33691160/645 phipwlwi wgnuiynebin (nbwgblinbp) 9L hwwn 410000 1 410.0
33691160/646 phithwlwt wgnuwiynyekip (nbwgblnubp) 9L hwiwn 410000 1 410.0
33691160/647 phuhwywl wanwlnyebp (nbughlnlitin) q< huwut 410000 1 410.0
33691160/648 phupwlywl wqnwlynystip (nbwgllinltin) q< huin 410000 1 410.0
33691160/649 phupwlwt wonwiympbp (nGwgbiinbbp) G< hww 410000 1 410.0
33691160/650 phupwlwlt wgrwtynetp (nbwgbntbip) QL huwn 15000 12 180.0
33691160/651 phuhwluwt wgnuwtynyetip (nwgtlntbn) 9L hiuwn 15000 12 180.0
33691160/652 phuhuwljwy wqnwyniptn (nbwghtntbp L hiuwn 120000 3 360.0
33691160/654 phdpwlwl wgnwnuetip (nbwgblnubp) QL hwn 18400 6 110.4
33691160/655 phupuliut wanwiyniptp (nbwgbunutin) qc huwwn 30000 3 90.0
33691160/663 phuhwlwl wgnwljnipbn (nbwgblunltn) qL hwwn 360000 6 2160.0
33691160/664 phupwlwt wanwiynyebp (nbwgbunbp) qL hwwn 86600 1 86.6
33691160/665 phuhwljwl wgnwnyebp (nbwgknbp) QL huin 90000 1 90.0
33691162/501 jwpnpwwnnp warwbyngebp (nbwgbuntbn) 4L hww 143100 3 429.3
33691162/502 (wpnpuinnp warwbynietip (nbwgbunttn) 9L hwn 114000 3 342.0
33691162/503 pwpnpwnnp wonwniptip (nbwgblntbin} GL huin 124200 3 372.6
33691162/504 jwpnpwinnp wynuwgniehp (nbwgbuntbin QL hwiwn 435000 10 4350.0
33691162/505 jwpnpwinnp wgnwgniphp (nbwgbunubng 9L huwwn 183600 10 1836.0
33691162/506 (wpnpwnnp wonwbynystip (nbwqb'ﬂmhhn) QL hwn 42600 3 127.8
33691162/507 (wpnpwwnnp wanuwiynyebp (nbiwgbunuitn) QL hwwn 39200 4 156.8
33691162/508 (wpnpwnnp wgnuwiynabp (nGwgblnubip) G< hun 684000 10 6840.0
33691162/509 |wpnpwwinp wanwiynystip (nbwgbiunubp) Q<L huwwn 190400 4 761.6
33691162/510 wipnpwwinp warwynatip (nGwgtlntiting < huwn 699000 3 2097.0
33691162/511 wipnpwwnnp wanuwlynebip (nBwgblntbip) QL hwun 699000 3 2097.0
33691162/512 (wpnpwwnp warwiynietp (nbwgblntbip) GL hwin 300000 3 900.0
33691162/513 |wpnpnnp worwtyngetip (nbwgbintibp) 9L hwin 199800 10 1998.0
33691162/514 (wpnpuwitinp wgnunyetip (nbwgbunbn) L hwwn 197100 2 394.2
33691162/515 |wpnpwinnp wgrwtnyekp (nbwgbiunbp) QL hwwn 174800 1 174.8
33691162/516 |{wpnpwinnp worpwbgnigebp (nbwgblntbp) < hwwn 143100 6 858.6
33691162/517 jwpnpnnp wonwgnipbp (nliwgbuntting QL hwin 206600 3 619.8
33691162/518 Jwpnpwinnp wgnuwitgniphip (niwgbunutbng QL hwtn 108350 8 866.8
33691162/519 \wpnpwinnp wanwuniphp (ntwgbinubin) L huwn 180900 4 723.6
33691162/520 |wpnpwnnp wanuwiyniabip (nGwgtlntbip) L hwwn 52000 2 104.0
33691162/521 (wpnpwnnp wgnuwiynatip (nGwgtlnttin) 9L huwitn 330000 2 660.0
33691162/522 |wpnpwinnp wanuwtyniphip (nBwgbbnlbip} L huwwn 190400 6 1142.4
33691162/523 (wpnpwuinp wanwyniptp (nBwgblnttin) SGL hwwn 126000 6 756.0
33691162/524 Jwpnpwwnp wanwlynetp (nbwgbuntibin) 9L hwwn 193800 8 1550.4
33691162/525 Jwpnpwunnp wgnwbnyebip (nbwgblnbibn) ag hwin 206600 6 1239.6
33691162/526 (wpnpwnnp wgruwlgniphp (nfwgbunbibin GL huwiwn 130900 6 785.4
33691162/527 (wpnpwwnp wgrwbniphbip (nbwgbunubing < hwwn 197100 5 985.5
33691162/528 |wpnpwnnp wgnwynipbp (nbwgbiuinutip) QL huin 189000 3 567.0
33691162/529 [wpnpwnnp wqnwnyabp (pwgblnltin < huin 143100 10 1431.0
33691162/530 [wpnpwinnp wgnuwbniabip (nbwgblnttp) < hwin 128900 2 257.8
33691162/531 |wpnpwnnp wgnuwiynipbp (nbwgbunutip) QL hwin 345000 10 3450.0
33691162/532 [wpnpwwnnp wgnwbnptip (nEwgbnttipg QL hwin 136400 10 1364.0
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33691162/533 (wpnpuwwnp wanwyniptp (nGwgblntbip) 9L hwtn 124200 10 1242.0
32691162/534 (wpnpwwnp wanwtynetp (nBwgblntbip) 9L hwtn 155900 10 1559.0
33691162/535 wpnpwuinp wanwbynietp (nbwgblntibip) < huwtn 138000 16 2208.0
33691162/536 wipnpwwninp wanwlyniptp (nbwgblntbip) 9L hwin 39200 10 392.0
33691162/537 wpnpwwnp wanwyniebp (nbwgblnlbip) 9< hwiwn 540000 2 1080.0
33691162/538 wpnpwwnnp wanwnetip (nbwgbuwntbp) < hwin 141800 2 283.6
33691162/539 wipnpuwitnnp wanwyngptin (nbwgblnbp) S< hwwn 145000 8 1160.0
33691162/540 jwpnpwuinp warwlynigebn (nbwgblntbp) 9< hwin 111400 8 891.2
33691162/541 jwpnpuinnp wgubnybip (nbwgblnbbn) G< hww 187700 8 1501.6
33691162/542 (wpnpwinnp wonwgniptip (nbwgbunutipg G< hwin 147200 8 1177.6
33691162/543 |wpnpiuwnnp worwyniebp (nbwgbuntbp) qL hww 144000 8 1152.0
33691162/544 (wpnpwiinnp wanubniphp (nbwgblnutip) Q< hwn 168000 5 840.0
33691162/545 {wpnpwnnp wanwuniphp (nbwgbUnubn) Q< huwn 157900 5 789.5
33691162/546 {wpnpwinnp wnwynipbp (nbwgbuntbp) &< huwiwn 126000 3 378.0
33691162/547 (wpnpwnnp wanwiynyabp (nbwgbnubp) 9L huin 111000 12 1332.0
33691162/573 |wipnpwnnp wanwnyebip (nbwgbunubp) G huwn 178200 ] 891.0
33691162/574 |wpnpwnnp wanwtyniptip (nbwgbuwnubn) L huwn 150000 8 1200.0
33691162/575 jwipnpwunp wgnwlynystip (nbwgbnbibp) his huun 159900 2 319.8
33691162/580 (wipnpwnnp waqnuwiynietp (nbwgbitinttip) < huun 58000 3 174.0
33691162/654 (wpnpuwwnp wanwtympbp (nbwgblnlibin) 9< hun 64000 3 192.0
33691162/666 |wpnpwnnp wgnutynipbp (hBwgbbnlbp) GL hwin 155800 3 467.7
33691162/713 jwpnpuwinnp wgnwinupbip (nGwgbbnubp) < hwin 148500 3 445.5
33691400/501 phipwlwl wgnuwiynebp (nbwgblntbip) pugdwlnduyntbun qL Inwljwgy 174000 4 696.0
33691400/502 phipwywi wanwnptp (nEwgbintitip) pugdwindwnubun 9L Inwilwgd 85000 3 255.0
33691400/503 phuhwlwt waruwlynyebp (nGwgtlntbn) pwqdwlndyntbn 9L (g 195000 2 390.0
33691420/501 |wpnpwinnp wanwbnipbp (nhwgbunubp) puqdwlnduwnttiun q< [nwiljug 525000 8 4200.0
33691420/502 [WRnpwwnnp wanuwtnipbn {nhu.nﬁhtnm‘uhp} piguiwlndwntbum G< Inwlugd 525000 4 2100.0
33691420/503 [Wwpnpwnnp warwyniptp (nbwgbtntibp) pugduyndynubun qL inwljugy 148700 460 68402.0
33691420/504 |{wphpwinnp wanwnebp (nbwgbunubn) pugqdwlndwynubUn G< (nwljwqd 46080 400 18432.0
33691420/505 Jwpnpwinnp warubnebn (nbwgbintbn) puquwndwnutitivy QL [nwlugd 240000 5 1200.0
33691420/506 [wpnpwwnnp wanwiynetn (nbwgbtnttp) pwgiwlndynubun Q< [nwlugd 100000 1 100.0
33691420/507 (wpnpwnnp wanwynitp (nbwgbntbp) pugwlinduntbln QL (puljugy 114000 1 114.0
33691420/508 lwpnpwwnnp worwbyniebp (nbwghlunttn) pugduyndynubiin L Ihwljwgd 210000 8 1680.0
33691420/509 (wpnpwwnnp wanwnipbn (nbwgbtntbn pugqiwlndwnubun L [nwlwqy 240000 7 1680.0
33691420/510 [wpnpuwinnp wanwbgnebn (nbwgbuntbn) puguwlndynubun Q< inwluqy 66000 1 66.0
33691420/511 wpnpwinnp wanwinptn (nbwgbuntbp) puquwynduntbun Qg [nwlwgd 416667 3 1250.0
33691420/512 (wpnpwnnp wqnunypbp (nbwgblnttp) puqdwiniwntbbn G |nwiljuqd 416667 3 1250.0
33691420/513 {wpnpwwnnp wqrwjnyabip (nbwgblnbp) puqiwinduntbio q< [nwljuqy 288000 1 288.0
33691420/514 (wpnpwwnnp wgnwngpbp (nbwgblntbp) pugquwindwntbln qc Inwljuqy 61200 5 306.0
33691420/515 (wpnpwinnp wanwnipkn (nbwgbunubn) pugquwlnduynibun q< Inwluugd 61200 5 306.0
33691420/516 |wpnpwinnp warwnyebn (nbwgbtnutn) puquiwlniynubun Q< Inwlwgd 61200 5 306.0
33691420/517 pupnpwwnnp wanwiygniptn (nbwgbuitp) pugduindunubn Q< (nwbugd 36800 5 184.0
33691420/518 (wpnpwinnp wgnuwynietn (nbwgbtntbp) pugiwlndyntbto 9L (nwluqy 540000 2 1080.0
33691420/520 (wpnpuinnp warnwynuetn (nbwghtinttn) pugdulndyntbln q< [nwlwqu 26000 5 130.0
33691420/521 (wipnpuwnnp wenwnipbn (nbwgblnutn) pwadwinduntibtin Q< [nwljugd 397500 4 1590.0
33691420/522 [wpnpwnnp wqnwynyatp (nhwgbunutn) puguwlniyntbn Q< [nwljugd 360000 1 360.0
33691420/706 (wpnpwwnp wanwyniptn (nbwghtinutn) pugdwlndwntbun < Inwlwqy 330400 1 330.4
33141211/501 pdoljwlwiu wy gnpdhpubip — wwipwqubp QL hwtn 582 12 7.0
33141223/506 pdalpwlwt wyy gnpdhputip — wwnwgwbn pugdwyndwnubiin Q< Inwlwgy 51000 15 765.0
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33141223/507 pdalywlwt wy gnpdhpubin — wwpwguwbp pugiuyniynubun Q< (nwijugd 25999.5 4 103.998
33191310/503 thnpdwlnpubp < hwin 116.667 12000 1400.0
33211140/501 Phihnnipht Bilirubin /Cunhwbnp — minhn phihnniphtuh npngdwt ac _— 20.28 6000 1917
phup-hwdwpwdnt
33211150/501 Uhquinie Urea-Col/Uhquitynysh npnguwt phup-hwwywpwsnt < huwin 21.3 5000 106.5
33211160/501 Sl EREA-Gol MplauntUnbh rRbgi: pae- ac huwin 9.57 5000 47.9
hwwpwént
33211230/501 I-Syuinpnks KPR CARSON [OpRRdl ozt e a¢ hun 109.375 12480 1365.0
hwywpwény
33211320/502 Shupinpin B Sppruy winhe U ey il b 9¢ huwtn 105 9600 1008.0
rhup-hwlwpwdnt
33211321/501 Sowouthon. £ il sl B nfwilataou hiupnbapGRiY 9< huitn 97.88 9600 939.6
rhup-hulwpwént
33211321/502 <hujumpii C dpruy winpgbah pwlulpichupnbuplndlts | g hwin 105.36 8000 842.9
phup-hwywpwdnt
33691160/666 @dhwqwh wqnuwynipbp (nbwgblntiin) Q< hwn 12.6 2000 25.2
33691160/667 phdpwlw wanwynipbp (nbwgblntbp) G hwn 18.0 30000 540.0
33691160/668 phupwlw wapuwtynipbp (nbwgblnltip) G huwin 178.2 1000 178.2
33691160/669 phdhwljwt wgnwiyniptip (nbwgblnbn) <L hiwn 18.0 5000 90.0
33691160/670 phupwlw wygnwlyniabp (nbwgblwnttip) G hiuwn 26.4 1400 37.0
33691160/672 phuhwluwil wanwlyniplip (nbwgbntbp) QL huswn 7.536 3000 22.6
33691160/673 phihwljwt wqnuunipbp (nbwgbuntbp) QL huwin 8.76 2000 17.5
33691160/675 phuhwlwl wgnwiynyebp (nbwgbunubn) 9L hwn 33 800 26.4
33691160/676 phihwlwy wgnwuniptp (nbwgbnubn) G huwin 26.4 1400 37.0
33691160/677 phubwlwl wgnwiyniplp (nbwgklnubn) 9L hwun 26.4 1000 26.4
33691160/678 phuhwluwt wanuwinyabin (nbwgblnltp) q< huwin 19.68 20000 393.6
33691160/679 phupwlwl wgnwiynysbp (nbwgbiunubip) QL hwn 83.28 15000 1249.2
33691160/680 phipwlw wgnwynyebp (nbiwgbnubp) G< hwn 345 192 66.2
33691160/681 phupwlwl wanwunysbp (nbwgblntbip) 9L hwwn 345 192 66.2
33691160/682 phupwlwl wgruwunyelp (nbwgbnubn) qL huwwn 393.75 960 378.0
33691160/683 phuhwluwl wanwiniphn (nbugkluntbn) 9< huwin 393.75 960 378.0
33691162/714 {wpnpwinhp wgnuwnyabip (nbwgbtnubp) G4 huun 155.13 9600 1489.2
33691162/715 \wpnpwnnp wonwnehp (nbwgbiinubn) G hiwn 1120 1152 1290.2
33691162/716 |wpnpuwnnp wanwunyebp (nbwgbuinubip) 9L huwwn 640 480 307.2
33691162/717 (wpnpwnnp wanuwiynyatip (nbwgbiinttip) QL hwun 640 480 307.2
33691162/718 |wanpuuinp wanwynysbp (nbwgblunltip} QL hwn 640 480 307.2
33691162/719 (wpnpwwnnp wqnuwiynatp (nGwgbintbip) QL hwin 153.75 5760 885.6
33691162/720 |wpnpwwnnp wanwiynyatin (nbwgbunbbp) < hwiwn 69.36 8000 554.9
33691162/721 |wanpwnnp wgnuwlynyebip (nbwgbntbin) 9L hwin 405.6 600 243.4
33691162/722 |wpnpwwnp wanuwtynipbp (nbwgbtntbn) 9L hwin 118 600 70.8
33691162/723 (wpnpwuinp wonwiymptp (nGwgblntbip) < hwn 33.84 1800 60.9
33691162/724 wpnpwwnp warwtyngebip (nbwgbnlitip) L hwin 1000 60 60.0
33691420/707 (wpnpwwnnp warwbgniebp (nbwgbunlbp) puguuwlndynubun ag [nwljwuqu 74000 25 1850.0
33691420/708 (wpnpuwnnp warpwbynipbp (nbwgbunlbn) pugdwlndynubun Qg [nwlwqy 62000 15 930.0
33691420/709 [wpnpwwhp wnwgnphbp (nbwgbunubn) pugiuwndynubln Q< gy 48000 150 7200.0
24311360/502 uwwnphnuwih pinphwn QL Lhingpusd 2 0.0
24321650/501 qihgbipp q< Uhingpuwd 0.1 0.0
33141211/524 pdolulwi wy) gnpdhplibip — wwpwigutitin SL hwwn 10 0.0
33141223/508 pdoljwiljwl wy) gnpdhpubp — wwpwgwubp puquwlniynutiin Q< [nwlywagd 2 0.0
33611430/501 uighnuwih jnnhn r05ca02, s01xa04, v03ab21 QL lhngpuwd 3 0.0
33691134/502 Luhnuih pinphny al2ba0i, b05xa01 qc hingpud 0.3 0.0
33691160/686 phupwlwy wqnwnysbp (nbwgbunlbp) QL hwn 1 0.0
33691160/687 phuhwljwt wgnuwnipbp (hbwgblunlbp) L hwtn 1 0.0
33691160/688 phupwlw wonwnysbp (nbwgblinubp) QL hwun 1 0.0
33691160/689 phupuljut wgnuwiynyplp (nbwgblnlbn) <L hwwn 1 0.0
33691160/690 phuhwlwl wgnwunyebp (nbwgblunubp) G4 hwin 1 0.0
33691162/725 wpnpuwwnp warwtyniebp (nbwgbintbip) QL hwwn 1 0.0
33691162/726 wpnpwwnnp warwlyngebip (nbwgGlntibp) Q< hwun 1 0.0
33691162/727 jwpnplunnp wgrwignebp (nbwgbuntbp) QL hwwn 2 0.0
33691162/728 jwpnpwitnnp wenwnpbp (nbwgbunubp) 9L hwiwn 1 0.0
33691162/729 [wpnpwnnp wgnuwyniplp (nbwgbunubn) G< huwin 2 0.0
33691162/730 [wpnpwwnnp wgnuwiynyebp (nbwgbilinubp) YL hwun 1 0.0
33691162/731 jwpnpwinnp wanwiynystip (nbwgbunbp) QL huwwn 1 0.0
33691162/732 jwpnpwiunp wanutnyebip (nhwgbiunttin) QL hwn 1 0.0
33691162/733 jwpnpwwnnp wanwtyngetip (nbwgbunibp) 9L hwwn 2 0.0
33691162/734 |wpnpwnnp wanubnipbp (nbwgbuntbn) L hwn 1 0.0
33691162/735 |wpnpuinnp wignutniphbp (nbwgbUnubn) L hwn 4 0.0
33691162/736 wphpwinnp wgnwunuebp (nbwgblntbn) QL hwwn 1 0.0
33691162/737 jwpnplinnp worwbynetip (nBwgblntbpg QL hwwn 1 0.0
33691162/738 jwphpuitnnp wgnuniphp (nbwgblnutp) L hwwn 1 0.0
33691162/738 jwphpwinnp wqruunehbp (nbwgblnbn) q< huwtn 1 0.0
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33691162/740 |wpnpwnnp wgnwtnipbp (nBwgblnbnp) L hwwn 2 0.0
33691162/741 jwpnpuwunnn wgrwtnystin (nbwgblnubn) 9L huin 2 0.0
33691162/742 jwpnpwnnp wgnwtgnipbp (nbwgblntbp) QL hwn 1 0.0
33691162/743 |wpnpwunnp wanuwtynipbp (nbwgbbnlbn) QL hwwn 1 0.0
33691162/744 |wpnpwinnp wanwiynipbp (nbwgbUnbp) QL hwwn 1 0.0
33691162/745 (wpnpuwunnp wgrwtynyetin (nbwgbunbn) L hwwn 1 0.0
33691162/746 (wpnpwuinp wanwyniebp (nbwgbbnbtn) 9L huw 1 0.0
33691162/747 |wpnpwwnnp warwiynietp (nbwgbunbibip) 9 huwtn 3 0.0
33691162/748 |wpnpwwnnp wgnwtnyekp (nbwgbtntbp) GL hwn 1 0.0
33691162/749 \WpnpWwnnp wwtyngalp (nbwgblunubp) 9L hwin 1 0.0
33691162/750 |wpnpwinnp wgnwtnebp (nbwgbbntbp) L hwin 1 0.0
33691162/751 jwpnpwinnp wgnunehbp (nbwgbbinbbn) L hwin 1 0.0
33691162/752 Jwpnpwinnp wgnwunipbp (nbwgbUnbn) L hwin 1 0.0
33691162/753 |wpnpwitnnp wgnwuniehbp (nbwgblnbp) QL hwn ] 0.0
33691162/754 jwpnpwinnp worwlyniebp (nbwgbuntibin) < huwin 2 0.0
33691162/755 jwpnpwinnp wqnwtjngebp (nbwgbtnubp) QL hwun 2 0.0
33691162/756 {wpnpwwnnp wynwtynyetp (nbwgbunubp) 9< hwin 1 0.0
33691162/759 jwpnpuiwng wgnwtynyatip (nbwgbnbp) < hwin 1 0.0
33691162/760 wpnpuinnp wgnwnipbp (nbwghiuntbn) 9L hwtn 1 0.0
33691162/761 |wpnpwinnp wgrutniehp (nbwgblnbp) 4L hwwn 1 0.0
33691162/762 |wpnpuwiwnnp wynwtyngabip (nbwgbunubp) G< hwin 1 0.0
33691162/763 jwpnpwnnp wanwtgnyebp (nbwgbnbp) 9L hwwn 1 0.0
33691162/764 {wpnpwnnp wenwinyatip (nbwgbtinubp) 9L hwin 2 0.0
33691162/766 |wpnpwitnnp wgnwuniphp (nbwgblnubp) QL huwwn 1 0.0
33691162/767 jwpnpwinnp wgnwunipbp (nbwgbunubn) <L huwin 1 0.0
33691162/768 |wpnpuinnp wgnuunyebp (nbwgbunubp) G< hwwn 1 0.0
33691162/769 Jwpnpwinnp wonwuniehkp (nbwgblntbip) QL huiwn 1 0.0
33691162/770 Jwpnpwitnnp wqnwuniehbp (nbwgblnbip) Q< huwwn 1 0.0
33691162/771 Jwpnpwiwnnp wgnupnabp (nbwgbunubp) QL huuwn 2 0.0
33691162/772 |Wpnpwinnp wgnwuniphp (nbwgbunubip) QL hwiwn 3 0.0
33691162/773 {wpnpwnnp wgnwupniphp (nbwgblnubn) QL hwin 2 0.0
33691162/774 wpnpwnnn wgruwtyniebp (nbwgbUntbp) Q< hwn 1 0.0
33691162/775 |wpnpwwnp wanwiynystip (nbwgblnutbip) Q< huin 1 0.0
33691400/504 phupwlwl worwtynietbp (nbwgbtintbn) pugdwindwnubun QL [nwljugd 1 0.0
33691410/509 phihwlwy wgnwunyetbip (nbwgblnubp) hbnnly Q< {hinp 0.5 0.0
33691410/510 phihwljwt wgnwumpbp (nbwgbnubip) hannly QL [hup 0.1 0.0
33691410/511 phihwywt wgnwunyabp (nbwgblinubn) hinnly L hwp 20 0.0
33691410/512 phipwlwl wanwiynyebp (nbwgbunubip) hbnnly L hup 20 0.0
33691410/513 phupwlwl wanwljnysbp (nbwgblnutip) hbnniy a< hwp 1 0.0
33691411/503 phdhwlwl wanwiynyebp (nbwgbunubip) tngh Yud gpuungubip qL Yhingpwd 0.5 0.0
33691411/504 phihwlwl wgnwinyebn (nbwqbbnttn) tingh Ywd gpunyubp q< Yhingnwd 0.5 0.0
33691411/505 phuhwlwt wanwinyetn (nbwgbuwnutip) thngh Yud gpuitnyutp 9 Uhingnwd 0.5 0.0
33691411/506 phuhwlwl wgnuwnebp (nbwgblntbp) thngh Ywd gpwunyubp G< Yhingpwd 2 0.0
33691411/507 phuhwlwl wgnwiynetip (nbwgbuwmutn) thingh Ywd gputingubin G< Yhingpuwd 2 0.0
33691411/508 phipwyw wanwnyetn (nbwgblntibp) thngh Yud gpuitnyutp 9L Yhingpuwd 3 0.0
33691411/509 phipwywy wanwinetp (nbwgbtnbibp) thngh Yuwd gpuwtingubp G Yhingpuwd 30 0.0
33691411/510 phuhwlwt wanwtyniebp (nbwgbuntbng thngh Yud gputinguip Q< Yhingnwd 40 0.0
33691420/710 (wpnpwwnnp wanwiynetn (nbwgbunutn) pugiwlndwnubun QL (nwiljuig 1 0.0
33691420/711 [Wpnpwnnp warwnyabin (nbwgblnttp) pugdwiniuntbtn L nwiljugd 1 0.0
33691420/712 |wpnpwwnp warwlynetin (nEwgbunitip) pugiwyndynubiun qc [nwlgd 1 0.0
33691420/713 wpnpwwnnp warwtyniptn (nEwgblntbp) puglwynduynubun QL Inwlugd 1 0.0
33691420/714 lwpnpwwnnp warwnietbp (nbwgbunlbn pugiwyndwnubun 9L Inwljgd 30 0.0
33691420/715 |wpnpiutinnp warwniebp (nbwgbunlbn) puguwlndynubn 4L Inwlwgy 4 0.0
33691846/501 Uhunpnuwppny |hdnuwpepnt L Uhingpwd 0.5 0.0
33141211/534 ndolwiliw wy) gnpdhputip — wWwpwquitbn QL hwitn 5700 800 4560.0
33141211/535 pelwliwt wy gnpshpubp — wWwpwgquwbn L huwin 5700 800 4560.0
33141211/541 pdolwiljwt w) gnpdhpubip — wwpwgubnp q< hwin 5700 550 3135.0
33691160/692 phuhwlwl wgnuwunipbp (nbwgbuwntbp) < hwtn 600 120 72.0
33691160/693 phupwlwt wgnwiynipbp (nbwgblntbp) G< hwin 49800 5 249.0
33691160/694 phihwlul wqnulyniptp (nbwgblnutin) qc huitn 3400 2 6.8
33691160/695 phuihwlwt wqnwunipbp (nbwgbunubp) < huwin 48000 2 96.0
33691160/696 phihwlwl wgnwunipbp (nbwgblnbp) 9L hwin 58000 2 116.0
33691162/776 |wpnpwinnp wgnwtynipbp (nbwgbtntbp) Q<L hwn 16.8 1000 16.8
33691162/777 |wpnpwiwnnp wgnutgnipbp (nbwgbuntbp} A< hwun 16.8 1000 16.8
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33691162/778 (wpnpwinnp warpwbyngebp (nbwgbuntbp) S huwn 16.8 1000 16.8
33691162/779 |wpnpwnnp wgnwgniehp (pbwgblnutbn) G< huwn 16.8 1000 16.8
33691162/780 (wpnpuwinnp wgnwnyebp (nbwgbunubp) 4L huwn 16.8 1000 16.8
33691162/782 (wpnpwnnp wgnwyniebp (nbwgblnubp) L huwin 16.8 1000 16.8
33691162/784 [wpnpwinnp wanwiynyebp (nbwgbuntbp) Q< huwin 16.8 1000 16.8
33691162/785 [wpnpwwnnp wgnuwbyniebp (nbwgblnutp) G< hwuwn 16.8 1000 16.8
33691162/786 |wpnpwwnnp wgnwnystp (nwgbnubip) < hwin 16.8 1000 16.8
33691162/787 (wpnpwnnp wgnwiynipbp (nbwgblnubnp) G hwin 16.8 1000 16.8
33691162/788 |wpnpuwinnp wgnwnyebp (nbwgbunubp) < huwin 16.8 1000 16.8
33691162/790 |wpnpuwinnp wgnuwtynyebip (nbwgblntbp) GL huin 16.8 1000 16.8
33691162/791 jwpnpnnp wgnwiynyeshp (nbwgbuntbp) QL huin 16.8 1000 16.8
33691162/792 (wpnpwnnp wgrpulynyatip (nbwgblnubp) QL hwtn 16.8 1000 16.8
33691162/793 [wpnpwnnp wgnutynipbp (nbwgbunubnp) 9L huin 16.8 1000 16.8
33691162/794 [wpnpwwnp wanwujnyebp (nbwgbunutin) QL huwn 16.8 1000 16.8
33691162/798 |wipnpwinnp wgnwniebp (nbwgbinutip) 9L huuwn 16.8 1000 16.8
33691162/799 |wpnpwnnp wgnuwtynysbp (nbwgbwnubp) 9< huuwn 16.8 1000 16.8
33691162/800 jwpnpuwnnp wgnuwiyniebp (nbwgbiuntbp) QL huwin 16.8 1000 16.8
33691162/801 |wpnpwinnp wgnwiynyabin (nbwgblnubp) QL huin 16.8 1000 16.8
33691162/802 (wpnpwinnp wgrwtynuehip (nbwgbtunubp) G huwitn 16.8 1000 16.8
33691162/803 |wpnpwwnnp wgnutyniphp (nbwgbntbip) L hwiwn 16.8 1000 16.8
33691162/804 wpnpuwinnp wqrwiyniebin (nbwgbnubp) q< hwwn 16.8 1000 16.8
33691162/807 |wpnpwwnnp wgnwnipbip (nbwgbuntbp) QL hwn 16.8 1000 16.8
33691162/810 |wpnpwwnnp wgrpwtynyatip (nbwgbtnubp) L huwwn 16.8 1000 16.8
33691162/811 jwpnpuwiinp wgnwiyniehip (nbwgbiintbn) S< hwn 16.8 1000 16.8
33691162/813 jwpnpuinnp wgnuunyebp (nbwgbnubp) G hwn 16.8 1000 16.8
33691162/814 {wpnpuwinnp wgutnystip (nbwgbuwnubp) 9L hwiwn 16.8 1000 16.8
33691162/815 |Jwpnpwinnp wqnunyekp (nbwgblntbp) aL hwin 16.8 1000 16.8
33691162/816 {wpnpwinnp wanwuniehp (nbwgbunbip) QL hwwn 16.8 1000 16.8
33691162/817 jwpnpwinnp wgnwuniphp (nbwgbUnbp) < huwin 16.8 500 8.4

33691162/818 jwpnpwinnp wgnwniehbp (nbwgbUnbn) G< huin 16.8 1000 16.8
33691162/819 {wpnpwinnp wgnwupmphp (nbwgbuntin) QL hwwn 16.8 1000 16.8
33691162/820 (wpnpwitnnp wegnwnyebp (ntiwgbuwnubn) QL huwin 16.8 1000 16.8
33691162/821 (wpnpwinnp wanwnyebip (nbwgbuwnbp) QL hwwn 16.8 200 3.4

33691162/901 |wpnpwnnp wgnwunyetp (nbwgbnubn) QL hwn 16.8 400 6.7

33691162/903 [wpnpunnp wanwniptp (nbwgblunutn) < hwun 16.8 1000 16.8
33691162/904 |wpnpwinnp wgnutyniplp (nbwgbnttip) < hwn 16.8 500 8.4

33691162/908 |wpnpwnnp wanwiynielin (nbwgbinubp) AL hwn 16.8 1000 16.8
33691400/505 phupwlwy wanwunptn (nbwgblnbp) pugqdwiyndunubln QL Inwlwqd 40000 2 80.0
33691400/506 phupwlwl wgnuwiynpbn (nbwgbuntibp) pugdwlyndynubun aL Inwlwqd 24000 & 96.0
33691400/507 phupwywl wgnwiynetp (nbwgbunttp) pwgdwlndyntbln Q< (nwluqu 28800 2 57.6
33691400/508 phupwyw warwtympetp (nbwgbuntbip) pugduyndwnubun G< Inwljuqu 14400 2 28.8
33691400/510 phupwyw wanwiymptp (nbwgbtntbp) pugqduynduynuBun QL (g 18000 3 54.0
33691400/5M phupwyw wanwynietip (nEwgblntbip) pugqduyndynubun QL (gl 23000 3 69.0
33691400/512 phupwywt worwympbp (nbwghbtntibipn) pugquuyndwnubun G (g 16800 8 134.4
33691410/514 phupwlwt wgnwyniebp (nbwgbuntibp) hbigmd QL ihinp 1500 3 4.5

33691410/516 phupwlwt wgrwlnietp (nbwgbntibp) hbinnd QL |hwnp 3000 30 90.0
33691411/511 phupwlwt wnwbnyetin (nbwgbtnlbn tingh Yud gputngubin < hingnuwd 41800 2.5 104.5
33691411/512 phihwlwl wanwynyebp (nbwgbunubn) thingh Ywd gpuitingubip Q< Yhngpwd 38800 1 38.8
33691411/513 phipwlwl wanuynebp (nbwgbuntbp) tingh Gud gputingubin L Yhingpuwd 44000 3 132.0
33691411/514 phupwlwl wanwiynyatin (nbwgbiunbin) tingh Yud gputingutip < Yhingpwd 40000 3 120.0
33691411/517 phipwlwl wanwunebn (nbwgblntibn) tingh Ywd gpwiunyubp < Yhingpuwd 49600 0.5 24.8
33691411/518 phuhwlwl wanuwiynietip (nbwgklnubng tingh Yud gputingutip G< Yhingpuwd 37000 4 148.0
33691411/519 phuhwlwl waruwtyniebn (nBwgbunubn) tnzh Yuwd gpwtingubp QL hingpuud 42000 3 126.0
33691411/520 phihwljwl wanwnyabip {nbwgktntbing tingh Yud gpwunyubn < yhngpud 80000 0.25 20.0
33691411/521 phihwlw wgnwiynyetn (nbwgbtintting tingh ud gpwunyltip q< Ypngnwd 99200 0,25 24.8
33691411/522 phihwywl wanwyniplp (nbwghiinuting tingh Yud gpuumgubp aL Yhingpuwd 49600 0.5 24.8
33691411/523 phuhwlwt wgnwiynplp (nbwgbtinubpg tingh Guwd gpuwtingubp QL Yhingpwd 4600 2 9.2

33691411/524 phihwlwt wanuwiynipbn (nEwgblnubn) thnzh Ywd gputingutp G4 Yhinanuwd 28800 2.5 72.0
33691411/525 phuhwlwl warwbnyatin (nbwgbtintibnp) pingh Ywd gputingtibn QL Uhingpwd 44800 2 89.6
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33691411/531 phupwlwl wgnwiynietp (nbwgbuwnutn) tingh Ywd gputinyubp 9L Yhingpusd 34800 1 34.8
33691411/532 phuhwlwl wanuynyebp (nbwgbunubp) tingh Gud gputnyutip QL Yhingpwd 34800 0.5 17.4
33691411/533 phupwlwl wgnwunptp (nbwgbunubp) thingh Gwd gputngubip qL Yhingpwd 40000 0.5 20.0
33691411/534 phithwljwt wanwiyniahp (nbwgklnbin) tingh Yuwd gpwbingliap QL Yhingpwd 100000 0.25 25.0
33691411/535 phipwlwt wanwiynyetp (nbwgbtuntibp) tingh Ywd gpuinyubn q< Yhinanuwd 47000 1.5 70.5
33691411/536 phuhwlwt wanuwitynietip (nbwgbtnubn) thngh Yud gpwtingtip 4L Yhingpwd 4000 1 4.0
33691411/537 phuhwlwt wanuwiynyetip (nbwgbtintbn) tnzh Guwd gpwtingutp 9< Yhingpwid 10000 2 20.0
33691411/538 phuhwlwl wanwiyniebp (rEwgblnubn) thnzh Gud gputingutp Q< Yhingpuwd 3000 5 15.0
33691411/539 phupwlwt wanwiynietip (nbwgbtntibp) tngh ud gputnyutp G Yhingpwd 3000 5 15.0
33691420/718 |Wpnpwwnnp wanwniatn (nEwgblntbip) pugduwlndynubn < [nuljuigu 66000 2 132.0
33691420/719 |wpnpwwnnp wgnwiynyabp (nbwgttuntibp) pugdulndyntbn 9< [nwiljgy 30000 1 30.0
33691420/720 |wpnpwinnp warutynipbp (nbwgblnbnp) pugiwlyndwynubtion L Inwluqy 168000 1 168.0
33691420/721 |wpnpwwnnp wanwtyniptp (nbwgblntbp) pugdundynubun L Inwlwqy 168000 1 168.0
33691420/722 \wpnpwnnp wenwngebn (nbwgbunubin) pugdwyndwnubn qg (nwljwgy 168000 1 168.0
33691420/723 (wpnpwinnp wanwgngpbp (nfwgbuntbn) puqdwlndynubun &< (nwlwqu 50000 5 450.0
33691420/728 |wpnpwnnp wanwnebn (nbwgblntbp) puqlwyndyntbton G (nualjugd 40000 2 80.0
33691420/729 Llupnnwtnnp wqruwunyetin (nbwgbnutn) puqiwlnduynubn 9L (Nl 40000 2 80.0
33691420/730 |wpnpwuinp waruwtympebp (nbwgbtntibip) puqiulndynubun q< Inwlugy 40000 2 80.0
33691420/731 (wpnpwinnp wanwniyatin (nbwgbuntbn) pugdwlndwnubl, 9< nwljugd 40000 2 80.0
33691420/735 (wpnpiunnp warpwtymiebp (nbwgbunlbn) puguwlndynutun QL Inwluqu 25000 1 25.0
24311129/504 quitwquit wbopquliwljwt phihwlwt Unysbip EUs gpwy 160 0.0
24311129/505 quitwqut wuopguinuljut phupwlw Wnipkp Eun gpuwd 20 0.0
24321311/501 hanypnwh uwhpu EUs |htnp 10 0.0
24321330/501 Ubipwling EUs {hip 30 0.0
33691162/910 (wpnpuinnp wanwiyniphn (nbwgblnubn) [x(V7a] hwin 80 0.0
33691162/911 |\wpnpwnnp wanwnyebp (nbwgblnutp) EUS huwn 20 0.0
33691162/912 |wpnpwinnp wanwunebp (nbwgblnubn) EUS hwn 20 0.0
33691162/913 |wpnpwwnnp wgnwnyebp (nbwgbuntbp) [=iia) hwitn 20 0.0
33691162/914 |wpnpwnnp wgnutynyetip (nbwgbitinttip) UGS hwin 140 0.0
33691162/915 |wpnpuwwnp wanuwiyngetip (nBwgblntbip) EUS huin 100 0.0
33691162/916 (wpnpuinnp wqnwynipbin (ntiwghlinutin) Eus hwn 10 0.0
33691162/917 (wpnpinnp warwiyngetip (nbwgblntibp) EUS hwiwn 100 0.0
33691162/918 |wpnpuiwnp warwbynebp (nbwgblntbin) EUS huin 12 00
33691162/919 {wpnpwwnnp warwlynptp (nbwgbiintbin) Eus hwn 15 0.0
33691162/920 wpnpuwnnp warwiyngebp (nbwgbluntbn) EUS hwn 15 0.0
33691162/921 ({wpnpwinnp worpubgngebp (nbwgbntbp) EUS hwiwn 30 0.0
33691162/922 {wpnpwinnp warpwbgniebp (nbwgbuntbpn) EUS hwwn 40 0.0
33691162/923 {wpnpwinnp wanuigniphip (nfwgbunubing EUS hwin 40 0.0
33691162/924 (wpnpwnnp warpwbniphbip (nbwgbunttin EUS huwin 20 0.0
33691162/925 |wpnpwnnp wgnwiyniptp (nbwgtiinubn) EUs hwin 10 0.0
33691162/926 (wpnpwnnp wgnwiyniatip (nGwgbiuinutip) [=(01a} huun 1 0.0
33691162/927 (wpnpwnnp wgnwlynpbp (nBwgtlnttip) EUS hwin 2 0.0
33691162/928 |wpnpwinnp wgnutynipbp (nbwgbnubip) Eus hwn 30 0.0
33691162/929 (wpnpwwnnp wqruwlynyatip (nbwgbintibip) [x¥1a) hwin 3 0.0
33691162/930 |wpnpuwinnp wantgnpbip (nBwgbbntbp) EUS hwn 2 0.0
33691162/931 (wpnpwwnnp wanuwynetip (nbwgblnttip) [=¥0a) hwwn 2 0.0
33691162/932 wpnpwwnp wqruwtynipbp (nbwgblnlbin) EUS hwin 2 0.0
33691162/933 |wpnpuwnnp wanwnetip (nbwgliuntibn) EUS hwiwn 1 0.0
33691162/934 wpnpwwnnp warwiynetbp (nbwgbnttin) EUs hwwn 4 0.0
33691162/935 {wpnpwnnp warwlnyebp (nbwgbuntbng EUS hwiwn 45 0.0
33691162/936 wpnpwnnp warpwbgngpbin (nhwgbunubp) EUS hwin 8 0.0
33691162/937 |wpnpwnnp wgrulynebp (nbwgbnbn) EUs huwiwn 156 0.0
33691162/938 jwpnpwinnp wqnwiyngehbp (nbwgbinttbp) EUS huin 2 0.0
33691162/939 {wpnpuwinnp wqnwjnipbp (nbugblnutip) EUs huwn 5 0.0
33691162/940 [wpnpwinnp wynwnipbp (nbwgblnubp) EUS huwn 5 0.0
33691162/941 (wpnpuwitnnp wgnubniatp (nbwglitinubin) EUR husn 30 0.0
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33691162/942 (wpnpwnnp wqnuwiyniatp (nbwgtiinutip) [8ha) huwin 25 0.0
33691162/943 |wWpnpwunnp wgnwnyebip (nbwgbunubp) EUS huin 10 0.0
33691162/944 |wpnpwnnp wanwiynyebp (nbwgblnubp) EUs huwin g 0.0
33691162/945 |wpnpwnnp wanwiynyatip (nbwgbiuinutip) Eus huwn 2 0.0
33691162/946 jwpnpwnnp wautynyabip (nbwgblintitip) EUS hwn 2 0.0
33691420/736 |wpnpwwnnp wonwniptp (nbugblinttin) pugdwiniyntibn Eus (nwljuqy 15 0.0
33691420/737 |wpnpwwnnp warutyniatp (nbwgbntbip) pwqdwynduyntiun {xi1a) [Nl 15 0.0
33691420/738 |wpnpwwnnp wanutynyetp (nbwgbtnbp) pugdwlyndynubn (wila) [nwlugd 15 0.0
33691420/739 (wpnpwwinp wanuwtynetp (nbwgbtntbp) puqdwlndynubun cuns [Nl 18 0.0
33691420/740 (Wwpnpwwnnp warwtynptp (nbwgblntbp) pugdwlndynubun al fa) (nwiljpuqy 12 0.0
33691420/741 (wpnpwwinp warwtyniebp (nbwgblnltip) puqiuyndynubun Eus [nbjugu 15 0.0
33691420742 (wpnpwwnnp warwtyniebp (nbwgblnlbin) pugqdulndynubn EUS Inwlwqd 15 0.0
33691420/743 {wpnpwinnp warwtyniebp (nBwgbntbp) pugquwlndynubun =it Inwlgy 1 0.0
33691420/744 |wpnpuwwnnp warpunietin (nbwgbunlbn) puguwyndynubun EUns Inwiljwgy 1 0.0
33691420/745 (wpnpwinnp warpwbyniebp (nbwgbunubn) pwquwlndynubun EUs Inulwqgy 1 0.0
33691420/746 {wpnpwinhp wanwuniebp (nbwgbinutn) pwquwyndwnutiun EUs (nwiwgd 1 0.0
33691420/747 |wpnpwinnp wanwunebp (nbwgblnutn) puqiwlndynubun Eus (g 4 0.0
33691420/748 |wpnpwnnp wgrwynpbp (nbwgbtnbp) pugbwlyndyntbun EUns (g 4 0.0
33691420/749 (Wpnpwnnp wanuwnipbn (nEwgblntbip) pugdwndynubln [x11a) (nwiljwqd 2 0.0
33691420/750 |Wwpnpwwnp wanuwynptn (nbwgblntitip) pugdwyndynubun [=¥ha] Inwlyugy 4 0.0
33691420/751 |wpnpunnp warwbniebp (nbwgbuntbn) puguuyndynubun EUS Inwlwqd 4 0.0
33691420/752 |wpnpwinnp wqnwunipbp (nbwgbunutn) puqiwndwynubln EUs Inwlwqy 4 0.0
33691420/753 (wpnpwnnp wanwnyebn (nbwgblnutn) puquwyndynubun EUS [nwlwgd 4 0.0
33691420/754 [Wpnpwnnp wgnuwnipbn (nbwgbunutip) pugdwlynduyntbun Eus (g 3 0.0
33691420/755 (wpnpwwnnp wanuwynptbp (nbwgbuntbp) puqiwlndyntiun EUs [nuwbjugd 1 0.0
33691420/756 (wpnpwwnnp wanwtynetp (nEwgbtnlibp) pugluyndyntbun EUs Inwljuqd 3 0.0
33691420/757 (wpnpwwnnp warwbympbp (nbwgbunlbp) puguulndynubun [=¥0a) Inwlwuqy 1 0.0
33691420/758 (wpnpwwnp wartymetp (nbwgbunlbn) puguulndynubun EUA Inwluqu 1 0.0
33691420/759 |wpnplwwnp warwniebp (nbwgbunubin) puguwlndynubun EUA Inwluqu 1 0.0
33691420/760 (wpnpwwnnp warpwbyniebp (nbwgbuntbn) puquwndynubiun EUR Inwuqu 3 0.0
33691420/761 (wpnpwunnp warpubgngpbip (nBwgblnlbn) pugquwndynttin EUs (nwljuqu 1 0.0
33691421/501 \wpnpwnnp wonwgnebp (nbwgbunubp) hbinndy EUS [ptnp 7 0.0
33691421/502 (wpnpwwnnp wgnuwynipbn (nbwgbtnutip) htinnly EUs [htnp 10 0.0
33691421/507 (wpnpwinnp wgnuwtyniatp (nEwgtiinitip) hnnly Eus {hinp 2 0.0
33691421/508 jwpnpwnnp wgnuwtynpbip (nbwgbunttip) hinny EUS hwp 1 0.0
33691422/501 [wpnpwwnnp wanwiynietip (nbwgblinttin) thnoh Yud gpwunyuep|  EUS lpngpuwd 1 0.0
tuns 0.0
pdrjwlwy uwppwynpnidutip
33181110/506 htnnhuihgh uwppbip q< hwn 5692500 1 5692.5
33181110/507 hbdnnhwihagh uwpptip q< huiwn 6355900 1 6355.9
33181110/508 htunnhwihah uwpptp qc hun 717600 1 717.6
33161200/503 Funnulynwbip SL huiun 13600000 1 13600.0
33111340/501 :“L”p";;g”z‘j“‘“ bt (), DL Bt 9¢< huitn 13700000 1 13700.0
33171700/501 wtiqqujwgiw uwppbp L huwn 1 0.0
33191520/501 wpjw thnpulbpwpldwl uwppbp - 9L hwwn 1 0.0
dhwflught (dnunfrywp) =/Gud Gplwluwhu (phuninyjuwn)
38511220/501 v e b G hwtn 1 0.0
38591200/501 phupwlut jwpnpunnphwinud Gppwngnn uwpptip < hwin 1 0.0
6 0.0
ol
33121200/5 uptnh wopuwnwtph hulnnuyz)wl uwppbn L hwn 378000 7 3646.0
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33121200/503 upinh waluwinwlph hulnnnysjut uwnptip 3L huin 1 0.0
funuwywgywsd prywéuh dunwlwpwpdwy uwppbp, npnup
33151270/501 Uhpuwinynid bl pRUwBLWIAY phpwwhwin Qg huin 30 0.0
42121310/501 pdoluwlwl bywwnwlubpny Yhpwnynn wndwbp G huwin 9 0.0
42121310/502 pdolwluit bwwunwlubpnd Yhpwndnn wndwbp QL hun 18 0.0
42931100/501 |wpnpwwnnphwywt gbinph$niqubip — wwpwgquubp QL huin 21400000 1 21400.0
42931100/502 (wpnpwinnphwlwt ghtinph$nigbp — wwpwqulbp < hwwn 1 0.0
' 0.0
Ulunwhwhy uynipbip
24451140/502 whunwhwuhg Unyatip G< g L2 =Y
2100 15 31.5
24451141/516 wiuinwhwuhy hnniy Wnystip g< |hinp 2100 500 1050.0
24451141/518 wiunwhuihs hinniy byniabip 9< lhup 1615 200 323.0
24451141/520 wuwnwhwths hanny Unyebp G4 [ptnp 2500 20 50.0
24451141/521 wiuwnwhwuhs hanny Wnyebip G [htnp 1493 525 783.8
24451141/522 wuwnwhwuhs hanny Wnyebip G [htnp 6000 400 2400.0
50 0.0
24451141/523 whunwhwuhy hbnndy ungatin Q< {htp 2590 35 749
24451141/524 wjutnwhwuhs hnnwy uniebp < [hinp 3400 200 680.0
24451141/525 whuunwhwihy hbnnily ungatip Q< [htnp 7400 100 740.0
24451141/526 whutnwhwhs hanny Uinyebip QL |hinp 1700 100 170.0
33111500/507 Spuwip uwnbtiphthqughwih QL hwn 47 300 14.1
33111500/508 Spwip unbphihqughwih QL hwn 58 10000 580.0
33111500/509 Spwp unbiphihquighwih G hun 32 3000 96.0
33111500/511 dpuwip unbkiphihqughuwgh L huwn 156 500 78.0
33111500/512 Spwip unbiphihqughwih QL hwn 26 3000 78.0
33111500/513 dpwn uinbiphihqughwih < huwtn 88 100 8.8
33111500/514 hunhlwwnnp Gwuptwgbindywénysjwl QL huwn 7.8 1000 7.8
33111500/516 punplwinnp dwupbwgbindywanysjut q< hwn 5.8 2000 11.6
24451141727 Qbnphph wunwhwps hinnd 1) EUS Lpup 2300 50 115.0
24451141128 :"ﬁj:ﬂ“ﬁ"‘;l A Wi iputhunuslyuits pguy Gt kU Lpwn 2550 20 51.0
39331100/1 Thuwblubip ofiwnh hwdwp EUs hwwn 10500 5 52.5
24451141/29 thpthnip ofiwn [=(Fla) Lhinp 1615 50 80.8
24451141/30 wiunwhwbhs hbinniy unipdwynu EUs Lhwnp 8000 20 160.0
33111500/24 Ypwhin dpwp unbiphihqughwh 150dd x 24504 EUS hwwn 50 3000 150.0
33111500/25 Ypw$w dpwp unbiphihqughwih 100ud x 25044 EUS hwn 58 6000 348.0
33111500/26 Ypwhin dpwip unbphihqughwgh 25004 x 400ud EUS hwuw 140 2000 280.0
3311150027 YpwShin dpwp uinbiphihquighwih 30004 x 3904d EUS huitn 170 1000 170.0
33111500/28 pwthwlghl dpwp unbiphihqughugh 604 x 12004 EUS hwiwn 30 300 9.0
33111500/29 pwiwtighl dpwp unbiphihquighwih 11504 x 26004 EUs huitn 47 4000 186.0
33111500/18 hunhlwwnp snp onuiht 180/60 EUS hwwn 7.8 2000 15.6
33111500/20 hunhlwwnnp wywnnlugh 134C0 LUS hwin 12.6 5000 63.0
33111500/21 Punhlwwnnp wnnyudh 132C0 EUS hww 6 3000 18.0
33111500/22 Punhljwnnp wdunlugh 180C0O EUs huwiwn 8 1000 8.0
33111500023 hunhlwwnnp wnnywdh 121C0 EUS huwitn 8 1000 8.0
19641000/9 Pdoljwlwl puinuubph wwplibn EUS hwwn 150 10000 1500.0
10394.3
Elwpuljwl wupwuptibp
31711620/501 Lnwwnhnnwiht (LED) jnwwnnt qL hwiwn 1300 5 6.5
31711620/502 Lnwwnhnnuwipt (LED) jnwwinn q< hutn 1200 20 24.0
31711620/503 Lnwwnhnnuwht (LED) (nwwnnt G< huwwn 1500 30 45.0
31711620/504 Lnwwnhnnwiht (LED) inuwnnt 4L huwwn 3900 140 546.0
31711620/505 Lnwwnhnnuwiht (LED) jwuuy GL huwn 460 50 23.0
31711620/506 Lnwwnhnnwht (LED) jnwwinnt G< hwwn 1200 20 24.0
3711620/507 Lnwwnhnnwght (LER) jniuwwnne gL huiwn 7000 30 210.0
31512360/501 Lnwwpdwl wpnwphu < hwwn 9000 ) 45.0
31512360/502 Pnnngh pnwwnnt GL huun 8544 10 85.4
31711620/508 Lnwwwnn 60*60, 96W 6500K G hwin 7100 20 142.0
31711620/509 Lnwwinnt 60*60, 96W 6500K G huwin 7820 20 156.4
31512360/503 Lnwwnhnnuht (LED) nuwinnt GL huwn 2700 20 54.0
31211180/501 Uligwnps kil untinuny G< hwin 1200 15 18.0
31211180/502 Uligwinhs Ut unbinund wpunwpht q< huwitn 1400 15 21.0
31211180/503 Ubgwinhs biplynt uinbining < hun 1500 5 7D
31211180/504 Ubgwnps bplynt uinbintiny wpwnwpht L huwn 1600 8 8.0
31684100/508 Jwpnuwly hnnwugnwiwht dhwgnuwinyg QL huwin 1400 25 35.0
31684100/509 Juwpnwl hnnwugnuwiwihu dhwgnwing wpnwpht QL hwin 1586 15 23.8
31684100/501 Gpowiul Ukl wnkin q< hutn 300 25 7.5
31684100/502 Cpowwl bplnt nbin G hwtn 600 15 9.0
31684100/503 Cpgwliwl bipbip wkn QL hiutn 900 5 4.5
31684100/504 tupnguily hnnuignudny 9 huwn 280 30 8.4
31684100/505 dwpnwly hnquiignuing bplwpwgdwt jwph hwdwn 9L huwwn 460 20 9.2
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Miwuwnhly innwhbp blaynpwgstiph hwdwp huptuwluwsniu

5 i
31231200/501 bl q< hwn 350 60 21.0
31231200/502 Utlydnnbiwihu faynpwdnunwdught wnh K806 G805 Unnbih q< hwin 125 20 2.5
31231200/503 E::;]Eblehh fieyunpwdnuinwdwiht ninwh K820-2 G-805 ac — 250 5 38
Gnwdnnbuht fib nunwdwih K820-3 G-805
31231200/504 ey R R R ¢ < hwtn 400 10 40
n
31681700/503 Udpinnuwwn whgwinhsubph ninuh wpinwpht bwnwnbugws 2(+1) ac — 345 5 17
Unnnyutinh hwdwn
31211180/509 Udinniwwn wugwinhy QL hwwn 4444 4 17.8
31211180/510 Udinndwn wuswinhs GL hwun 4244 4 17.0
31211180/511 Ugwnndwin wlgwnhs 9L huin 3644 4 14.6
31211180/512 Udunndwn wlgwinhy L hwitn 1244 12 14.9
31211180/513 Utjinndwin wugwunhs G hwwn 1144 12 13.7
31211180/514 Udinnidwwn wigwinhy 9< hwtn 1044 12 12.5
44322200/501 Cnuuwliph dwinifu 9L dhnp 178 100 17.8
44322200/502 Lnuwiph dwinifu 9L Utnp 238 100 23.8
44322200/503 Snuwiiph dwinifu QL dbunp 348 100 34.8
44322200/504 <nuwitiph dwniju 9L dtunp 396 100 39.6
44322200/505 Lnuwiph dwinifu G< dtunp 525 100 52.5
44322200/506 <nuwliph dwiniju < dtnp 648 100 64.8
44322200/507 Snuwtiph duwinifu < dbnp 614 100 61.4
44322200/508 <nuwliph duiiniju G< dbwnp 936 100 93.6
44322200/509 Lnuwtph dwiniu < dtiinp 1198 100 119.8
44322200/510 nuwlph dwiniju 4L b 1980 100 198.0
44521230/501 wjwundwiub PA 66 wdpwly dwiniup hwdwp L huwin 440 3 13
44521230/504 wwundwubi PA 66 wdpwl dwiniuh hwdwp < huwn 560 3 1.7
44322550/501 Uwnifuh wunip G< huiwn 3 300 0.9
44322550/502 Uwinifuh whnip Q< hwwn 5 500 2.5
44322550/503 Uwynifuh wunip QL huwn 5 500 2.5
31651400/502 k. deynupy dwwywyb RS huin 135 50 6.8
32442400/501 hupuwutndunn nbpdhtiwgwhu plblknemming)2+2 2,544 CH-2 QL huwn 60 300 18.0
31711770/501 5‘i;rgnldtu;hh-hnjwu wbphljuit jupngwlyni{nepexogHuk TpoitHUK) ac Wik 590 18 10.6
31681700/504 Utfwndwin Ubguwinhsibinh Snuh a< huwin 1200 5 6.0
2nndwl Gujwl (160-4807S) puwiht Fypwu Br
32351120/501 220V/40  Naanbuan craHuuA (160-480°C) umdbposoii aucnneit < hwwn 21144 2 423
220V/40 naanpHuK
32442400/502 Din  nbjubp din  peiika 9 hwn 425 L 2.1
32324900/501 <bnnwinwgnyg G< hwiwn 150000 1 150.0
39711290/501 Uhlypnwihpwiht yunwpwtbin 9L hwn 50000 3 150.0
32551170/503 Utpwp hbnwfunu 4L hwiwn 28571 7 200.0
Gpwubtywluiht wypwuptbp U ynypbp
3000 0.0
, Ad ac
30197620/502 LR $npdwnh wnnuh T30 1500 31450
30197620/504 pniR, A4 npudwwnh huptwlusni ptippbp 9L innup 2470 9 22.2
30192800/501 pustwlugsnit whunwl / guwwhnwly 30*400d/ L hwn 1.2 10000 12.0
30192800/502 hugwlugsniu whuwl / guwwhunwly 20*3004/ S< hwtn .1 5000 10.5
600 0.0
30199420/501 Udnwputiph hwdwp, Ldiywd qg h
1 / pnue udnigubph hwdwp, unubddwsdpn] win 3 300 86
30197322/501 Yuwiphs, 20-50 phpph hwdwp < hwtn 490 100 49.0
30197100/501 Yuwphsh dbunwnwiwpt Ywwtip, dbs < nnith 0 10 0.0
30197112/501 Yuuphsh dtunwnuwpt Yutp, dhoht a< nnh - - =
30197111/501 Ywphgh dbnwnwiwpl Ywwbp, tinpp < wnnuh 2 80
' 44 100 4.4
30192710/501 unutdwdwinhin, gpuwubitywluwiht G< hwwn e =
» MU 60 1000 60.0
30192231/501 ulgny ujnihubipwihl q< huin 0 200 0.0
30 0.0
'S
30197340/501 wiywlywnhs G huwin 105 5 6
39263600/501 gnswwnnith, gnwubbywyuwhu QL huwun 145 200 29.0
thwunwpenebph hwdwp bwwnbudws, ubnuuh Ypw npynn 200 0.0
I
30193200/501 naupwljuoupbn LS hwin 1600 100 160.0
30192100/501 nbinhu hwuwpul Q<L hiuwn ol o
69 200 13.8
150 0.0
Bt
30192133/501 unhg < huwin 50 75 38
200 0.0
39263400/501 wdpuwly fulipbiyy /, dhght 9L wntth 5 700 5.9
200 0.0
q
39263410/501 wdpuwily fulgpliyy /, thnpp < tnnuh 78 100 a5
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360 0.0
39 1 tind b/, d
263530/50 ubnuwly Yhwuby/, dad g hwitn 3 100 33
200 0.0
39263520/501 ubnuwly /Yhwub/, dhght 9L hwiwn T 50 X
200 0.0
392635 tind !
10/501 ubinuwl /Yhwuby/, thnpp a< hwtn 5 700 59
500 0.0
30192231/502 u q< h
/ Hnt wn 175 300 525
800 0.0
30192160/501 124
; 2nh 124 A B 10 400 44.0
800 0.0
30192160/504 74 h
/ 2nnhs 7L H nil 104 300
' 500 0.0
30192125/502 dwiplyk a< h
ity e 49 300
200 0.0
39241210/501 Ul 1 Lo11] u L
Ypwin, gpuutitywlwih hwn T30 T35
30 0.0
30141200/501 hwquuwpp, gpuubitywlwiht 9< hwn
2700 15
500 0.0
30192130/501 i ub 9
i wnpnubp hutn 5 300
3500 0.0
30192121/50 U
2121/501 anhs gunhlwynp a4 huwtn == 2000
30197231/501 prRewywlwy, wnhdtpwihu pwnwup, $uw), Q< hwn m ?gggg 68
5000 0.0
30199260/501 U4 & ag
/ hwitnniy nwip hwiwn 38 000
20 0.0
30192114/501 Ywpdhp pwuwg, Yuhph pupshlh hwdwp 9L hwuwn 160 0
30192114/502 Luwnywn pwtwp, Yupph pwpdhyh hwdwp SL hww 760 ?g 00
30192111/502 pwlwph pupdhl qL huwwn 0 20 0.0
39263200/501 ?;ﬁ:i“’wu“”hu ghne, dunnjuil, 70-200t. nnnutih, uhunil 4 husn 1350 50 67.5
22851200/501 erRwwtiwl G huin 140 300 42.0
22851200/502 prRwWYwuwy QL huin 430 300 129.0
22851200/503 RREWWWLWY QL huin 470 200 94.0
200 0.0
22851100/501 ub Qg h
/ wnwgulwpubp wn 50 0
300 0.0
22851200/510 Lwlubp 20 & 9<
/ prpwywuwlutp wyiny huin 330 50
22851200/512 prrwwwLwlULD 60 Suyny q< huin 580 200 116.0
30195700/502 gpuinwhinwlubph dwppdwl uwndig QL huin 0 100 0.0
30192350/501 hwouhs-npuwidwplinuiht depbuwubiph dwwwybuubp QL huin 58 1920 111.4
Stunbuwlwl b ghtiwpwpwluw Lpwbwlnpjwt wypwupubp
32551170/503 wjwp hbinwfunutibp 9< hwn 8 0.0
31685000/501 Filinpuwlwt bplupwgdwl jwp < hwiwn 10 0.0
30239150/501 wghs uwpp, pwgqdwdniubghntiug GL huin 1 0.0
35121330/501 Guphlu Ynnbph uubiwynpdwl uwpbn 9L huwn 11 0.0
30232110/506 Lwgbpwih wiwhs 9 huwin 6 0.0
18141100/503 woluwnwiipuhl dbntingtibip 9< anyg 124.25 240 29.8
18421130/502 dbnungubip < qnyg 145 1500 217.5
18421140/502 Ublwugwijw oginwgnpddwl dbnungubip QL qnyq 2.996 30000 89.9
18931160/501 [Ywgph wuwnwwlltip 9L hwtn 5499 5 27.5
18931180/504 wpwpltiph thwpbpwynpdwl nnwpwlbn QL hwin 12000 0.0
18931180/505 wwpwiiptibiph thwpbpwdnpdwl innwpwyubp qL hwn 12000 0.0
500 0.0
19641000/505 wnihphibtuwght wuwnl, wnph hwdwp ac huwitn e T =
19641000/506 wn(hkphibwhl wwply, wnph hwdup ac huin 243 2800 680.4
19641000/507 wnhkpphEuwiht wwply, wnph hwdwp G< huin 165 1600 264.0
19641000/508 wnhkphibUWhY wwpl, wnph hwiwp q< hwn 140 2000 280.0
24451141/514 whunwhuiths hinndy Wniphn qc {hwp 264 500 132.0
31441000/503 dwpnlng, AAA inbuwlh 9L huwitn 50 300 15.0
31442000/502 dwpwnlng, AA whuwlh QL hwn 50 300 15.0
31442100/501 Ynunwlhs dwpinyngubip 9L hwin 184.92 100 18.5
31442100/503 Ynunwlhs dwpunlngubp qc huwin 199.5 200 39.9
31685000/501 Eblupuilwt Gplwpwgdwt jwp < hwtn 1495 25 37.4
31685000/502 Flalunpulwi Gplwpwgdw jwp YL hwtn 1870.4 25 49.3
31685000/503 Flunpulwt Eplwpwgdwt jwp s hwn 3990 10 39.9
33141118/50 wudtinnghlubip GL hwiun 370 50 18.5
33141201/502 Puwlububp < hwn 2.8 300000 840.0
33711210/502 dblwhiquidjw equnwgnpdiwt wudbnnghlubp QL hwin 390 5000 1950.0
33711480/503 ofilwn QL hwin 120 500 60.0
33751100/503 Ubljwbiguidjw ogintighpddwl tnwynhpubp QL huwwn 120 200 24.0
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33751100/504 dbljwlgwdjw ogunwgnpduwl wwynhpubp GL hwwn 150 200 30.0
33761000/503 gniqupwup pninp, angnuny L hwun 80 4000 320.0
33761000/504 gniquipwp e, nnygnuny < hwwn 80 2000 160.0
33761300/503 &binph enpb upphsttbp QL huwn 148 1200 177.6
34331400/502 wiinndbipbwbph gnpgbip 4L hwin 1392 50 69.6
39221190/501 fudint oph nwipwiutip Ge hiin 18438 10 184.4
39221220/501 hwgntutnh shpwnglbp g< huwin 10434 10 104.3
39221350/503 dblwlguidjw oginwgnpddwl pudwljubp QL huin 3.5 15000 52.5
39221410/502 wibubip 9< huun 100 0.0
39221420/502 Junquitiwljubip G< huwin 1269.6 50 63.5
39221430/502 funquitiw-uwynttig wiugwbh wppbint hwduwp, nbinhub 9L huwn 2328 10 23.3
39221480/502 qniguipuwiih funquiiwljutip qc huwtn 449 200 89.8
39221490/502 uwyntgubin ' 9< htn 77.77 800 62.2
39224331/502 nny| wwundwub QL huwn 399 80 31.9
39224331/503 iy wpundwub q< hwwn 171 50 8.6
50 0.0
39224342/503 wnpwnln, denwnjw q< hwin 5750 100 529.0
39224344/502 wnpwpyn’ phebnw q< hww i 0.0
1188 50 59.4
200 0.0
39511130/501 uwiwiutbip L hwiwn 1549 1000 15490
39511130/502 uwywubbip G< huwwn 150 200 30.0
39511130/503 uwiwuibip < hwn 100 200 20.0
39513200/502 prel wudbinnghl, bpystinn L huiin 220 1000 220.0
1000 0.0
39522330/502 dwppnn Yunpubp < huwn 735 2000 7700
39713410/502 huwnwh dwppdwy uwppbp L huwn 1308 100 130.8
39713410/503 hwwnwlh dwppdwt uwppbp Q< hiuwn 450 250 12.5
39713410/504 hwunwlh dwppdwl uwppbp L hwn 4000 100 400.0
500 0.0
39831100/503 Ywgnn nipbin q< (htp 168 3000 T66.0
39831100/504 {Jwagnn bnipkip 9L {hup 72 7000 504.0
39831210/502 uwjwuph [Ywgldwl nhnbpgbunubp G4 hww 94.96 1000 95.0
39831243/504 wgph thngh wdnndwn G Yhpngpuwd 325.03 700 227.5
39831245/502 ofiwn, htinniy QL [hnp 168 1500 252.0
39831247/502 whunwhwtnn htinnily’ uwuhwlgnygh hwdwp (unwtjniz) G< |htnp 336 1500 504.0
1000 0.0
39831278/502 uwuwuph Jwgdwl thngh Q< hun 596 500 708
39831278/503 uwwuph (Ywgdwl thngh qc huwtn 290 50 14.5
39831280/502 wwwlh dwppbine dheng 9L |hinp 276 500 138.0
39831283/503 hustnuwlh (Juwgiwl \wpe < huwn 876.78 1000 876.8
39831283/504 huwnwh (Jwgdwb jwe L huwitn 349 300 104.7
200 0.0
39831283/505 huwnwh (wadw jwe ac hwin 7300 3500 T900.0
39835000/502 hwnwly dwppbint &nn, wiwundwub, thwjnjw < hwin 1000 50 50.0
100 0.0
39836000/502 wybi, unynpwiljut q< hwwn 350 200 190.0
39837000/502 guuwiby 4L hwin 350 50 17.5
42961300/502 hhghbuhl wwpwgquubph nhuwbuubpubp G< hwin 3996 20 79.9
44211280/502 &nnbip SL hwin 292.8 100 29.3
44521120/504 nnwl thwlwlitibp QL huwin 10 0.0
44521120/508 nnwl thwlwutibp QL hwun 4428 10 44.3
44521120/509 nnwl twlwubp S huutn 10 0.0
42414700/501 Ubpbwyubp G huwin 3300000 1 3300.0
44163280/1 funnnyuwljuwihu wypwiptbp Uu huin 46200 15 693.0
44221200/501 uwhnn nntibp G4 pd 139920 30 4197.6
16311400/501 funinhudhs dbpbuwubip L hutn 130000 1 130.0
18441210/501 uwnwwpnlibn q< huwtn 10400 i 10.4
30194220/501 qdwgpulwi dwwwybllbp 9L hwn 1380 1 1.4
31171200/501 [wpUwl pnfuwlpujhstbip qc huwtn 300000 1 300.0
31442100/505 Linunwilihs dwpnyngubip < hwn 9999 60 599.9
31681900/501 bbupuiliut whnupg (nnky) q< hwwn 18000 1 18.0
33191350/502 whijwuw)wlubp Q< hwin 14444 1 14.4
33191350/503 wuwuwgwyubp < hwwn 25000 1 25.0
39241141/501 nubiwly' gpuublywlught 9L huwwn 744 10 7.4
39241141/502 nuitiwly’ gpuubiywlught GL hwiwn 135 10 1.4
39241210/503 dlypwin, gnuwublywlwiht G< huwn 2250 2 4.5
39241250/501 dwnbph dypwn {ublwinnp) S huwin 2400 2 4.8
39712300/501 Yuwpuuwhwpnwphsubp QL huin 11310 2 22.6
42121430/501 quiquijht Guswlubp (Yndwpbunptbn) 9L huiwn 68000 1 68.0
42121710/501 quiquiht Yndwpbunpubiph dwubip 4L hwin 2300 1 2.3
42661300/501 Bnwlgdwl uwppbip < huwn 18420 1 18.4
42671100/501 gnpdhpubiph plihstbip qc huwtn 1200 2 24
42671170/501 gnrRwjwnp unng L huwin 109800 1 109.8
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42921240/503 htnniljughp winpGwitwlutn aZ hun 1500 3 45
42921240/504 hbnnywghp wunpwtwlyubn Q< huwn 840 3 2.5
43121170/501 wdnijuh Yuwd pwph hnpwinhsubip 9L huwn 39000 1 39.0
43121170/502 wdnijup Lwd pwph hnpuwinhsubp 9< huun 18500 1 18.5
43411300/501 phnnup yud hwywugh fuwnUpsubip 9L huaun 6300 1 6.3
43411500/501 hnlynr uwpptip ' G htutn 62400 1 62.4
43411500/503 hnynn uwppbp qc huwin 19680 1 19.7
43411500/504 hnlynr uwppip 9< hwtn 15900 1 15.9
43611290/501 pwph hnpwinhsubiph dwubip 9< hun 2790 2 5.6
43611290/502 pwph hnpwwnhsubiph dwubp Q< hun 2000 2 4.0
43611290/503 pwph hnpwwhsubiph dwubp 9L hwwn 900 2 1.8
44112730/504 upnn uljuiuwinwly Q< hwn 870 2 1.7
44411100/501 Snpwlyubip 9L hwn 8400 5 42.0
44511100/501 abinph gnpdhplbip 9< hwin 2700 2 5.4
44511100/502 abnph gnpdhpubip GL hwtn 4444 1 4.4
44511100/503 abnph gnpdhpllip GL hwtn 1200 1 1.2
44511100/504 &tinph gopdhpubip 9L hwin 1500 1 1.5
44511100/505 dlkinph qnpshpubp 9L hwwn 790 3 2.4
44511100/506 abinph gnpdhpubip G hwn 19200 1 19.2
44511100/507 binph gnpdhpubip Q< huww 1860 2 3.7
44511200/501 ahinph unngubp G huitn 1944 2 3.9
44511200/502 &binph unngltin < huin 1550 2 3.1
44511200/503 atinph unngubip ac huwin 1440 3 43
44511200/504 dlinph unngubip QL huan 1144 2 2.3
44511240/501 wpguitibp L hwin 2880 2 5.8
44511240/502 wpguwtiibp < huwin 7980 3 23.9
44511240/503 wpguitibip G hwn 1344 3 4.0
44511270/502 dnipébip G< hwn 7400 1 7.4
44511270/503 unipébip 9L hwn 1500 3 4.5
44511270/504 dnipébip QL hwiwn 1320 2 2.6
44511330/501 wnnunwlwhwitiibp < hwn 19700 3 59.1
44511330/502 wwnnunwlwhwuubp YL hwin 6500 3 19.5
44511330/503 wnnunwlwhwilibp 9L hwwn 690 2 1.4
44511340/501 quyihyntub uwypkip 9L hww 4444 3 13.3
44511343/501 quyjhlynl G< huin 2700 2 5.4
44511343/502 quy|hynu G< huin 644 3 1.9
44511343/503 quihlnt ac huitn 530 2 1.1
44511343/504 qujplynt G< huin 1200 1 1.2
44511343/505 guij|hlynu QL hwwn 1440 1 1.4
44511343/506 quijihlynt L huin 3200 1 3.2
44511343/507 quijjhlynt 9L huwitn 3880 2 7.8
44511343/508 quuylhynls 9L huwn 660 3 2.0
44511343/509 quijhlynu QL huwn 1080 3 32
44511343/510 quij(hlynts 9L hwwn 740 3 2.2
44511350/501 winninwlpwhwitibph uwpbp G hutn 2280 1 23
44511360/502 gnpdhpubiph nbnuidinfudwt dhenglibip qL hwin 4200 3 12.6
44511370/501 anpdhplibiph huwpwdnitbn q< hwin 850 5 43
44511370/502 gnpdhpubiph hwywpwéniubp Q<L hwin 7300 2 14.6
44511370/503 gnpdhpubiph hwwpwdniubip 9L hwin 10680 2 21.4
44511370/504 gnpdhpubiph hwywpwaniubip 9L hwin 1620 3 4.9
03411120/501 thwjnwiniphg wWwinpwunywd wpuinwnpuip < hwwn 5700 100 570.0
14211000/504 wijwg, htwpwpwlwl ' q<c fud 13800 30 414.0
14211111/502 Jupwiupt < fud 8900 24 213.6
14811300/501 hnynn ulwdwnwlubp QL hwin 178 20 3.6
14811300/502 hnynn uljwywnwlubp 9L hwwn 178 20 3.6
14811300/503 hnlynn uludwnulubp o< huwin 178 20 3.6
18421130/503 alininglibip < qnyg 138 50 6.9
18931130/502 dulipnglibph wwplp 9 huitn 65 300 19.5
24911500/502 unuhid (wkpngny) 9L huwiwn 1060 20 21.2
24911900/503 uwhiyh unuhud L Yhingpud 100 1500 150.0
30192230/501 ulns ipyYynndwp unubidywsd G< hwiwn 1140 10 11.4
30197323/501 Lwnhs, 50-hg wibih phpph hwduwp (¥4 hutn 2400 2 4.8
31211180/515 wmnnuwwn wlguinhsutin ac hwin 4900 2 9.8
31211180/516 winnuwin wigwnhsubin q< huwn 2190 2 44
31211180/518 wiunnduin wlgwinhsubip 9 hwitn 690 20 13.8
31211180/519 wiunndwin wugwinhsubip GL hwtn 620 5 3.1
31211221/501 whgwinhsbip ac huin 1790 15 26.9
31221200/501 fupngubiph nwhlubp — Jupnwlubp 9L hwin 1540 50 77.0
31221220/506 dhwguwl mnuwhbp 9L hwn 295 30 8.9
31221242/501 nynipky ac huwin 21 2000 4.2
31221242/502 nnipbi q< hwitn 156 50 7.8
31221242/503 ryniphg S< hwin 195 100 19.5
31331192/501 Erblnpuilwts dugnifu’ Ud4S QL dbinp 214 200 42.8
31331192/502 Eynpuibwt dwgnifu’ UddS < dliunp 49.5 400 19.8
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31331192/503 Elalnpuwlw dwint’ U449 9< dkwnp 781 100 78.1
31331192/504 Erblnpwlwt Jwinifu' UddS L dbwnp 1880 10 18.8
31531100/501 Eibyunpuliwt udwbp < huwin 3890 40 155.6
31641216/501 hwnniy wwnnunwly 4< hwtn 2.4 1000 2.4
31641216/502 huinntly wunnunwly G< huwin 3 1000 3.0
31641216/503 huwinnil wunnunwy 9 huin 5.4 1000 5.4
31641216/504 hwwnnily wunnunwl 9L hwn 9.3 1000 23
31641216/505 hwtnnil winnunwly 9< huin 4.5 500 2.3
31641216/506 hwwnnily wunnunwy Q<L hwin 1.98 1000 2.0
31641216/507 hwwnnily wunwnwly 9L hwin 1.68 6000 10.1
31651400/503 ublynihs dusguibulbp ac huwin 120 50 6.0
31651400/504 ubilynwuhs dwwwblubp Q<L hwin 690 30 20.7
31651400/505 dbilinwuhy dwwwdbubp QL hwn 78 20 1.6
31651400/506 dblyniuhy dwwywdbuubp L huwwn 210 20 4.2
31681700/507 pwdwlwpwp wnuh 9L hwwn 219 15 3.3
31681700/508 pwdwuwpmp wnuh 9L huutn B640 1 8.6
39132220/502 Luwluhstbip qc hwin 150 60 9.0
39132220/503 wiuhgubip QL hwtn 42 200 8.4
39221460/501 Updpt' tbplpwpupuljut 9L hwin 1540 20 30.8
39221460/502 Upaht’ tbplwpuwpwlwl qc huwitn 240 10 2.4
39221460/507 Unaht’ tbpwpwpuwljul 9< huwwn 186 20 3.7
39221460/508 Yp&pt" ubiplupuipwyut 9< hww 267 20 5.3
39224331/504 nny| wwundwub 9L hwun 1140 15 17.1
39812600/501 dwppnn Jwdnlyubin — thnghtbip Q< huin 750 5 3.8
42921240/505 htnniljwighp wnpfwtwlubp GL huwiwn 3333.3 3 10.0
42921240/506 htinniyughp wnpéwbwlubp 9L huin 1100 10 11.0
42921240/507 htinniywghp wnpéwbwlubp L hwwn 810 3 2.4
42951300/501 hwppbgunn dhpbuwubph dwubip QL hwwn 650 3 2.0
44111200/504 ghubitn ac Uhngpud 58.9 2500 147.3
44111400/503 lwfunyh wnwunwn G pd 1310 54 70.7
44111400/504 Lunih wnwuwnuin QL pd 1940 100 194.0
44111412/502 ubiply, shtwpwpuljwl 9L hingpwd 470 800 376.0
44111413/505 jninuitiliply G< Uhingpwd 1790 10 17.9
44111413/506 Jnunuwitibiply 9L Lihingpuwd 1260 15 18.9
44111417/501 Uwfuwlibiply q< Yhinapuwd 186 100 18.6
440111419/501 gniwg QL hwin 300 15 4.5
44111446/502 dblnwpsubp 9L hwwn 1740 30 52.2
44111448/501 obipduht Ublnuhs Wnyabip ac huin 1070 60 64.2
44111448/505 ptipdwht dblnwhs Ujnyatip L hwiwn 690 30 20.7
44111710/502 uwihly, Yepwdhywlwt, huwwnwlyh hwdwnp 9L pd 2860 200 572.0
44112210/501 unwlhp < pd 2940 50 147.0
44112730/505 Yunpnn ujuwydwnwly G huwiwn 1680 3 5.0
44112730/506 Yunpnn uwiuwnuwly < hwwn 172 100 17.2
44112730/507 Yupnn uudwnwy qL hwwn 540 5 2.7
44141200/501 gpowliwljubin 9L hwiwn 750 50 37.5
44163400/506 dhpwtinpnguwl wuniptbp = wwpgmiiwlubp &< hwn 744 400 297.6
44171100/508 uwhljubp (shtwpwpnyzgwl) L pd 877 288 252.6
44171100/509 uwhlubp (shtwpwpnyajwby) < pd 1489 288 428.8
44171110/503 uuihubpp fuwsndy a< huitn 990 30 29.7
44191700/502 ) quiiwgquit ohtiwpwpwlwt unypbn G< Yhingpuwd 1050 13 13.7
44191700/507 wij| quitwgqu shuwpwpwluwt bnysbin GL phingpuud 720 15 10.8
44211610/501 wblyniubip L hwtn 68 300 20.4
44211610/505 wlilyniutbip 9L huitn 40 300 12.0
44211610/506 wiilyniubip 9L huin 275 100 27.5
44211610/507 wiilyniuubp G hin 198 100 19.8
44211610/508 wblyniutbip L hun 195 100 19.5
44311120/501 thaw)wpbp QL lihingpwd 570 5 2.9
44311170/503 bnwlguwl wwpwgwubp QL hwn 29 500 14.5
44322550/504 duiinthup wuniptbip Q< hutn 336 5 1.7
44322550/505 duwnifuh wlnybp qc hwin 336 5 1.7
44322550/506 U ntfuh wunipbp < hun 570 3 1.7
44331410/506 Yuwhundh wnwuwnwnh ghifuwwn wnpn$hy G gdwibinp 96 60 5.8
44331410/507 Lufundh wnwunwnh ghuwuwwn wpndhy L géwdbinp 180 6 1.1
44331410/508 Yuwfundh wnwunwnh ghtiywwwn wnnbhy G< gdwbup 180 15 2.7
44331410/509 Yuwiunuh wnwunwnh ghwwwn wpnbhy L gwdbiinp 320 100 32.0
44331410/510 Yuundh wnwunwnh ghiuwuin wpnhy QL géwdbiinp 340 80 27.2
44423480/501 dwlbipkuh wnwhbip QL hwwn 790 10 7.9
44423480/502 dwlbpbup wnupbp 9L hwn 990 10 9.9
44423480/503 dwybipbuh wnuhbp L huwiwn 1480 5 7.4
44423600/504 Lugntt dwwuiuubp o< hwn 570 20 1.4
44511260/501 hnlwEninp S< pu 8790 1 8.8
44511260/503 hnlwpnine L pu 8790 1 8.8
44511260/504 hnlwpninp GL pd 7500 1 7.9
44521120/510 nwl thwlwuubp GL hwwn 290 150 43.5
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44521120/51 nnwl thwywuubp qL hwun 1238 60 74.3
44521230/505 wdpwyubn G huin 990 3 3.0
44531191/502 bplwpl funnnywubp 9L dtnp 850 400 340.0
44531191/503 bpYwipt funnnywijubp QL b 1480 100 148.0
44531200/501 ng wuwpnipwbwynp wdpwgdwl nbunwiubp <L hwn 480 110 52.8
44531200/502 ns wupnipwlwynp widpwgdwl nbunwubp Q< hwwn 240 220 52.8
44531260/501 wwpnipwlwdnp wipwgdwl nnwliap 9L Inwlwgd 650 50 325
44831500/502 |nishsubip 9< Yhingpwd 1080 3 3.2
44921500/501 dhthwdwadhly' ghwuwht 9L Uhingpuwid 184 150 27.6
44921500/502 shthwdwéhly' ghwuwht 9L Yhingpwd 54.6 5100 278.5
44921500/509 shthwidwdhl' ghujuwihl 9< Uhngpwd 127.5 1050 133.9
44921500/510 dhihwiwahly’ ghuuwht q< Uhingpwd 162 150 24.3
09211631/501 hwlwlnnnghnt jninbip 9< lhingpwd 3 0.0
38621300/501 huybih' nhunnuwljuwt G huin 30 0.0
39351100/501 Ynyninhubiph dwppdwl uwppbip L hiuwn 1 0.0
39722400/505 w)| bbugwnuwihu wkuuhbwih dwubp 9L hwn 50 0.0
39722400/517 wj| Yhtigwnuht wbpuuhluh dwuabp QL hin 100 0.0
39722400/518 wj| Yeugunwih wbhuuhyuh dwubip G< hwn 100 0.0
39812500/501 opwdbilynips Wniplin GL hwn 10 0.0
42131490/501 uh$nu G< hwwn 200 0.0
44131100/501 Ynjninnt fugkip QL huwtn 5 0.0
44131100/502 Ynjninnt fughip 9L hwin 5 0.0
44161230/512 funnnuwlubiph wwpwgwbn 4L hwn 40 0.0
44161230/513 funnnuywliubiph wwpwgwbn < hwwn 40 0.0
44161230/514 funnnywljubph wwpwgwbn < hwn 50 0.0
44161230/515 funnndwiljubiph wwpwguubn q< hiuwn 15 0.0
44161230/516 funnnywlubph wwpwgwbp 9L hun 40 0.0
44161230/517 funnnywliubiph wwpwgwbp G hwun 50 0.0
44161230/518 funnnuuwiliubiph wwpwgwtbp 9L huin 40 0.0
44161230/519 funnnuwljubiph wwpwgwbn L hwn 15 0.0
44161230/520 funnnuwlubiph wwpwgwbp <L hwin 15 0.0
44161230/521 funnnuwlubph Wwpwgwubp QL hwn 15 0.0
44161230/522 funnnuubinh wwpwawtip L huwn 5 0.0
44161230/523 funnnyuwlubph wwpwguubp 9L hwitn 20 0.0
44161230/524 junnniuwliubph wwpwqulbp a< huwin 20 0.0
44161230/525 funnnyuiljubph wwpwguutp < hwwn 50 0.0
44161230/526 funnniwlubiph wwpwgwubp 9L hwin 20 0.0
44161230/527 funnniwlubph wwpwgwubp 9L hwn 20 0.0
44161230/528 funnnuwljubiph wwpwgutp G< hwin 15 0.0
44161230/529 funnnyuwlubph wwpwgwubip q< hwin 15 0.0
44161230/530 funnnyuwlubiph wwpwguwbp QL hwin 50 0.0
44161230/531 punnniwlbph wWwpwqubp q< huwin 50 0.0
44161230/532 funnniuwliubph wwpwgqwbp QL hwn 50 0.0
44161230/533 funnnyuwlubiph wwpwguwubp QL hwn 50 0.0
44163140/502 oph — aninpont funnnyuwljutin QL dbnp 80 0.0
44163140/503 9nh — gninpgnt funnnywlubin <L dtnp 80 0.0
44163140/504 oph — gninpgnt funnnywlubp QL dbnp 8 0.0
44163140/505 oph — gninpant funnnywlubip 9L Ubunp 8 0.0
44163140/506 onh — gninpgnt funnnwljubp 9L Utiinp 16 0.0
44163200/503 funnniwlbph dhwgdwy dwubp Qg huin 20 0.0
44163200/511 funnnyuiliubinh dhwgtiw dwubp q< huwtn 20 0.0
44163200/512 funnnuwliubiph dhwgdwl dwubp 9L huwn 30 0.0
44163200/513 funnnywlubph dhwgdwt dwubip G huin 30 0.0
44163200/514 funnnuiljubph dhwgdwl dwubp G huwn 20 0.0
44163200/515 funnnyuaiubph dhwgdwy dwubp acl huwin 15 0.0
44163200/516 funnniwtibiph dhwgdwy dwubip Gl huwwn 15 0.0
44163200/517 funnnyuwlubiph dhwgdwl dwubip YL hwin 15 0.0
44163200/518 funnnduwilubiph dhwguwl dwubp qc huwtn 15 0.0
44163200/519 funnnyuwlubiph dhwgdwl dwubp q< huwwn 20 0.0
44163200/520 funnniliubiph dhwgdwl dwukip QL huutn 20 0.0
44163200/521 funnnyuwljutiph dhwgdwl dwukip L hiun 20 0.0
44163200/522 funnnywlubiph dhwgdw dwubp L huwn 20 0.0
44163200/523 funnnyuwubiph dhwgdw dwubp ac huwin 20 0.0
44163200/524 funnnywliubph dhwgdwl dwubp Qg hwn 20 0.0
44163200/525 hunnnyuwiltibph dhwgudwl dwubp qc huwitn 10 0.0
44163200/526 funnnyuwlubiph dhwgdwl dwubp 9< huwin 10 0.0
44163200/527 funnnyuwiljubiph dhwgdwl dwukp < huwn 10 0.0
44163200/528 funnndwliubiph dhwguwl dwubp qc huwitn 10 0.0
44163200/529 funnnywlubiph dhwgdwl dwubip L huwtn 10 0.0
44163200/530 funnndwibph dhwguwl dwubp qc huwin 10 0.0
44163200/531 hunnnuwilutph dhwguwl dwubp G huwitn 10 0.0
44163200/532 funnnyuwilubiph dhwgdwu dwubp < huwin 10 0.0
44163200/533 funnniljubiph dhwgdwl dwubp L hiuwn 10 0.0
44163200/534 funnnuwliubinh dhwguwl dwubp qc huwtn 20 0.0
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44163200/535 funnnywljubph dpwgiwt dwubp GL hwn 20 0.0
44211610/509 wllyniibip QL huwin 10 0.0
44211610/510 wulyniutbp Q< hwin 10 0.0
44211610/511 wulyniibp < hwtn 10 0.0
44211610/512 wlynititibp 9L hwtn 10 0.0
44211610/513 wlyniibp q< hwin 10 0.0
44411100/502 Snpuwliubp q< huwitn 30 0.0
44411100/503 Snpwljubp 9< hwiwn 30 0.0
44411100/512 dnpwiljutip < hwwn 100 0.0
44411300/501 Ywgwpwltbp < hwtn 25 0.0
44411300/505 Jwgwpwiubp 9< hwin 20 0.0
44411500/507 thwljwt' gunws— 4L hwn 20 0.0
44411500/508 thwhjwl' gunws— 4L hwn 20 0.0
44411500/509 thwljw’ qunwa- ol huitn 20 0.0
44411500/510 thwlwt' gunuwa— GL huwin 20 0.0
44411500/511 ' qunwd- 9< huin 20 0.0
44411500/512 thwlwt' gunwa— < hwin 20 0.0
44411500/513 b’ glnwé- < huwin 20 0.0
44411500/542 it qunwd— G4 huwin 80 0.0
44411740/501 anigpwiiwlynup G< husn 25 0.0
44411742/501 gmiguipwbiwlntph dbluwuhqd G huitn 50 0.0
0.0
Ukgunwiht wkjthjw b wwpwquwikp
30211200/503 rynipwilhp hwdwlwpghsubip ' L huwwn 289998 10 2900.0
38311100/502 binpnuwht Ypbinplip — wwpwgwbp < hwn 16800 1 16.8
38311100/503 Ealunpnuuhl GobnpUbip — wuwnwqwlbp qc huwn 6950 5 34.8
39711140/502 bugunuiht uwnbwpwtitn ac huitn i '73 63360
39714210/501 onnpuiljhs, 9000 BTU 9 huitn 8 0.0
39714220/501 onnpuwlypy, 12000 BTU SL huwiwn 100000 8 800.0
5 0.0
39714220/502 onpnpuwilihs, 12000 BTU q< hunn 119900 5 5995
39717100/501 hnhwphsubip L hwitn 5000 10 50.0
0.0
Cwiwlwpgswyht uwppwynpnud
30211280/502 Lwidwlywpghs wdpnnep dblnud qL hun 325000 35 11375.0
30239110/501 Swhs pwquwnityghnwg q< huwtn 185000 3 555.0
30239110/502 Swhs 3-p dblnud 9L huwin 125000 20 2500.0
30239110/503 Sujhs thnpp 9 huwin 67000 10 670.0
30237411/501 Uyhuhy < hwn 1600 20 32.0
30211170/501 Uplpnunply q<c huwin 32000 2 64.0
32561600/501 Unwuginbp 9< huan 13000 50 650.0
32421300/501 Udlhs/8 port G< hwin 5000 10 50.0
32421300/506 Uyhs/5 port G< hwtn 4000 10 40.0
32421300/507 Uulhs/24 port QL hwun 40000 3 120.0
30231100/501 WIFI uwpp L hwiwn 7560 10 75.6
30232231/501 Qwiwlwpgswiht Ynoun ulwyuinwly L hwwn 27000 2 54.0
32421100/502 Swugwiht dwintju QL hwwn 25000.2 2 50.0
Utuynnuwjht wwpwquubp
39518100/502 Uwhunwlbnbup hwdwpwént aL hwwn 389 0.0
39141200/501 ubippuwlyh Gpbu 4L huwiwn 128 0.0
39511100/501 Owdlyng (wnbwy|, hwutn) a< huitn 65 0.0
39511100502 Cwdlyng (wnbiw), pupuwl) < huwin 54 0.0
39516122/501 Puwpd QL huwn 100 0.0
39511100/506 bpdwly (pupuwly) ¥ huin 70 0.0
39511100/507 bpduwly (dhept) o< hun 20 0.0
39511150/502 Lwdwinpuhl < huitn 173 0.0
39511130/511 Uwywt np nbnuihnfubynt hwdwp 9< huwin 70 0.0
39511130/514 Uwwu L husn 25 0.0
39514100/501 Upphs gudpngught G< huin 36 0.0
39514200/501 Upphs phih qc hwin 6 0.0
39514500/501 Gpbiuupphy < huwin 36 0.0
39514100/502 Upphs pdpulyu qc huwin 10 0.0
Utnilin
3200 0.0
15321200/504 fuinwgywd hjnya L [htnp 575 1600 10800
5280 0.0
15321200/505 hutnwgwd hjnye i thinp T3 2640 1966.8
1600 0.0
15821500/504 SHujwopwpihp Q< lig 7330 300 1144.0
1600 0.0
15842110/505 Yntbin, pninjunuiuwn 9< lg 3110 800 1688.0
Arinniam nifikih A ars thinn 8000 0.0
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AR RN R LT R ]

LRI e 175.2 500 87.6
wnpwiuynpuwht wypwbptbp b yynipbn
09132200/3 phught, nbigniwp EUS {hinp 490 3000 1470.0
09132200/1 phlght, nbignuyjup Ul thup 480 300 144.0
09135200/3 htnnily quq [xa) [hinp 150 1000 150.0
ounu3nkr@3nhuLubr

70311200/503 wnwpwdpttinh Juwpdwywnyzjwl dwnwniajniu qL npwd 17952000 1 17952.0
50311120/501 huiduwlungswihl uwnpnh wuhtjwliduwl = Yepuinpng il 9¢ A 1644300 1 1644.3

dwnwnupiniuubp
79211150/1 whninhtnpuwlwl Swnwnyaniuubp G npwd 1884000 1 1884.0
7163111041 uwnpbph unniguwl dwnwjnyniibbp uu npwd 426000 1 426.0
98111121/501 wunwlgnyawt wwwhnydwl dwnwjniysniiutp GL ) 2816666 1 2816.7
50421100/503 BRSO RN YA tRiBn g~ By 9¢ s 1572000 i 1572.0

Swnuwinyainiuibn
4822140011 hudwguitiguifits ben juvipusgnuiuil hunwliwngsught spwigmuh | - g nnwi 990000 i 990.0

thwptipubip
98111121/2 winuwgnipwl wwwhnydwl dwnwnyzyniubp Uu i 480000 1 480.0
50111180/1 wynndbpbuwutph (Ywgdwy — Udwuwnhuy Swnwjnipnitbp uu npwd 558000 1 558.0
50531230/501 e i o L R i ac R 408000 i 408.0

Anwnyaniiubp
71351540/1 inbfutihfwlwt hulnnnyejwl Swnwjnyniiibn uu i 300000 1 300.0
9811114011 hbinhuwlwht huynnnipjut dwnwjnipniutibp uu nnwd 100000 1 100.0
70311200/502 inwpwdptitiph Yuwpdwlwnyagwl dwnwjnipjniuubn 9L nnwd 17952000 1 17952.0
50731100/501 GRS SRR S DRR W MR q¢ sl 4600000 1 4600.0

dwnuiniz|niilibp

Uwhnyph bpwiinpngdwl Swnwynipniutiip
50851100/501 Ywhnyph Ybpwitnpnguwt — wwhwwbdwy dwnwjnyzjniuttip 9L huwin 38000 3 114.0
50851100/502 Lwhnyph Ybpwunpngiwt — wwhujwbdwl dwnwjnyepniutip L hwin 30000 3 90.0
50851100/503 Lwhnyph Ybpwunpngdwt — wwhujwdwl dwnwjnyagniutbp < hwwn 72000 1 72.0
50851100/504 Ywhnyph dbpwinpngiwl — wwhuwwbdwl dwnuwniagniubn 9L hwin 59400 5 297.0
50851100/505 Ywhnyph depwunpngiwl — wwhwwbdwl dwnwjnisiniiubp 9 hwin 31923 39 1245.0
50851100/506 Ywhnyph Yopwinpngiwt — wwhuwbdwl dwnuygnigniuttbn e 1< hwwn 73800 & 369.0
50851100/507 Ywhnyph Yepwunpnguiwl — wwhwywbidw Swawjnygniiubp 9L hwtn 66600 15 999.0
50851100/508 lwhnyph Yepwinpnguwl — wwhwwidwl swnwjnynitbp Q< hwn 72000 1 72.0
Swywgpwlwl Swnwjnipyniu 1
79821180/950 nwywgpulwl — pugfudwl dSwnwininiitibn L npuwid 39600 1 39.6
79821180/951 nwwgpwlwl — pugfudwy dSwnwjnuyniibn L npwd 12600 1 12.6
79821180/952 nwyuwgpuljwl — pwgfudw dSwnwinyeniiubn QL npwd 164000 1 164.0
79821180/954 nwwgpulwl — pugfudwl dwnwnyegniibn QL npuwid 164000 1 164.0
79821180/955 inwwgpulwl — pustudwy dwnwjnypniittn Q<L npwd 10200 1 10.2
79821180/956 uwgnulwy — pwgtudw Swnwjnyeniiubip 4L npd 24750 1 24.8
79821180/957 inwywgpulwl — pugfudwt dwnwjnyemiiubn Q< o 19800 1 19.8
79821180/958 nywgpuljwl = pwstudwl dwnwnysniiubp QL ) 33000 1 33.0
79821180/959 iiywgpulut — pwgtudwt Swnwnipnitbp G< nnwyd 19560 1 19.6
79821180/960 unywgpwljwl — pusfudw dwnwjniypniitbn Q< o 29340 1 29.3
79821180/961 nuwigpwlut — pugpudwl Swnwgnyzjniibp Q< L 39600 1 39.6
79821180/962 wywgnwljwl — pugfudwl dwnwnysntiubip G< npwd 39600 1 39.6
79821180/963 nywigpljut — pugiudwl Swnuwynyajmutibp GL npwd 19800 1 19.8
79821180/964 nywgplut — pwaiudwl dwnwynygniutibp QL npwyd 41000 1 41.0
79821180/965 nywgnwlywl — pusudwy dwnuwnygniibp 4L npwd 19800 1 19.8
79821180/966 nwywgpulwl — pugfudwl Swnw)nipniiubn < npwyd 39600 1 39.6
79821180/967 nywgnwlwt = pwsfudwl dwnwnueiniitbip L npwd 19800 1 19.8
79821180/968 tnwywgpuiljutn = pughudwt dwnwniyeniutbp L npwyd 42000 1 42.0
79821180/969 gt — pwudwl Swnwniyajniutip 9L rpud 39600 1 39.6
79821180/970 nwwignulwl — pusbudwl dwnwnyeniiibp 9L rpuud 79200 1 79.2
79821180/971 wnwwgnuljwl — pugludwl dwnwnipniiubp 4L npwyd 13120 1 13.1
79821180/972 wnujwgpulut — puzhudwt dwnwnyaniittip Q<L npwd 8200 1 8.2
79821180/973 nywgpulwl — pusfudwl dwnwjnyaniuutin QL il 63360 1 63.4
79821180/974 inwywgpuljwl — pugfudwl dSwnwinyeniiutin G npwyd 1140 1 1.1
79821180/975 unywgpuljwl — puigfudwy Swnwjnypymiubn a< npuud 2550 1 2.6
79821180/976 nywgpuwljwl — pwstudwl dwnwjniajniubin G4 npwd 1700 R 1.7
79821180/977 nwwigpuwljwt — pwstudwl dwnwjnysjniiubip QL rpwd 1500 1 1.5
79821180/978 nujwigpuljwt — pwsfudwl dwnwjnip)nitutp QL rpud 57400 1 57.4
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79821180/979 unywgpwljwt = pugtudwt Swnwjnipniititp 9< npd 3400 1 3.4
79821180/980 nwwgpuljwl — pusbudwl Swnwjniyzjniubp QL npwd 5040 1 5.0
79821180/981 wnwywgnuwlwl — pugiudwl dwnwjnipnliltp L npwid 2550 1 2.6
79821180/982 unwwgpwljwt — puwstudwt Swnwnipniibp 9L npwd 99000 1 99.0
79821180/983 uywgpuljwt — pwgfudwt Swnwjnupniutbp GL ) 19560 1 19.6
79821180/984 nywgpulwl — pwohudwl dwnwnipniutbip < npwd 9840 1 9.8
79821180/985 wnugpuiljwl ~ puwsfudwl Sdwnwjnipnitiibp 9L npwd 39600 1 39.6
79821180/987 nywgpulwl — pwotudwl dwnwjnysniiubp QL npwy 358800 1 358.8
79821180/988 wiwgpulul — pugfuldwt Swnwnipniittip QL i 3800 1 3.8
79821180/989 nwwignuwlw — puwstudwl dwnwjniyzniuubip QL npwd 198000 1 198.0
79821180/990 uywgnwlwt — pwstudwt dwnwnipniibp G npwd 198000 1 198.0
79821180/991 inupgpwlwl — pughudwl dwnwjnipntitiip QL npuud 99000 1 99.0
79821180/994 wiwgnuluwi — pwsfudwl dwnw)jnipniulbin Q< npwd 1296 1 1.3
79821180/998 nwwgnulwu — pwsfudw dwnw)nipyniuttip QL npwdd 39600 1 39.6
79821180/999 nwgpulwi — pugpudwi dwnwnyggniuibin 9L npwd 39600 1 39.6
Swwqgpuiljwt Dwnw)nipnil 2
79821180/1000 gl — pusfudw dwnwjnipiniutibp 9L npwyd 43020 1 43.0
79821180/1001 wnwwgpuuliut — pwsfudwl Swnunysgniutitp QL npwd 28,800 1 28.8
79821180/1002 nuwgpuliut - pwzludwi Swnwjnyeniitanp L npwd 6,300 1 6.3
798211801003 nwywgpwliwl — pwshudwl dwnuwnuyajniulibp < npuwd 1200000 1 1200.0
79821180/1004 nuuigplut — pwzpudwl dwnwynipniitbn <L il 35940 1 35.9
79821180/1005 unwwignulut — pwpudwls dwnwnyejniitbip GL npwd 35940 1 35.9
79821180/1006 nwwigpuilwl — pugludwl dwnwnieniiubp G< npwid 4,200 1 4.2
79821180/1007 unywgpwiljwt — pwatudwt dwnwnyagniutbp < npuwd 4,400 1 4.4
7982118011008 unuwgpuliw — puzudwt Swnwgnyesniilbp 4L npwd 8,700 1 8.7
79821180/1009 nywigpuiliwl — pughulul dwnwynipniiubp QL npwd 4,350 1 4.4
7982118041010 wnwgpuljut — pustudwt Swnwnupniiubp QL npwyd 116,000 1 116.0
7882118041011 inywgnulwl — pugfudwl dwnwinyeniittin QL npwd 15,000 1 15.0
79821180/1012 inujgpuiljwt — pugfudul dwnwjnip)niutbp 9L npwd 13,200 1 13.2
79821180/1013 inywgpuwljwl — pugfudwy dSwnwnysniitibn L npwd 80280 1 80.3
79821180/1014 nwuwagpwhwl — pugfudwl dwnwjnyniittip 9L npwd 15,400 1 15.4
7982118041015 nwuwgpubwl — pugfudwt dwnuwyniejniibp L npwd 29,000 1 29.0
79821180/1016 uywigpuilwt = pughudwl dwinw)nipiniibip < il 14,900 1 14.9
79821180/1017 nujugpuwjut — puphudwl dwnwynyajniitibip 9L npwd 88,000 1 88.0
7982180/1018 gt — pwopudwl Swnuynieniuttip g nnwd 282960 1 283.0
79821180/1019 wwwigpwiljuill — pwpputwl dwnwnipjniitbp GL npwid 300000 1 300.0
79821180/1020 nwwigpulut — pwaudwl dwnwnyzjniitbip QL npwd 300000 1 300.0
79821180/1021 wyuwgpuljut = puwotudwl dwnuwynipniittip QL npwdd 1,900 1 1.9
7982118001022 inywgnpulwl — pwztudwt dwnwjnysnitbn G< i 9,600 1 9.6
79821180/1023 nywgpwyw — pusfudut dwnwnyesgniiibin QL npwid 300000 1 300.0
79821180/1024 wywigpuljut = puwgtudwt dwnwynipjniiubip 9L npwd 4,800 1 4.8
7982118011025 nwywgpulwl — pugfudwl dwnwjnysjniitbn GL npwyd 44160 1 44.2
7982118011026 uiywgpwljwl — puwgfudw dwnwnipjniiubp G nnwyd 22,800 1 22.8
79821180/1027 unyuwgpuljut — pusfudwt Swnwnipniiibip QL il 300000 1 300.0
79821180/1028 wnywagnwlwt — pugfudwl Swnwjnypnitubp G npwd 1 0.0
7982118011029 unyuwgpulwy = pwgfudwl dwawjnipniiubip 9L rpwyd 323400 1 323.4
79821180/1030 unyugpuljw = pugtudwt dwnwjnyeniutbip q<L npwd 1 0.0
79821180/1031 nyuwgpuwl — pwgfudwl dwnwinypniiutin QL npwid 1 0.0
79821180/1032 nywgpulwl — pwzbudwl dwnwinyeniiubn QL rpwid 1 0.0
79821180/1033 unywgpuluw = pugtudwt dwnwjnipniiubip L npwd 1 0.0
79821180/1034 inwuwgpuljwit — pugfudwy dwnwjnygniittbp L npwd 1 0.0
79821180/1035 nwgpwlwi — pwgfudwi Swnwjnpyniuttip QL npwd 1 0.0
79821180/1036 nwwgpwlwt — pugfudwy dSwnwnysniitibin QL npwd 1 0.0
79821180/1037 uugnulwi — pusfudwy dwnw)nipiniitip Q< npwd 1 0.0
79821180/1038 inwjuwgpuljwt — puwsfudwt dwnwjnipjniulbn QL npwid 1 0.0
79821180/1039 inyuwgpuiwl — pugfudwy dwnwjnysniitbp QL npwd 1 0.0
79821180/1040 nywgpuiliut — pwzfudwu dwnwnyamiibip QL npwd 1 0.0
7982118011041 wwwgpwlwl — pwzhudwl dwnwjniajniulbp 9L wd 1 0.0
79821180/1042 wwghwliut — pwshudwl dwnwnyaniilbip 9< npuid 1200000 1 1200.0
79821180/1043 wwywgpuiljwl — pwzudwl dwnwnisjniutbip 9< npud 1200000 1 1200.0
79821180/1044 nwwgpuljut — pwpudwl dwnwniyamtiubp < nnwid 22200 1 22.2
79821180/1045 wwwgpuiljwl — pugpudwl dwnwynipjniuttip QL il 67080 1 67.1
79821180/1046 wwywgpwiliut — pwatudw dwnwnuainiitbp QL npwd 22200 1 22.2
79821180/1047 wnwwgpwiliut — pwspudwt dwnwnuaniitibtip GL i 114,000 1 114.0
79821180/1048 nwwgnwljwt — pwopudwt dwnwniagniuiubip GL npwd 132,000 1 132.0
79821180/1049 gt — puziudwl Swnwgniyaniuubp q< npwd 33,000 1 33.0
Sywgpwlwl wwypwptbp 3

22451240/501 pluly a< hwwn 2.33 50000 116.4
22451240/502 pluaily 9< hun 2.45 10000 24.5
22451240/504 Py G huwin 5.78 15000 101.7
22451240/505 pluuly Q< huwiwn 2.44 12000 29.2
22451240/506 pruuly L hwin 2.50 2000 5.0
22451240/507 pluby YL huin 2.50 2000 5.0
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22451240/508 prully 9< hwn 2.33 20000 46.6
22451240/509 pluily GL huwin 2.20 5000 11.0
22451240/512 pLul ac huitn 2.40 2000 4.8
22451240/513 pluy o< huwin 2.47 8000 19.8
22451240/514 pluly 4L hwiwn 2.30 5000 11.5
22451240/515 plwuy L hwwn 2.30 4000 9.2
22451240/516 pluutily G hwin 2.30 5000 11.5
22451240/517 pluul 4L hwwn 2.30 2000 4.6
22451240/520 pluly S< hww 2.48 8000 19.8
22451240/521 puuly GL hwwn 2,48 10000 24.8
22451240/524 plully QL hwin 3.47 20000 69.4
22451240/525 pluuy < hwn 1.04 40000 41.5
22451240/526 pluy Q< hwwn 2,39 13000 31.0
22451240/527 ppuitily 9< huwn 2.20 5000 11.0
22451240/528 pluly 9< huwn 2.38 20000 47.5
22451240/530 plwtily < hwwn 2.10 10000 21.0
22451240/531 Pl QL huwwn 1.90 20000 38.0
22451240/533 piwlily 9< huwtn 2.04 50000 102.0
22451240/534 plly L huwin 1.50 15000 22.5
22451240/535 plutily < hwun 1.55 50000 77.4
22451240/536 pluy S< huiwn 1.55 40000 61.9
22451240/537 plwuy QL huwn 1.91 25000 47.7
22451240/538 pluuy SL hwiwn 85.0 1000 85.0
22451240/512 Pl o< hwin 250 1000 2.5
22451240/543 puilily 4< huwn 2.30 4000 9.2
224512407544 pLutil ac huiun 2.30 2000 46
22451240/545 pluuly QL huwin 2,30 2000 4.6
22451240/546 Pl q<c huin 1.90 38000 722
22451240/547 pyul qc huin 1.90 20000 38.0
22451240/548 pluuly < humn 2.50 1000 2.5
22451240/549 plul q< hww 4.8 5000 20.9
22451240/554 Pl ac hwwn 2.20 2000 4.4
22451240/556 pluly 9 huin 2.20 2500 5.5
22451240/558 S q< huwin 2.46 10000 24.6
22451240/559 plwuy QL hwin 220.0 600 132.0
22451240/560 plutily a< hwin 210 5000 10.5
22451240/567 pwly 9L huwin 2.46 11000 27.1
22451240/568 pjwlly 9 huwtn 2.38 20000 475
Swywgpwlwu wwypwupubp 4
22111200/501 inwwgpywd wy gppbp G< hwn 3 0.0
22111200/502 inwuwgpywd wy| gppbp G<L hwin 3 0.0
22111200/503 wwwignywd wy) gppbip G huwin 10 0.0
22111200/504 nwwgpywéd wij gpphip L hwn 1 0.0
22111200/505 nywagnyuwd wy gppbip L hiuwn 50 0.0
22111200/506 nwwgnpywé wy gppbp 9L huin 10 0.0
22111200/507 nwwgplwé wy gpphp QL hwn 5 0.0
22111200/508 nwuwgpywd wyp gppbp L huwwn 20 0.0
22111200/509 nwwgpyuwsd wy gpphip Q< hwin 10 0.0
22111200/510 nwjugpywd w)) gppbip QL huin 15 0.0
22111200/511 inuygnywd wy gppbn L hwwn 8 0.0
22111200/512 tyuignywé wy gppkip QL huan 2 0.0
22111200/513 nwuwgpywéd wi gpphip QL hwin 10 0.0
22111200/514 inwuwgnywd wi gppbp GL huwn 100 0.0
22111200/515 wnuwgnywé wy| gppbip Q< huwn 100 0.0
22111200/516 nwwgnpywsd w)) gppbip qL hun 20 0.0
22111200/517 nwwgpyws wy| gppbip 9L huun 10 0.0
22111200/518 nwuwgpywd wy gppbp Q< hiuwn 60 0.0
22111200/519 wnwgnywd wy| gpplip L huin 120 0.0
22111200/520 nwuwgpywd wy gppbp b hiuwn 12 0.0
22111200/521 wnwwgpyws wy| gppbip 9L hiutn 5 0.0
22111200/522 nwwgpwsd wiy gpphip 9L hwin 10 0.0
22111200/523 nwuwignlwd wy gpphip 9L hutn 7 0.0
22111200/524 tnwuwgpyuwd wy gpphp QL huwin 2 0.0
22111200/525 nwwgnyuwd wi gnptin QL hun 2 0.0
22111200/526 unygpywd wy) gppbip g hwwn 3 0.0
22111200/527 nwwigpywd w)) gpphip aL hwwn 4 0.0
22111200/528 wnwwignpduwd wyp apphbp 9L hwin 4 0.0
22111200/529 nwjwignuuwd wy gppbp QL hwn 4 0.0
2211200/530 wnjwgpduwd wy appbp G hwn 2 0.0
22111200/531 nwwigpwd w)) gpehbp < hwwn 2 0.0
22111200/532 unujgpyuwd wy gppbip 9L hwin 14 0.0
22111200/533 nwyignywé wy gppbip QL hwwn 60 0.0
22111200/534 wnuyugnywé wy gppbin q< hwn 180 0.0
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22111200/535 unywignywd wyl gppbip QL hwin 120 0.0
22111200/536 nwjwgpuwd wy gppbip 9< hwn 120 0.0
22111200/537 nwwgnyuwd wy gppbip GL hwwn 40 0.0
22111200/538 nwwgpywd w)| gppbp &< hwn 35 0.0
22111200/539 nwjwgndwd wy)) gpphip QL hwn 20 0.0
22111200/540 wnwwgnywd wy appbip Q< hwn 150 0.0
22111200/541 nwwgnuwd wy gppbip QL huwin 40 0.0
22111200/542 wwywgnuwd wy gppbip < hwwn 10 0.0
22111200/543 wnwjwgplwéd wy gppbip 9L hwun 15 0.0
22111200/544 nuwignywd wy gpphin gL hwwn 15 0.0
22111200/545 uywgpywd wy gppbip 9L hwwn 10 0.0
22111200/546 inwwgnpywéd wi gppbin 4< hwin 5 0.0
22111200/547 nwwgpywd w)) gppbip QL hwn 10 0.0
30197236/501 prRrwwwiwl wwinynghp QL hwwn 2000 0.0
22451240/570 pruulubin hwdwdwjwghp < hwiwn 2000 0.0
22451240/571 plutilubp nbqwwnndu QL hwin 5000 0.0
30192151/501 liupp, wywnndwn, ninnwulyniu 4L huwin 9 0.0
Ufuwwnwlptibp
45461100/501 abuptiph, shunteyniiibiph pupwghly Unpnguiwl waiwnwuptbp QL i 11830140 1 11830.1
453311111 onuwthnfudwt uwppbiph wbnunpdwl wauwnwiptbp uu npwd 990000 1 990.0
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